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BIE 3
XML 2B A R & 2 (ERESIREHERE)

{Mxml version="1.0" encoding="UTF-8"7
<MCCI_IN200100UV01 ITSVersion="X¥ML_l.0" xsi:schemalLocation="urn:hl7-org:v3 MCCI_IN200106UVOL. xsd” xmlns="urn:hl7-org:vi”
xnlns:xsi="http://www. w3. org/2001/XMLSchema=instance >
{id extension="N, 1.2 root="2, 16, 840, 1. 113883, 3,989, 2. 1.3. 22" />
<l-- N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
<|— N.1,5: Date of Batch Transmission —>
{responselodeCode code="D"/>
{interactionld extension="MCCI_INZ00100UVO1* root" 2. 16.840. 1.113883. 1. 6/>
<name code="N.1.1” codeSystem="2. 16. 840, 1, 113883. 3. 989, 2. 1. }. 1" codeSystemVersion="1.01"/>
{!—— N.1.1: Type of Messages in Batch —>
¢l=-= Message #1 -=>
<PORR_IN049016UV>
<id extension="N.2.r.1" root="2. 16.840.1.113883.3.989.2.1.3.17/>
¢l== N.2.r.1: Message Identifier -->
{creationTime value="20101214151617"/>
{I— N.2.r.4: Date of Message Creation —>
{interactionid extension="PORR_IN049016UV" root="2. 16.840. 1. 113883. 1.6"/>
{processingCode code="P"/>
{processinglodeCode code="T1"/>
{acceptAckCode code="AL"/>
{receiver typeCode="RCV">
{device classCode="DEV” determinexCode="INSTANCE™>
¢id extension="N.2.r.3" root="2.16. 840.1. 113883.3.989.2.1.3.12"/>
¢]— N.2.r.3: Message Receiver Identifier —>
{/device>
{/receiver?
{sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.2.r 2" root="2.16. 840. 1. 113883.3.989. 2. 1. 3. 11"/>
¢]— N.2.r.2: Mossage Sender Identifier —>
</device>
</sender>
{controlActProcess classCode="CACT™ moodCode="EVN™>
{code code="PORR_TE049016UV" codeSysten="2, 16, 840. 1. 113883. 1. 18"/>
<l— HLT Trigger Event ID —>
<effectiveTime value="20101214151617"/>
¢l— C.1.2: Date of Creation —=>
<subject typeCode="SUB]™>
{investigationBvent classCode="INVSTG™ moodCode="EVN">
<id extension="C.1.1" root="2.16.840.1.113883.3.989.2.1.3.1"/>
¢l=—- C.1.1: Sender’s (case) Safety Report Unique Identifier —)
<id extension="C. 1.8. 1" root="2.16. 840. 1. 113883. 3. 989.2.1.3.2" />
¢!— C.1.8.1: Worldwide Unique Case Identification Number —>
<id extension="J2.1b" root="2. 16.840.1.113883.3.989.5.1.3.2.3. 1" />
<l-- g@gJz. 1b: MAFE (FE) -
<code code="PAT_ADV_EVNT" codeSystem="2. 16. 840, 1. 113883.5.4"/>
<{text>H. 1<{/text>
<!— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Dutcome and Additional Relevant
Information —>
{statusCode code="active”/>
<l— 888J2.7.1 T. RETEH —
{effectiveTime>
<low value="20090101"/>
¢l— C.1.4: Date Report Was First Received from Source -—>
{/effectiveTime>
<availabilityTime value="20050101"/>
¢l-- C.1.5: Date of Most Recent Information for This Report -—>
{reference typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
<code code="1" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 27" codeSystenVersion="1.0"



displayName="documentsHeldBySender”/>
<titledC. 1.6, L xr. 1</title>
¢!— C.L.6.1.r. 1: Documents Held by Sender (repeat as necessary) #1 —>
{text mediaType="application/pdf” representation="B64">C, l. 6. l.r. 2{/text>
¢1— C.1.8.1.r.2: Included Documents ¥1 —>
{/document>
{/reference»
<reference typeCode="REFR™>
<document classCode="DOC" moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 27" codeSystemVersion="1. 0"
displayName="documentsHeldBySender”/>
{itlerC 18 L on I/titlel ’
¢|— C.1,8,1.1. 1: Documents Held by Sender (repeat as necessary) #2 —>
{text mediaType="image/jpeg” representation="B64" compression="DF">C.L.6. L. r.2<{/text>
{l== €.1.6.1.x.2: Included Documents §2 —>
{/document>
{/reference>

{reference typeCode="REFR >
<document classCode="D0C" moodCode="EVN">
¢code code="2" codeSystem="2.16. 840. 1. 113883. 3. 889. 2. 1. 1. 27" codeSystemVersion="1, 0"
displayName="1literatureRefsrence”/>
{title>]J2, 17. r<{/title>
¢l 8@aJ2. 17.r BB/ HRAOCHE #1 —>
{text mediaType="application/pdf” representation="B64">C.4.r.2</text>
{l— €.4.1.2: Included Documents #1 —>
{bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
¢~ C.4.1.1: Literature Reference(s) #1 —>
{participation typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG" determinerCode="INSTANCE™>
{asLocatedEntity c¢lassCode="LOCE™>
{location classCode="COUNIRY” determinerCode="INSTANCE">
<code code=")2.15.r" codeSystem="1. 0. 3166.1.2.2"/>
¢1-- @@ajz. 15.r £4FxE #1 —
</location>
{/asLocatedEntity>
{/represented0rganization>
{/assignedEntity>
{/participation>
{/document>
{/reference>
{reference typeCode="REFR™>
{document classCode="DOC" moodCode="EVN">
{code code="2" codeSystew="2. 16,840, 1, 113883, 3,989, 2, 1, 1, 27" codeSystemVersion="1. ("
displayName="1literatureReference”/>
{titledJ2. 17. p</titlel
<1-~ 88812, 17.r B /PR 05| 2 —>
<text mediaType="application/pdf” representation="B647>C. 4. r.2<{/text>
¢|— C.4.r.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1{/bibliographicDesignationText>
{I— C.4.r.1: Literature Reference(s} #2 —>
{participation typeCode="AUT™>
¢assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY™ determinerCode="INSTANCE">
{code code="J2.15.r" codeSystem="1.0.3166.1.2.2"/>
{1 §@@J2.15.r AFE #2 —>
¢/location>
{/asLocatedEntity>
{/representedlrganization>
</assignedEntity>
{/participation>
</decument>
{/reference>
<component typeCode="COMP™>
<adverseEventAssessment classCode="INVSTG”™ moodCode="EVN">
{subjectl typeCode="SBJ">
{primaryRole classCode="INVSB]">



{playerl classCode="PSN" determinerCode="INSTANCE">
<name>l). 1{/name> :
<!— D, 1: Patient (name or initials) —>
<administrativeGenderCode code="D. 5" codeSystem="1.0.5218"/>
<|-- D.5 Sex —>
¢birthTime value="20080101"/>
<!——D.2.1: Date of Birth —>
{deceasedTime value="20090101"/>
<]— D.8.1: Date of Death —>
<asIdentifiedEntity classCode="IDENT">
{id extension="D.1.1.1" root="2. 16.840.1. 113883.3.989.2.1.3.7°/>
¢!-= D. L 1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (GP Medical
Record Number) —>
<cods code="1" codeSystem="2. 16. §40. 1. 113883.3.989.2.1. 1, 4" codeSystemVersion="1,90"
displayName="GP"/>
</asldentifiedEntity>
<asldentifiedEntity classCode="IDENT">
<id extension="D. 1.1 2" root="2. 16,840, 1, 113883, 3.989.2. 1, 3.8" ">
<!— D. 1, 1.2: Patient Medical Record Number(s) and Scurce(s) of the Record Number (Specialist
Record Number) ——>
{code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2.1, 1. 4" codeSystemVersion="1.0"
displayName="Specialist™/>
{/asldentifiedEntity>
CasIdentifiedBntity classCode="IDENT">
<id extension="D. 1.1 3" root="2.16, 840, 1. 113883.3.989.2.1.3.9"/>
<!—— D.1.1.3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record
Number) —>
<code code="3" codeSystem="2. 16, 840, 1, 113883. 3,989, 2.1, 1. 4" codeSystemVersion="1. 0"
displayName="Hospital Record”/>
{/asIdentifiedEntity>
{asIdentifiedEntity classCode="1DENT™>
<id extension="D, 1, 1,.4" root="2, 16. 840. 1. 113883. 3. 989. 2. 1. 3. 10" />
<!— D. 1. 1.4 Patient Medical Record Number(s) and Source(s) of the Record Number (Investigation
Number) —>
<code code="4" codeSystem="2. 16, 840, 1. 113883. 3.989.2.1. 1.4" codeSystemVersion="1.0"
displayName="Investigation”/>
{/asldentifiedEntity>
<role classCode="PRS™>
<code code="PRN" codeSystem="2. 16. 840. 1. 113883, 5. 111"/>
{asseciatedPerson classCode="PSN" determinerCode="INSTANCE">
<name>D. 10. 1{/name>
<!— D.10.1: Parent Identification —>
{administrativeGenderCode code="D. 10.6" codeSystem="1.0.52187/>
<l-=D.10.6: Sex of Parent —>
<birthTime value="200901017/>
¢1— D.10.2.1: Date of Birth of Parent -=>
{/associatedPerson> ‘
{subject0f2 typeCode="SB]">
<observation classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16.840. 1. 113883, 3.989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="age”/>
{value xsi:type="PQ" value="10" unit="D. 10.2.2b"/>
<!—-D.10,2. 2a: Age of Parent (number) —->
<!— D.10.2.2b: Age of Parent (unit) -->
{/observation>
{/subject0f2>
<subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
{code code="22" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="1astMenstrualPeriodDate”/>
<value xsi:type="TS" value="20090101"/>
<I-- D.10.3: Last Menstrual Period Date of Parent —>
{/observation> :
</subject0f2>
{subject0f2 typeLode="SB]">
<observation ¢lassCode="0BS” moodCode="EVN™> .
<code code="7" codeSystem="2. 16.840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="hodyWeight”/>
{value xsi:type="PQ” value="50" unit="kg"/>



<{1— D. 10, 4: Body Weight (kg) of Parent —>
</observation>
{/subject0f2>
{subject0f2 typeCode="SBJ">
Cobservation classCode="0BS" moodCode="EVN™>
{code code="17" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="height”/>
<value xsi:itype="PR" value="160" unit="cm"/>
<l-- D.10.5: Height (cm) of Parent -=>
</observation>
{/subject0f2>
{suk jectOf2 typoCodo="SBI">
<organizer classCode="CATEGORY" moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 20" codeSystemVersion="1.0"
displayName="relevantMedicallistoryAndConcurrentConditions”/>
{companent typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN™>

{code code= D 10. 7. L. r.Ib" codeSystem="Z. 16. 840, 1. T13883, 6. 163
codeSystemVersion="D, 10. 7. L.r. 1a” />
¢l==D.10.7.1,r. la: MedDRA Version for Medical History #1 —>
<!|— D.10.7.1.r.1b: Medical History {(disease / surgical procedure/ etc.) {MedDRA code) #1 -
->
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢]— D.10.7 1.1.2: Start Pate #1 ——>
<high value="20090101"/>
¢1— B.10.7.1.1.4: End Date #1 —>
{/effectiveTime>
<outboundRelationship2 typeCode="COMP™)>
{observation classCode="0BS" mocdCade="EVN™>
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1" -
displayName="comment” />
{value xsi:type="ED">D. 10.7. 1.r.5</value>
¢l— D.10.7.1.r.5: Comments #1 —>
{/observation>
{/outboundRelationship2>
{inboundRelationship typeCode="REFR™>
{observation classCode="0BS”™ moodCode="EVN">
¢code code="13" codeSystem="2. 16. 840. k. 113883. 3.989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/>
<value xsi:type="BL" value="true"/>
<!— D.10.7.1.x. 3: Continuing #1 —>
{/chservation>
¢/inboundRelationship>
{/observation>
{/component>
{component typeCode="COMP™>
{observation ¢lassCode="0BS" moodCode="EVN™>
<code code="D.10.7.1.r.1b" codeSystem="2. 16. 840, 1. 113883, 6. 163"
codeSystemVersion="D. 10.7. L. r. 1a"/>
¢I— D.10.7. 1. 1. la: MedDRA Version for Medical History #2 —>
<!— D.10.7.1. 1. 1b: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #2 -
_.> .
{effectiveTime xsi:type="IVL_TS">
<low value="20080101"/>
<l—D.10.7.1.r. 2: Start Date #2 —>
<high value="200901017/>
¢l=- D.10.7.1.r.4: End Date #2 -->
{/effectiveTime>
{outboundRelationship2 typeCode="COMP™>
<observation classCode="0BS™ moodCode="EVN">
{code code="10" codeSystem="2. 16. 840, 1, 113883, 3.989, 2, 1, 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">D.10.7. 1,1, 5¢/value>
<= D.10.7.1.x.5: Comments #2 ——>
{/abservation>
<{/outboundRelationship2>
<inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">



) {code code="13" codeSystem="2, 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/> ‘
<value xsi:type="BL" value="true”/>
¢l=-1.10.7.1.x. 3: Continuing #2 —>
</observation>
{/inboundRelationship>
{/observation®
<{/component}
{component typeCode="COMP™>
{observation classCode="0BS" maodCode="EVN">
{code code="]18" codeSystem="2, 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="historyAndConcurrentConditionText”/>
<value xsi:type="ED">D. 10.7. 2¢/value>
¢!== D.10.7.2: Text for Relevant Medical History and Concurrent Conditions of Parent —)
{/observation>
{/component>
{/organizer>
{/subject0f2>
{subject0f2 typeCode="SB]">
{organizer classCode="CATEGORY" moodCode="EVN™>
{eode code="2" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 20" codeSystemVersion="1.0"
displayName="drugHistory”/> .
{component typeCode="COMP">
{substanceAdministration ¢lassCode="SBADM” moodCode="EVN">
{effectiveTime xsi:type="IVL_TS">
{low value="20090101"/>
<!— D.10.8.r. 4: Start Date #1 —>
<high value="20090101"/>
¢!— D.10.8.r.5: End Date #1 -->
{/effectiveTime>
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND"> )
<code code="D, 10.8.r.2b" codeSystem="TBD-MPID" codeSystemVersion="D. 10.8.r. 2a"/>
¢!— D.10.8.r.2a: MPID Version Date / Number #1 —>
<l==D.10.8.r. 2b: Medicinal Product Identifier (MPID) #1 —>
<nane>D. 10. 8, r, 1{/name>
<{l—D.10.8.r.1: Name of Drug as Reported £1 -->
</kind0fProduct> ;
</instance0fKind>
</consumable>
{outboundRelationship2 typeCode="RSON">
<observation classCode="0BS" moodCode="EVN™>
<code code="19" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="indication”/>
<value xsi:type="CE” code="D. 10.8.r.6b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 62" />
¢l-——D.10.8.r.6a: MedDR4 Versien for Indicatien #1 —>
<l— D, 10.8.x,6b: Indication (MedDRA code} #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
{observation classCode="0BS" moodCode="EVN">
{code code="29" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="reaction”/>
{value xsi:type="CE” code="D.10.8.r, 7b" codeSysten="2. 16, 840, 1. 113883. 6. 163~
codeSystemVersion="D. 10, 8,r. 72a"/>
<]— D.10.8.1.7a: MedDRA Version for Reaction #1 —>
‘¢1— D. 10. 8. x. 7b: Reactions (MedDRA code) #1 —>
</observation>
</outboundRelationship2>
{/substanceAdministration>
{/component?
{component typeCode="COMP™>
{substanceAdministration classCede="SBADM” moodCode="EVN">
<effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
<!— D.10.8.r.4: Start Date #2 —>
<high value="20090101"/>



¢l— D.10.8.r.5: End Date #2 —>
{/effectiveTime>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST™>
<kind0fProduct classCode="MMAT™ determinerCode="KIND">
{code code="D.10.8.r.3b" codeSystem="TBD-PhPID" codeSystemVersion="D. 10.8.r. 3a"/>
<|=—D.10.8.r.3a: PhPID Version Date / Number #2 -->
¢l-- D.10.8.r. 3b: Pharmaceutical Product Identifier (PhPID} #2 -->
<name>D. 10. 8. r. 1{/name>
¢l— D.10.8.r.1: Name of Drug as Reported #2 —>
{/kind0fProduct>
\; LuStEﬁCEuu\lﬁd/
</consumable>
<outboundRelationship2 typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
{code code="18" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="indication”/>

<vafue xsi:type="CE~ code="D.10.8.T.6b" codeSystem= 2. 16.840. 1. 113883.6.163"
codeSystemVersion="D. 10. 8. 1, 62" />
¢l== D, 10.8.r.6a: HedDRA Version for Indication #2 —>
¢!— D.10.8.r.6b: Indication (MedDRA code) #2 -->
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="CAUS">
{observation ¢lassCode="0BS" moodCode="EVN™>
<code code="29" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2, 1. 1, 19" codeSystemVersion="1.1"
displayName="reaction”/> '
<value xsiitype="CE” code="D. 10.8.1.7b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. Ta"/>
<l==D.10.8.r.7a: MedDRA Version for Reaction #2 —>
<|-— D.10.8.7. Tb: Reactions (MedDRA code} #2 —>
</observation>
¢/outboundRelationship2>
{/substanceAdministration?
{/component>
{/organizer>
{/subject0f2>
{/role>
</playerl>
<subjectOfl typeCode="SBJ™>
{researchStudy classCode="CLNIRL” moodCode="EVN™>
<id extension="C. 5. 3" root="2. 16.840. 1. 113883.3.989.2.1,3.5°/>
¢}=- C.5.3: Sponsor Study Number —>
¢code code="C. 5. 4" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2. 1. 1. 8" codeSystemVersion="1,07/>
{1=- ¢.5.4: Study Type Where Reaction(s) / Bvent(s) Were Observed —->
{title>C.5. 2¢/title>
¢!— €. 5.2 Study Name —>
<authorization typeCode="AUTH">
{studyRegistration classCode="ACI” moodCode="EVN">
{id extension="C.5.1.r.1" root="2. 16,840, 1, 113883. 3. 989.2. 1. 3. 6" />
¢I== €.5.1.xr.1: Study Registration Number #1 —>
Cauthor typeCode="AUT"»
<territorialAuthority classCode="TERR" )
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSystem="1. 0. 3166. 1. 2. 2"/>
<l— C.5.1.r.2: Study Registration Country #1 —>
{/governingPlace>
{/territorialAuthority>
{/author>
{/studyRegistration>
{/authorization>
<authorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN">
<id extension="C.5.1.r.1” root="2. 16, 840. I. 113883. 3. 989. 2. 1. 3. 6" />
¢t— €.5.1.r.1 Study Registration Number #2 —>
{author typeCode="AUT">
{territorialAuthority classCode="TERR">
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.5.1.r.2" codeSystem="1.0.3166,1.2.27/>



<I— C.5.1.1.2: Study Registration Country #2 —>
{/governingPlace>
{/territorialAuthority>
</author>
</studyRegistration>
</authorization>
{/researchStudy>
{/subject0f1>
<subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN">
{code code="3" codeSystem="2. 16.840. 1, 113883. 3,989, 2, 1. 1. 19" codeSystemVersion="1. 1"
displayName="age”/>
{value xsi:type="PQ” value="10" unit="D.2.2b"/>
{l— D.2.2a: Age at Time of Onset of Reaction / Event (number) —>
<!— D.2.2b: Age at Time of Onset of Reaction / Bvent (unit) ——>
{/observation>
</subject0f2>
{subject0f2 typeCode="SB]™> )
{observation classCode="CBS” moodCode="EVN">
<code code="16" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1, 19" codeSystemVerslon— 1.17
displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="D.2.2.1b"/>
¢l— D.2. 2. 1la: Gestation Period When Reaction / Event Was Observed in the Foetus (number) —>
<l— D.2.2.1b: Gestation Period When Reaction / Event Was Observed in the Foetus {unit) -—>
- </observation>
{/subject0f2>
{subjectOf2 typeCode="SB]"»
{observation classCode="0BS" mocdCode="EVN™>
Ccode code="4" codeSystem="2, 16. 840. 1. 113383 3.989.2.1.1. 19" codeSystemVersion="1,1"
displayName="ageGroup”/>
. {value xsi:type="CE" code="D. 2. 3" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2.1.1.9”
codeSystemVersion="1, 0"/>
¢I— D.2.3: Patient Age Group (as per reporter) ==
{/observation)
{/subject0f2>
{subject0f2 typeCode="SB]™>
<observation classCode="0BS" moodCode="EVN">
<code code="T" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="bodyWeight”/>
{value xsi:type="PQ" value="48.2" unit="kg"/>
¢!— D.3: Body Weight (kg) -->
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]"> .
{observation classCode="0BS" moodCode="EVN">
{code code="17" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="height”/>
{value xsiitype="PQ” value="152" unit="cn"/>
¢!— P. 4: Height (em) —>
{/observation>
</subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0B5" moodCode="EVN">
{code cade="22" codeSystem="2. 16. 840, 1, 113883.3,989. 2. 1. 1, 19" codeSystenVersion="1.1"
displayName="lastMenstrualPeriodDate”/>
{value xsiitype="TS" value="200901017/>
<!— D.6: Last Menstrual Period Date —>
{/cbservation>
{/sub ject0£2>
<subject0f2 typeCode="SBI">
Corganizer classCode="CATEGORY" moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="relevantMedicallistoryAndConcurrentConditions™/>
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EV¥N">
{code code="D. 7.1 r.1b" codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="D.7.1.r. 1a"/>
<I— D.7.1.r. la: MedDRA Version for Medical History #l —>
== D.7.1.r. 1b: Medical History (disease / surgical procedure / etc.) (MedDRA code) #1 —->
{effectiveTime xsi:type="IVL_TS™>



<low value="20090101"/>
¢<]-— D.7.Lr. 2: Start Date #1 —>
<high value="20090101"/>
<l-— D.7.1.r. 4: End Date #1 —>
{/effectiveTime>
<putboundRelationship2 typeCode="COMP™>
{observation ¢lassCode="0BS” moodCode="EVN"> .
<code code="10" codeSystem="2. 16. 840, 1. 113883.3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">D.7. L r.5¢/value>
<— D.7.1.r.5: Comments §1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="EXPL">
¢observation classCode="0BS* moodCode="EVN">
<code code="38" codeSysten="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="familyHistory”/>

<value xsi:type="BL" value="true”/>
¢l==D.7.1.r.6: Fanily History #il —>
¢/observation>
{/outboundRelationship2>
<inboundRelationship typeCode="REFR™>
{observation classCode="0BS" mocdCode="EVN">
{code code="13" codeSystem="2. 16. 840. L. 113883. 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”™/>
<value xsi:type="BL” value="true”/>
¢!— D.7.1.xr.3: Continuing #1 -=>
</observation>
{/inboundRelationship>
{/observation>
{/component’
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<code code="D.T.1l.x.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="D.7.Ll.1.1a"/>
¢l-= 0, 7. 1.r. 1a: MedDRA Version for Medical History #2 —>
<l D.7.1.r.1b: Medical history (disease / surgical procedure / etc.) (MedDRA code) #2 —>
<effectiveTime xsi:type="IVL_T5™>
<low value="20080101"/>
¢!-—~ D.7.1.1.2: Start Date #2 —>
<high value="20090101"/>
({=—D.7.1.7. 4: End Date H2 —>
{/effectiveTime> '
¢outboundRelationship2 typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">D.7.1.r. 5¢/valued
{1— D.7.1.r.5: Comments #2 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="EXPL">
{cbservation classCode="0BS” moodCode="EVN">
¢code code="38" codeSystem="2, 16, 840. 1. 113883, 3.989.2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="familyHistory™/> )
{value xsi:type="BL" value="true”/>
<!— D.7.1.1.6: Family History #2 —>
¢/observation>
{/vutboundRelationship2>
¢inboundRelationship typeCode="REFR">
{ohservation classCode="0BS" moodCode="EVN™>
<code code="13" codeSystem="2. 16. 840. 1, 113883. 3. 989, 2. 1, 1. 19" codeSystemVersion="1. 17
displayName="continuing”/>
<value xsi:type="BL" value="true”/>
¢1— D.7.1.7.3: Continuing #2 >
{/observation>
{/inboundRelationship>
</observation’
{/component>
{component typeCode="COMP">



N

{observation classCode="0BS” moodCode="EVN">
{code code="18" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="historyAndConcurrentConditionText™/>
{value xsi:type="ED">D. 7. 2¢{/value>
{!— I.7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction
/ event) ==>
{/ohservation>
{/compenent>
{component typeCode="COMP">
Lobservation classCode="0BS" maodCode="EVN">
<code code="11" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystemVorsion="1.1"
displayName="concomitantTherapy” />
{value xsi:type="BL" value="true”/>
{l-— D1.7.3: Concomitant Therapies —>
</observation>
{/component>
{/organizer>
<{/subject0f2>
<{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY" mocdCode="EVN">
<code code="2" codeSystem="2. 16.540. 1. 113883. 3,989, 2. 1, 1. 20" codeSystemVersion="1, 0"
displayName="drugHistory”/>
{component typeCode="COMP">
{substanceAdministration classCode="SBADM" moodCode="EVN">
{effectiveTime xsi:type="IVL_TS™>
{low value="20090101"/>
¢I-= D.8.r.4: Start Date #1 —>
<high value="20090101"/>
¢!-= D.B.r.5: End Pate #1 —>
{/effectiveTime>
{consumable typeCode="CSM">
¢instance0fKind classCode="INST"}>
<kind0fProduct classCode="MMAT" determinerCode="KIND"»
{code code="D.8.r. 2b" codeSystem="TBD-MPID" codeSystemVersion="D.8.r.2a"/>
{l~- D.8.1. 2a: MPID Version Date / Number #1 —>
<l— D.8& r.2b: Medicinal Product Identifier (MPID} #1 -
<name>D. 8. r. 1{/name>
<l== D.8.r.1: Name of Drug as Reported #1 —>
</kindQfProduct>
</instance0fKind>
{/consumable>
{outboundRelationship? typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
{code code="19" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1*
displayName="indication”/> .
<value xsi:type="CE” code="D.8.r.6b" codeSystem="2. 16,840, 1, 113883, 6. 163"
codeSystemVersion="D. 8. 1. 6a"/> ' ,
<!— D.8.r.6a: MedDRA Version for Indication #1 —>
{I=~ D.8.r.6b: Indication (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="CAUS">
<observaticn classCode="0BS" moodCode="EYN™>
{code code="29" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1, 1. 19" codeSystenVersion="1.1"
displayName="reaction”/> '
{value xsi:type="CE” code="D.8.r.7b" codeSystem="2. 16. 840. 1. 113883, 6. 163"
codeSystemVersion="D. 8. 1. 7a"/>
- ¢l~- D.8.r.7a: MedDRA Version for Reaction #1 —>
¢!— D.8.r. 7b: Reaction (MedDRA cede) #1 —>
</cbservation’>
{/outboundRelationship2>
{/substanceAdministration>
{/component)
<component typeCode="CCMP™>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{effectiveTime xsi:type="IVL_TS™>
{low value="20090101"/>
¢l— D.8.r.4: Start Date #2 —>
<high value="200901017/>



{l— D.8.r.5: End Date #2 —>
{/effectiveTime>
<consumable typeCode="CSH">
<instance0fKind classCode="INST™> )
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<code code="D, 8. r.3b" codeSystem="TBD-PhPID" codeSystemVersion="D.8.r. 3a"/>
<{l— D.8.1.3a: PhPID Version Date / Number —>
¢l== D.8.1.3b: Pharmaceutical Product Identifier (PhPID} #2 —>
<name>D. 8. r. 1{/name>
<!——D.8.1.1: Name of Drug as Reported #2 —>
</kind0fProduct>
{/instancelf¥ind>
{/consumable>
<outboundRelationship2 typeCode="RSON™>
{observation classCode="CBS” moodCode="EVN">
{code code="19" codeSystem="2. 16. 840, 1. 113883, 3.989.2.1.1. 19" codeSystemVersion="1. 1"
displayName="indication”/> ’

{value xsi:type="CE™ code="D.8.T.6b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D. 8. 1. 6a"/>
‘ <!== D.8.r.6a: MedDRA Version for Indication #2 —>
<¢!— D,8.r.6b: Indication {MedDRA tode) #2 —>
{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="CAUS">
{observation classCode="0BS" moodCode="EVN">
<code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1, 19 codeSystemVersion="1.1"
displayName="reaction”/>
<value xsi:type="CE” code="D,B.r.7b" codeSystem="2. 16. 840, 1. 113883. 6. 1637
codeSystemVersion="D. 8. r. Ta”/>
¢!= D.8.r.7a: MedDRA Version for Reaction #2 —>
<!— D.8.r.7b: Reaction (MedDRA code) #2 —=>
{/observation>
</outbotndRelationship2>
{/substanceAdministration>
{/component>
{/organizer>
</sub jectOf2>
¢{subject0f2 typeCode="SBI™>
{observation classCode="0B5" moodCode="EVN">
{code code="32" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reportedCause0fDeath”/> .
<value xsi:type="CE" code="D.9.2.T.1b" codeSysten="2. 16, 840, 1. 113883, 6. 163"
codeSystemVersion="D.9.2.1. 1a™>
<= D,9,.2.r,1a: MedDRA Version for Reported Cause(s) of Death #l -->
<l-— D.9.2.r.1b! Reported Cause(s) of Death (MedDRA code) #1 —>
<originalText>D. 9. 2. r. 2{/original Text>
<!-~1D,9.2.r.2: Reported Cause(s) of Death {free text) #I -->
{/value>
{/observation>
{/subject0f2>
<subject0f2 typeCode="SBJ™>
{observation classCode="0BS" moodCode="EVN">
<code code="32" codeSystem="2. 16.840. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reportedCause0fDeath”/>
<value xsi:type="CE" code="D. 8. 2.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 9. 2. 1. la”>
¢! D.9.2.r.1a: MedDRA Version for Reported Cause(s) of Death #2 —>
<I—- D.9.2.1.1b: Reported Cause{s) of Death (MedDRA code) #2 ——>
<originalText>D. 9. 2.r. 2{/originalText>
¢l=— D.9.2.1.2: Reported Cause(s) of Death (free text) #2 —>
</valued
¢/observation?
<{/subjectOf2>
¢subjectOf2 typeCode="SB]™>
{cbservation classCode="0BS" moodCode="EVN">
{code code="5" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="autopsy”/>
{value xsi:type="BL” value="true”/>
<!— D.9.3 Was Autopsy Done? —>



{outboundRelationship2 typeCode="DRIV">
<observation classCode="0BS” mondCode="EVN">
<code code="8" codeSystem="2. 16,840, 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1, 17
displayName="causeOfDeath”/>
<value xsi:type= “CE” code="D.9.4.1.1b" codeSystem— 2.16.840. 1. 113883. 6 163"
codeSystemVersion="p. 9. 4. r. 1a">
<1-- D.9.4.1. 1a: MedDRA Version for Autopsy-determined Cause(s) of Death #1 —>
<!-- D.9.4.r. 1b Autopsy-determined Cause(s) of Death (MedDRA code) #1 -->
{eriginalText>D. 9. 4. r. 2{/originalText>
<|—D.9%.4.1r.2: Autopsy-determlned Cause{s) of Death {(free text) #1 —>
{/value>
<{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="DRIV">
{observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2. 16. 840, 1, 113883, 3,989, 2. 1. 1, 19" codeSystemVersion="1,1"
displayName="cause0fDeath”/> )
{value xsi:type="CE" code="D.9.4.r.1b" codeSystem="2. 16. 840, 1. 113883, 6. 163"
codeSystemVersion="D.9.4.r. 1a™>
<{!=——D.9.4.r. la: MedDRA Version for Autopsy-determined Cause(s} of Death #2 —>
<!-- D.9.4.1. 1b Autopsy-determined Cause(s) of Death (MedDRA code} #2 -->
{originalText>D, 9, 4, r. 2¢/originalText>
<l=— D.9.4.1. 2: Autopsy-determined Cause(s) of Death (free text) #2 —>
</value>
</observation>
{/outboundRelationship2>
{/observation>
{/subject0f2>
Csubject0f2 typeCode="SBJ™>
<observation classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2=-a02f-42d4d6£4657f" />
<code code="29" codeSystem="2, 16, 840, 1. 113883.3.989, 2. 1. ]. 197 codeSystenVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">
<low value="200901017/>
{l— E.i.4: Date of Start of Reaction / Event #1 —>
¢high value="20090102"/>
{l== E.i.5: Date of End of Reaction / Event #1 -
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b" codeSystem="2. 16.840. 1. 113883, 6. 1627
codeSystemVersion="E. i. 2. 1a”™>
<— E.i.2. 1a: MedDRA Version for Reaction / Event #1 —>
¢{— E.i.2.1b: Reaction / Event {MedDRA code) #1 —>
{originalText language="E.i.1.1b">E.i. L. la{/originalText>
¢!— E.i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language #1 —>
¢l— E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Language #1 —>
{/value>
<location typeCode="LOC™>
{locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.1.9" codeSysten="1.0.3166.1.2.2"/>
<!-— E.i.9: Identification of the Country Where the Reaction / Event Occurred #1 -->
{/locatedPlace>
+ </locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2. 16, 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<value xsi:type="ED">E.i.1.2¢{/value>
¢l-- E.1.1.2: Reaction / Event as Reported by the Primary Source for Translation #1 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="DBS” moodCode="EVN">
<code cede="37" codeSystem="2, 16. 840. 1. 113883, 3. 983, 2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayName— termHighlightedByReparter”/>
<value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16. 840, 1.113883. 3.989.2. 1. 1. 107
codeSystemVersion="1. 0"/



¢l— E.i.3.1: Term Highlighted by the Reporter #1 -—>
</observation>
{/outboundRelationshin2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>

{code code="34" codeSystem='2.15.840.1.113883.3.989.2.1.1.19' codeSystemVersion="1.

displayName="resultsInDeath”/>
{value xsi:type="BL" value="true”/>
{l— E.i.3.2a: Results in Death #1 —>
</observation>
{/outboundRelationship2>
{cutboundRelationship? typeCode="TERT™>

<observation classCode="0B5" moodCode="EVN">

{code code="21" codeSystem="2. 186, 840, 1. 113883, 3. 989, 2.1, 1. 197 codeSystemYersion="1

displayName="isLifeThreatening”/>
{value xsi:type="BL" nullFlavor="NI"/>
¢l-— E.i,3.2b: Life Threatening #1 —>

{/observation>
¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>

<code code="33" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.

displayName="reguiresInpatientHospitalization”/>
{value xsi:type="BL" value="true"/>
¢!-— E.i.3.2c* Caused / Prolonged Hospitalisation #1 —>
</observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0B3" moodCode="EVN™>

{ecode code="35" codeSystenm="2, 16. 840, 1. 113883, 3,989, 2. 1. 1. 18" codeSystemVersion="1.

displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlaver="NI*/>
¢l~— E.i.3.2d: Disabling / Incapacitating #1—>
{/observation>
¢/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">

{code code="12" codeSystem="2.16. 840. 1. 113883, 3. 989, 2.1. 1. 19" codeSystemVersion="1.

displayName="congenitalAnomalyBirthDefect™/>
{value xsi:type="BL" nullFlaver="NI"/>
{l== E.i.3.2e: Congenital Ancmaly / Birth Defect #1 -=>
{/observation> ’
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN")>

{code code="26" codeSystem="2, 16, 840. 1. 113883, 3.989. 2, 1. 1. 197 codeSystemVersion="1

displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL" value="true”/>
<l—— E.i.3.2f: Other Medically Important Condition #1 —>
{/observation?
{/outboundRelationship2>
{outbaundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">

<code code="27" codeSystem="2, 16. 840. 1. 113883, 3.989.2. 1. 1. 19" codeSystemVersion="1

displayName="outcome”/>
<value xsi:type="CE” code="E.i.7" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.117
codeSystemVersion="1.07/> )
¢l— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>

{code code="24" codeSystem="2, 16, 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.

displayName="medical ConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
¢}— E.i.8: Medical Confirmation by Healthcare Professional #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>



{observation classCode="0BS" moodCode="EVN">
{code code="11" codeSysten="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="32%0 « BXE&0"/>
{value xsi:type="CE" code="]J2.14.i" codeSystem="2. 16.840. 1. 113883.3.989.5.1,3.2.1.8"
codeSystemVersion="1,07/>
<l— 88872, 14. 1 F& - BEskn #1 —
{/cbservation>
{/outboundRelationship2> -
<{/observation®
</subject0f2>
<subject0f2 typeCode="SB)™>
{observation classCode="0BS" moodCode="EVN™>
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b3 142207 />
Ccode code="29" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
<l=- E.i.4: Date of Start of Reaction / Event #2 —>
<width value="24" unit="E.i.6b"/>
€l-- E.i.6a: Duration of Reaction / BEvent (number) #2 —-->
<!-- E.i.6b: Duration of Reaction / Event (unit) #2 —>
{feffectiveTime>
<value xsi:types"CE" code="E.1i.Z. Ib” codeSystem="2. 16.840. 1. 113883, 6. 163"
codeSystemVersion="E. i.2.1a">
¢l E.1i.2.1a: MedDRA Version for Reaction / Event #2 —>
{l-~ E.i.2.1b! Reaction / Event (MedDRA code) #2 -—>
CoriginalText language="E.i.1.1b">E.i. 1. 1a$/originalText>
<|-- E.1i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language #2 ->
¢l—- E.i.1. 1b: Reaction / Event as Reported by the Primary Socurce Language #2 —>
</value>
<location typeCode=" LOC >
{lecatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="E.i. 9" codeSystem="1.0, 3166.1,2.2"/>
¢!—— E.i.9: Identification of the Country Where the Reaction / Event Occurred 2 —>
{/locatedPlace>
<{/locatedEntity>
</location>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCade="EVN">
i {code code="30" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1, 19" codeSystenVersion="1.1"
displayName="reactionForTranslation”/>
¢value xsi:type="ED")E.i. 1. 2¢/value)
¢!——E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="37" codeSystem="2. 16, 840, 1, 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1
displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16. 840, 1. 113883. 3. 989.2. 1. 1. 107
codeSystemVersion="1,07/>
¢l-- E.i.3.1:Term Highlighted by the Reporter 2 —>
{/observation> "
</outboundRelationship2>
{outboundRelationship2 typeCode=" PERT ?
{chservation classCode="0BS" moodCode="EVN™>
{code code="34" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
{yalue xsi:type="BL" value="true”/>
¢!l=~ E.i.3.2a: Results in Death #2 —>
</observation>
{/outboundRelationship2>
<outboundRelaticnship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN"™>
{code code="21" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystem¥ersion="1.1"
displayName="islL.ifeThreatening”/>
¢value xsi:type="BL" nullFlaver="NI"/>
{l== E.i.3.2b: Life Threatening #2 ——>

-



{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
¢code code="33" codeSystem="2. 16. B40. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL" value="true”/>
¢l==E.i.3.2c: Caused / Prolonged Hospitalisation f##2 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{sbaervation classCode="0BS" moodCods="EVN"™>
{code code="35" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
¢value xsi:type="BL” nullFlavor="NI"/>
{l-— E.i.3.2d: Disabling / Incapacitating #2 —>
{/observation>

{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
{code code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect™/>
¢value xsi:type="BL" nullFlavor="NI"/>
¢!— E.i.3.2e: Congenital Ancmaly / Birth Defect #2 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL" value="true”/>
{!— E.i.3.2f: Other Medically Important Condition #2 —>
{/observation®
</outboundRelationship2>
{outboundRelationship2? typeCode="PERT")
<observation classCode="0BS" moodCode="EVN">
<code code="27" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="outcome”/>
<value xsi:type="CE” code="E.i.7" codeSystem="2.16.840. 1.113883,3.989.2.1. 1. 117
codeSystemVersion="1,07/> )
¢l-- E.i.7: Qutcome of Reaction / Event at the Time of Last Observation #2 -
" {/observation’>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<ohservation classCode="0BS" moodCode="EVN™>
<code code="24" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHeal thProfessional”/>
{value xsi:type="BL” value="true”/>
€l— E.i.8: Medical Confirmation by Healthcare Professional #2 —>
{/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS™ moodCode="EVN™>
<code code="11" codeSystem="2. 16. 840. 1. 113883, 3.989. 6. 1. 3.2. 1. 10" codeSystemVersion="1.0"
displayName="42#!+ BE¥"/>
{value xsi:type="CE” code="J2.14.1i" codeSystem="2. 16,840, 1. 113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1.0"/>
<i-- @e@yz. 14. i AAn - BEkn #2 —>
{/observation>
</outboundRelationship2>
</observation>
</sub ject0f2>
<subject0f2 typeCode="SB]">
<observation classCode="0BS™ moodCode="EYN">
<id root="3a8626cb-9f1b—4eaB-8a0f-e0rf34430adf”/> .
<code code="23" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS™>
<width value="24" unit="E.i.6b"/>



¢l-- E.i.6a: Buration of Reaction / Event {number) #3 —>
¢l~= E.i.6b: Duration of Reaction / Event (unit) #3 --=>
<high value="20101201°/>
<1—- E.i.5: Date of End of Reaction / Event #3 —>
{/effectiveTime>
{value xsi:type="CE" code="E.i.Z2. 1b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a™>
¢l— B.i.2 la: MedDRA Version for Reaction / Event #3 -->
¢l== E.i.2.1b: Reaction / Event (MedDRA code} #3 —>
<originalText lapguage="E. 1.1, 1b"™>E. i. 1, la/originalText>
¢I— E.i.l. 1a: Reaction / Event as Reported by the Primary Source in Native Language #3 ——>
¢!== E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #3 ~->
{/value>
{location typeCode="LOC™>
{locatedEntity classCode="LOCE™>
{lecatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
{code code="E.i.9” codeSystem="1.0.3166.1.2.27/>
{l== E i.9: Identification of the Country Where the Reaction / Event Occurred #3 -—>
</locatedPlace>
</locatedEntity>
{/location>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN"> ) .
{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED">E.i.1,2¢/value>
{l-- E.1i.1.2: Reaction / Event as Reported by the Primary Source for Translation 3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="37" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter™/>
{valte xsi:type="CE" code="E.i.3.1" codeSystem="2. 16.840. 1. 113883. 3.989.2.1. 1. 107
codeSystemVersion="1.0"/> .
<!—— E.i.3.1:Term Highlighted by the Reporter #3 —>
{/observation)
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
. <code code="34" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
{value xsi:type="BL" value="true”/>
¢(!==- E.i.3.2a: Results in Death #3 —=>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" mocdCode="EVN™>
{code code="21" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
<{value xsi:type="BL” nullFlavor="NI"/>
{l~— E.i.3.2b: Life Threatening #3 -->
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0B5" moodCode="EVN"> :
{code code="33" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL” value="true”/>
¢l=~ E.i.3.2c: Caused / Prolonged Hospitalisation #3 -->
{/vhservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
(observation classCode="0BS" moodCode="EVN">
<code code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI1"/>
<l— E.i.3.2d: Disabling / Incapacitating #3 —>
{/observation>



{/otutboundRelationship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{codo code="12" codeSystem="2. 16, 840. 1. 113883, 3,989, 2.1, 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthPefect™/>
<value xsi:type="BL” nullFlavor="NI"/>
¢(!—— E.i.3.2e: Congenital Anomaly / Birth Defect #3 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
{code code="26" codeSystem="%, i6, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
{!-- B.1.3.2f: Other Medically Important Condition #3 —>
{/observation>
{/outboundRelationship2>

{outhoundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
{code code="27" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVarsion="1.1"
displayName="outcome”/>
<value xsi:type="CE” code="E.i.7" codeSystem="2. 16.840. I. 113883. 3.989,2.1.1.117
codeSystenVersion="1.07/>
¢{1—— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
{code code="24" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
{l-- B.i.8: Medical Confirmation by Healthcare Professional #3 —>
{/observation> '
{/outhoundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="3<4n - EE&0"/>
<value xsi:type="CE" code="J2.14.i" codeSystem="2, 16.840. 1. 113883. 3.989.5.1.3.2. 1.8
codeSystemVersion="1.0"/>
<1— 0@eJ2. 14.1 K5 - BEAr #3 —
</observation>
{/outboundRelationship2>
{/observation>
{/subject0f2>
<subjectCf2 typeCode="SB]">
{abservation classCode="0BS" moodCode="EVN™>
<id roqt=”2999840f—OBb4—499c—80ff—dd8415f4f8a5'/>
{code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 889. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
CeffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS™>
<low value="20080101"/>
¢l— E.i.4: Date of Start of Reaction / Event #4 -->
<high value="20101201"/>
¢!— E.i.5: Date of End of Reaction / Event #i4 —>
</comp>
<comp xsi:type=" IVL_TS” operator="4">
. {width value="24" unit="E.i.6b"/>
¢l== E.i.6a: Duration of Reaction / Event (number) ¥4 -—>
¢!— E.i.6b: Duwation of Reaction / Bvent {unit} #4 —>
</comp>
{feffectiveTime>
<value xsiitype="CE™ code="E.1i.2.1h" codeSystem="2. 16.840. 1. 113883. 6. 163"
codeSystenVersion="E. i. 2. 1a™>
' ¢[-- E.i.2.1a: MedDRA Version for Reaction / Event #i4 ==>
¢I-- E.i.2. 1b: Reaction / Event (MedDRA code) #d4 —>
{originalText language="E.1i.1, 1b">E. 1. 1, la/originalText>
¢I-- E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #4 -->



{}-= E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #4 —>
{/value>
{location typeCode="LOC™>
{locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">»
{code code="E. i.9" codeSystem="1.0. 3166.1.2.2"/>
¢!~ E.i.9: Identification of the Country Where the Reaction / Event Occurred #4 —>
{/locatedPlace>
{/locatedEntity>
<{/location>
<outboundRelationship2 typeCode="PERT">
¢observation classCode="0BS™ moodCode="EVN">
{code code="30" codeSystem="2. 16, 840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/> ‘ . .
{value xsi:type="ED">E.i. 1. 2¢{/value>
{l=- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 ——>
¢/observation>
{/outboundRelationship2>
<outboundRelationshipZ typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
{code code="37" codeSystem="2. 16. B40. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter™/>
. <value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 10"
codeSystemVersion="1. 0"/>
¢1— E.i.3. 1:Term Highlighted by the Reporter #4 ——>
</observation
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code code="34" codeSystem="2. 16. §40. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
{value xsi:type="BL" value="true"/>
{!-— E.i.3.2a: Results in Death 4 —
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="isLifeThreatening”/>
{value xsi:type="BL" nullFlavor="NI"/>
<!-- E.i.3.2b: Life Threatening #4 —>
</observation>
{/outhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="33" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1. 1"
displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL" value="true”/>
<l-- E.i.3.2c: Caused / Prolonged Hospitalisation #4 ==>
{/cbservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<gbservation classCode="0BS" moodCode="EVN">
{code code="35" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="tesultsInPersistentOrSignificantDisability™/>
{value xsi:type="BL" nullFlavor="NI"/>
¢!-- E.i.3.2d: Disabling / Incapacitating #4 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode=TPERT')
{observation classCode="0BS” moodCode="EVN™>
{code code="12" codeSystem="2. 16. 840. 1. 113883. 3.989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL" nullFlavor="NI"/>
¢l-- E.i.3.2e: Congenital Anomaly / Birth Defect #4 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="E¥N">



<code code="26" codeSystem="2, 16. 840, 1. 113883, 3. 989, 2. 1, 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition™/>
{value xsi:type="BL" value="true”/>
<l-— E.1i.3.2f: Other Medically Important Condition #4 —>
{/observation?
</outboundRelationship2> .
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
<code code="27" codeSystem="2. 16. 840. L. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="outcome” />
<value xsi:type="CE" code="E.i.7" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 117
cudeSystemVersion="1. 7/
{l—- E.1i.7: Outcome of Reaction / Event at the Time of Last Observation §4 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

(code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 982. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
¢l— E.i.8: Medical Confirmation by Healthcare Professional #4 =->
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
<code code="11" codeSystew="2. 16. 840. 1. 113883, 3. 989.5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="340 - BE@"/>
Cvalue xsi:type="CE” code="J2. 14.i" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2. 1. 8"
codeSystemVersion="1.0"/>
<I-— 8@8)2, 14. 1 KM - BLa #4 —>
{/observation>
{/outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBI™>
{observation classCode="0BS" moodCode="EVN">
{id root="1071064c=cf10-4a3b~83c1-34f9ddbTeatd”/>
{code code="29" codeSystem="2. 16,840, 1. 113883, 3.989.2. 1. 1, 197 codeSystemVersion="1, 1"
displayName="reaction”/>
‘ {effectiveTime xsi:type="IVL_TS">
(low value="20090101"/>
¢1— E.i.4: Date of Start of Reaction / Bvent #5 —>
{/effectiveTime> .
<value xsi:type="CE” code="E.i.2.1b" codeSystem="2.16.840. 1. 113883, 6, 163"
codeSystemVersion="E. 1.2, 1a™>
¢l=~ E.i.2.1a: MedDRA Version for Reaction / Event #5 —>
¢!— E.i.2.1b: Reaction / Event (MedDRA code) #5 —>
CoriginalText language="E.i.l,Ib">E.i. 1. la{/originalText>
¢!—— E.i.1. la: Reaction / Event as Reported by the Primary Source in Native Language #5 —>
¢}~ E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #5 —>
{fvalue?
<location typeCode="LOC">
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY" determinerCode="INSTANCE">
<code code="E.i.9" codeSystem="1. 0. 3166.1.2.27/>
¢l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
</lacatedPlace>
{/locatedEntity>
{/location>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0B5" moodCode="E¥N">
{eode code="30" codeSysten="2, 16. 840. 1. 113883. 3. 989, 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<value xsi:type="ED™)E.i.1.2¢/value>
{l-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 —>
</observation>
</euthoundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">



{code code="37" codeSystem="2, 16, 840. 1, 113883, 3,989, 2, 1. 1. 19" codeSystemVersion="1.

displayName=" termH1gh11ghtedByReporter e

<value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16.840. 1. 113883. 3,989, 2.1, 1. 107

codeSystemVersion="1, 07/>
{|-— E.i.3.1:Tern Highlighted by the Reporter #5 —>
{/observation}
{/outhoundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> .

<code code="34" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.

displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
¢!=-- E.i.3.2a: Results in Death #5 —=>
</observation>
<¢/outhoundRelationship2y
{outboundRelationship2 typeCode="PERT">
{obhservation classCode="0BS" moodCode="E¥N™>

{code code="21" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1.1.19" codeSystemVersion="1

displayName="isLifeThreatening”/>
<value xsi:type="BL" nullFlavor="N1"/>
¢l— E.i.3.2b: Life Threatening #5 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

{code code="33" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.

displayName="requiresInpatientHospitalization™/>
{value xsittype="BL" value="true”/>
¢l== E.i.3.2c: Caused / Prolonged Hospitalisation #§ —>
{/observation>
</outboundRelationship2>
SoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">

{code code="35" codeSystem="2, 16, 840, 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.

displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlaver="NI*/>
¢l-- E.i,3.2d: Disabling / Incapacitating #5 —>
{/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moadCode="EVN™>

<code code="12" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemYersion="1.

displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL" nullFlaver="NI"/>
¢!==E.i.3.2e! Congenital Anomaly / Birth Defect #5 —>
{/observation>
</outhoundRelationship2>
<outboundRelaticnship2 typeCode="PERT">
<observation classCede="0BS™ moodCode="E¥YN">

{code code="26" codeSystem="2. 16. 840, 1, 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.

displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL" value="true”/>
¢l=- E.i.3. 2f: Other Medically Importent Condition #5 —>
</cbservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">

<code code="27" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2, 1. 1. 197 codeSystemVersion="1.

displayName="outcome”/>
{value xsi:type="CE” code="E.1i.7” codeSystem="2.16.840. 1, 113883.3.989.2.1. 1. 117
codeSystemVersion="1.07/>
{l=-E.i.7: Outcome of Reaction / Event at the Time of Last Observation #5 —>
{/observation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<observation clessCode="0BS" moodCode="EVN")>

<code code="24" codeSystem="2, 16, 840. 1. 113883. 3. 989, 2. 1. 1. 197 codeSystemVersion="1

displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL” value="true”/>



¢!— E.i.8: Medical Confirmation by Healthcare Professional #5 ~>
{/observation>
{/outboundRelationship2>
{outboundRelaticnship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN™>
{cods code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1., 0"
displayName="5% - BE&"/>

codeSystemVersion="1.07/>
: <l— @@aJ2. 14.1 Fhr - BEsm #5 >
¢/observation?
</outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ™>
<observation classCode="0OBS” moadCode="EVN">
{id root="1f927283-10b6-4334-9d43-e025640{b 181" />

{code code="29" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_T3">
<high value="20090101%/>
: ¢!— E.i.4: Date of Start of Reaction / Event #6 —>
' {feffectiveTime>
{value xsi:type="CE" code="E.i.2.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a™>
<l-— E.i.2. la: MedDRA Version for Reaction / Event #6 —>
¢I-—E.i.2.1b: Reaction / Event (MedDRA code) #6 —>
{originalText language="E.i.1.1b">E.i. 1. la{/originalText>
¢I— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #6 ——>
{I—- E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #6 —>
</value>
{location typeCode="10C">
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="E.i.9” codeSystem="1.0. 3166.1.2.2"/>
¢{!~— E.i,9: Identification of the Country Where the Reaction / Event Occurred #6 —>
{/locatedPlace>
{/locatedfntity>
{/location>
{outboundRelationship2 typeCode="FERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED"ME.i.1,2¢/value>
<l—— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #6 =-=>
¢/observation>
</outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN">
<code code="37" codeSystem="2. 16. 840. I. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter”™/>
{value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16.840. 1. 113883. 3.98%. 2. 1. 1, 10"
codeSystemVersion="1. 0"/>
{|— E.i.3.1:Term Highlighted by the Reporter #6 —>
</observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0B5" moodCode="EVN">
<code code="34" codeSystem="2. 16. 840. 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="resultsInDeath”/>
<value xsi:type="BL” value="true"/>
<l— E.i.3.2a: Results in Death # —>
</observation> )
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
¢obsarvation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
{value xsi:type="BL" nullFlavor="NI"/>



¢l-- E.i.3.2h: Life Threatening #6 —>
{/observation®
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="33" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL" value="true”/>
¢l— E.i.3.2¢: Caused / Prolonged Hospitalisation #6 —>
{/cbservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2. 16. 840. 1. 113883.3.989.2.1.1.19
displayName="resultsInPersistentQrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/>
<l-- E.i.3.2d: Disabling / Incapacitating #6 —>
{/fobservation®
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
{code code="12" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/> -
{value xsi:type="BL” nullFlaver="NI"/>
{!-— E.i.3.2e: Congenital Anomaly / Birth Defect #6 —>
</observation®
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{cbservation classCode="0BS” moodCode="EVN">
{code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 13" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true"/>
¢!-~ E.i.3.2f: Other Medically Important Condition H6 -
{/chservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{code code="27" codeSystem="2. 16, 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

-

codeSystemVersion="1. 1"

displayName="outcome”/>
<value xsi:type="CE” code="E.ji. 7" codeSystem="2.16.840.1.113883.3.989.2.1.1. 11"
codeSystemVersion="1, 0"/>
¢1-- E.i.7: Qutcome of Reaction / Event at the Time of Last Observation #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="24" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="medicalConfirmationByHeal thProfessional”/>
<value xsi‘type="BL" value="true”/>
¢l-— E.i. 8" Medical Confirmation by Healthcare Professional #6 —>
</observation>
{/outboundRelationship2>
{outhoundRelationship? typeCode="PERT">
{observation classCode="0B5” moodCode="EVN™>
Ccode code="11" codeSystem="2. 16. 840. 1. 113883, 3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="3&n - BE&N"/>
<value xsi:type="CE” code="J2.14.i" codeSystem="2.16.840. 1. 113883, 3.989.5.1,3.2, 1. 87
codeSystemVersion="1. 07/>
<1-- @a@eyz. 14. i % - BE50 46 —>
</observation>
{/outboundRelationship2>
</observation>
{/subjectOF2>
{subjectOf2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN">
{id root="e(342969-38be~423f~b6bb-celdbc270d8e” />
{code code="29" codeSystem="2, 16. 840, 1, 113883, 3. 989.2. 1, 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS3">



<width value="24" unit="E. i.6b"/>

<= E.i.8a: Duration of Reaction / Event (number) #7 —>

¢t— E.i.6b: Duration of Reaction / Event (unit) 27 —>
{/effectiveTime>
{value xsi:type="CE” code="E.i.2.1b" codeSystem="2, 16. 840. 1. 113883. 6. 163"

codeSystemVersion="E. 1. 2. 1a™>

¢!— E.i.2. la: MedDRA Version for Reaction / Event H#7 -->

¢}— E.i.2. 1b: Reaction / Event (MedDRA code) #7 —>

{originalText language="E.i. 1. 1b">E.{. 1. la{/originalText>

¢{— E.i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language #7 —>

¢!— E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Lenguage #7 —>
<fvaluey
¢location typsCode="LOC™>
{locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY" determlnerCode- INSTANCE™>
<code code="E. i.9" codeSystem="1.0, 3166, 1.2.2%/>

{!— E.i.9: Identification of the Country Where the Reaction / Event Occurred #7 —>

{/locatedPlace>
{/locatedEntity>
{/location>
¢outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>

{code code="30" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19"7 codeSystemVer51on— .17

displayName="reactionForTranslation”/>
{value xsi:type="ED"™>E.1i.1.2¢/value>

<}—- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 -->

{/observation>
¢/outbotndRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN™>

{code code="37" codeSystem="2. 16. 840, 1. 113883, 3,989, 2. 1. 1. 19” codeSystemVersion="1.1"

displayName="termHighlightedByReporter”/>

{value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883,3,989.2.1.1. 107

codeSystemVersion="1. 0"/>
* ¢l-— E. i.3.1:Term Highlighted by the Reporter #7 —>
{/observation>
{/outboundRelationship2>
CouthoundRelationship2 typeCode="PERT">»
{observation classCode="0BS" moodCode="EVN">

{code cade="34" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="resultsInDeath”/>
{yalue xsi:type="BL” value="true”/>
{1-— E.i.3.2a! Results in Death #7 —>
{/observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN"»

{code cade="21" codeSystem="2, 16. 840, 1, 113883. 3.989.2. 1. 1. 19" codeSystemYersion="1.1

displayName="isLifeThreatening”/>
{value xsi:type="BL” nullFlavor="NI"/»
{!— E.i.3.2b: Life Threatening #7 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>

<code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1

displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true”/>
¢l— E.i.3.2c: Caused / Prolonged Hospitalisation #7 —>
</observation> )
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">

»

»

{code code="35" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 13" codeSystemVersion="1.1"

displayName="resultsInPersistentOrSignificantDisability”/>
' <value xsi:type="BL” nullFlavor="NI"/>
{!== E.i.3.2d: Disabling / Incapacitating 7 -
{/observation>
{/outboundRelationship2>



{outboundRelationship2 typeCode="PERT">
{observation classCode="0B5" moodCode="EVN™>
Ccode code="12" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,17
displayName="congenitalAnomalyBirthDefect”/> ‘
{value xsi:type="BL"” nullFlavor="NI1"/>
{l=- E.i.3.2e: Congenital Anomaly / Birth Defect #7 -=>
{/observation>
¢/outboundRelationship2>
<outhoundRelationship2 typeCode="FPERT">
<observation classCode="0BS" moodCode="EVN"> .
{code code="26" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallylmportantCondition”/>
{value xsi:type="BL" value="true”/>
¢!-— E.i.3.2f: Other Medically Important Condition #7 —>
<{/observation
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN™>
<code code="27" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1",
displayName="outcome”/>
<value xsi:type="CE” code="E.i.7" codeSystem="2.16.840. 1, 113883.3.989.2. 1.1, 11"
codeSystemVersion="1.0"/>
{l== E.i.7: Outcome of Reaction / Event at the Time of Last Observation #7 —>
{/observation> -
{/outboundRelationship2>
<outbhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{code code="24" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
<l-- E.i.8: Medical Confirmation by Healthcare Professional #7 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2. 1. 10" codeSystemVersion="1.0"
displayName="3241 « BE&0"/> . )
<value xsi:type="CE" code="J2.14.1" codeSystem="2. 16.840.1.113883.2.989.5.1.3.2.1,8"
codeSystemVersion="1.0"/>
<l 88BJ2. 14.i R« BB #T —
{/observation?
{/outboundRelationship2>
{/observation)
{/subject0f2>
{subject0f2 typeCode="SRJ">
{observation classCode="0BS" moodCode="EVN™>
<id root="al5be(92-8070-426d-af04-6863263443e0"/>
{code code="29" codeSystem="2. 16, 840. 1. 113883. 3.989. 2. 1, 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
: {effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_TS™>
{low value="20000101"/>
{!— E.i.4: Date of Start of Reaction / Event #8 ——>
<width value="24" unit="E. i, 8b"/>
{l— E.i.6a: Duration of Reaction / Event (number) #8 -->
{1— E.i.6b: Duration of Reaction / Event (unit) #8 —>
</comp>
{comp xsi:type="IVL_TS" operator="A">
<high value="20101201"/>
¢l-- E.i.5: Date of End of Reaction / Event #8 ——>
<{/comp>
{/effectiveTime>
(value xsi:type="CE” code="E.i.2.1b" codeSystem="2. 16.840. 1. 113883, &, 163"
codeSystenVersion="E. i. 2. 1a™>
¢1-- E.i.2. 1a: MedDRA Version for Reaction / Event #§ —>
¢l-— E.i,2.1b: Reaction / Event (MedDRA code) #8 —>
{originalText language="E. i. 1. 1b">E. 1. 1. la¢/originalText>
{1-- E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #8 -——>
¢1— E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Language #8 —>



{fvalue>
(location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E. i.9" codeSystem="1.0.3166.1.2.2"/>
€l— E.i.9: Identification of the Country Whore the Reaction / Event Qccurred #8 —>
{/locatedPlace>
{/locatedEntity>
{/location>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0B5" meodCode="EVN™>
{code code="30" codeSystem="Z, i6. 840. i. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<value xsi:type="ED™>E.i. 1. 2¢/value>
¢|— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 -—>
{/observation>
{/outboundRelationship2>

{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
¢code code="37" codeSysten="2. 16. 840. 1. 113283, 3,989, 2, 1. 1, 19" codeSystemVersion="1, 1*
displayName="termHighlightedByReporter™/>
<value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16. 840, 1. 113883, 3.989.2.1. 1. 107
codeSystemVersion="1.07/>
<]-- E.i.3.1:Term Highlighted by the Reporter £8 —>
{/chservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moadCode="EVN">
{code code="34" codeSystem="2. 16. 840, 1. 113883, 3,989.2.1.1. 19" codeSystemVersion="1.
displayName="resultsinbeath”/>
<value xsiItype="BL™ value="true”/>
¢I— E.i.3.2a: Results in Death #8 —>
{/cbservation>
{/outboundRelationship2>
<outboundRelaticnship2 typeCode="PERT">
{observation elassCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
" displayName="isLifeThreatening”/>
{value xsi:type="BL" nullFlaver="NI"/>
¢!— E.i.3.2b: Life Threatening #8 —>
{/vbservation>
{/outhotndRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16, 840, 1. 113883, 3, 889. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName= requ1resInpat1entHosp1tal1zat1on”/>
<value xsi:type="BL" value="true”/>
{I-— E.1i.3.2¢: Caused / Prolonged Hospitalisation #8 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="35" codeSystem="2, 16, 840. 1. 113883. 3.5989. 2. 1. 1. 19" codeSystemVersion="1.
displayName="resultsInPersistentOrSignificantDisability”/> '
<value xsi:type="BL" nullFlavor="NI"/>
{l— E.i.3.2d: Disabling / Incapacitating #8 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="12" codeSystem="2. 16. 840. 1. 113883 3,080,921, 1. 19" codeSystemVersion="1,1"
d1splayName— congenitalAnomalyBirthDefect”/>
<value xsi:type="BL" nullFlavor="NI"/>
{!-—— E.i.3.2e: Congenital Anomaly / Birth Defect #8 —>
{/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT >
{observation classCode="0BS™ moodCode="EVN">
{code code="26" codeSystem="2.16. 840. 1. 113883. 3. 989, 2. 1. 1. 19 codeSystemVersion="1.1"

—
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displayName="otherMedicallylmportantCondition”/>
{value xsi:type="BL" value="trus"/> _
¢l== E.i.3.2f: Other Medically Important Condition #8 —>
</observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="outcome”/>
{value xsi:type="CE” code="E.i.7" codeSystem="2, 16, 840, 1.113883, 3.989. 2.1, 1, 11"
codeSystemYersion="1.0"/>
{l-— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #8 —>
¢/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="E¥N">
<eonde code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="nedicalConfirmationByHealthProfessional”/>
<value xsi‘type="BL" value="true”/>
<l— E.i,8: Medical Confirmation by Healthcare Professional #8 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” maodCode="EVN">
{code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1, 0"
displayName="5% + BE£07/>
{value xsi:type="CE" code="J2.14.1” codeSystem="2. 16.840, 1. 113883.3.989.5.1,3.2. 1.8
codeSystemVersion="1. 0" />
<l-- @@8J2. 14.1 Kfn - RS0 #8 —>
<{/observation>
</outhoundRelationship2>
{/observation> ,
{/subject0f2>
{subject0f2 typeCode="SB]">
<organizer classCode="CATEGORY” mocodCode="EVN">
<code code="3" codeSystem="2. 16, 840. 1. 113883. 3.989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="testsAndProceduresRelevantToTheInvestigation™/>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
{code code="F.r.2.2h" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
¢l=— F.r1.2.2a: MedDRA Versicn for Test Name #1 -->
¢!-- F.r.2.2b: Test Name (MedDRA code) #1 —>
<originalText>F. 1. 2. 1{/originalText>
¢!-— F.r.2.1: Test Name (free text) #1 —>
{/cade>
<effectiveTime value="200901017/>
<!-- F.r.1: Test Date #1 ==
<value xsi:type="IVL_PQ™>
! {center value="10" unit="meg/d1"/>
{l== F.r.3.2: Test Result (value / qualifier) #1 —>
¢!I-— F.r.3.3: Test Result (unit) #1 —>
{fvaluey ’
- {interpretationCode code="F.r.3.1" codeSystem="2, 16. 840. 1, 113883, 3.989. 2, 1. 1. 12"
codeSystemVersion="1.0"/>
<!=- F.r.8.1: Test Result (code) #1 -=>
{referenceRange typeCode="REFV">
{observationRange classCode="0BS" moodCode="EVN.CRT">
{value xsi:type="PQ” value="40" unit="mg/d1"/>
¢{1— F.r.4: Normal Low Value #1 —>
{interpretationCode code="L" codeSystem="2. 16. 840. 1. 113883. 5. 83" />
{/observationRange>
¢/referenceRange>
<referenceRange typeCode="REFV">
{ohservationRange classCode="0BS" moodCode="EVN.CRT™>
{value xsi:type="PQ” value="110" unit="mg/d1”/>
{l=- F.r.5: Normal High Value #1—>
{interpretationCode code="H" codeSystem="2. 16. 840. 1. 113883, 5. 83" />
{/observationRange>
{/referenceRange>



<outboundRelationship2 typeCode="PERT">
{observatien classCode="0BS" moodCode="EVN™>
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3,989, 2, 1. 1. 187 codeSystemVersion="1. 1%
displayName="comment”/>
{value xsi:type="ED">F.r.6<{/value>
{l=- F.r.6: Comments (free text) #1 —>
{/observation>
{/outhoundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="25" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1, 197 codeSystemVersion="1. 1
displayName="moreInformationAvailable”/>
<value xsi:type="BL" value="true”/>
{!—F.r.T: More Information Available #1 —>
</observation>
{/outboundRelationship2>
{/observation>

<{/component>
{companent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
{code code="F.r. 2 2b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="F.r.2.2a">
{!— F.r.2.2a: MedDRA Version for Test Name #2 —>
¢{l-= F.r.2.2b: Test Name (MedDRA code) #2 —->
{originalText>F. r. 2. 1{/originalText>
¢!~ F.r.2.1: Test Name (free text) #2 —>
</cade>
<effectiveTime value="20080101"/>
<|— F.r.1: Test Date #2 —>
<value xsi:type="IVL_PQ™>
{low nullFlavor="NINF"/>
<high value="10" unit="mg/dl” inclusive="false”/>
{/value>
¢!~— F.r.3.2: Test Rasult (value / qualifier) #2 -——>
<|— F.r.3.3: Test Result (unit) #2 -->
{1— LT 10 mg/dl #2 —>
{/observation>
<{/component>
{component typeCode="COMP”>
{observation classCode="0BS" moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r.2.2a">
<!— F.r.2.2a: MedDRA Version for Test Name #3 ~=>
{l— F.r.2.2b: Test Name (MedDRA code) #3 —>
{originalText>F. r. 2. 1{/originalText>
¢]l— F.r.2.1: Test Name (free text) #3 —=>
<feade>
CeffectiveTime value="20090101°/>
{!— F.r.1: Test Date #3 —>
<value xsi:type="IVL_PQ">
<low nuliFlavor="NINF"/>
<high value="10" unit="mg/dl” inclusive="true”/>
{/value? .
<{i—- F.r.3.2: Test Result (value / qualifier) #3 ——>
¢l— F.r.3.3: Test Result (unit) #3 —>
{i-- LE 10 mg/dl H3—>
</observation>
</component>
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
<code code="F.r.2. 2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F. r. 2.2a">
¢l— F.r. 2. 2a: MedDRA Version for Test Name #4 -—>
{!— F.r.2.2b: Test Name (MedDRA code) H4 -->
<originalText>F. r. 2. 1{/originalText>
{l— F.r.2.1: Test Name (free text) #4 —>
{/code>
<effectiveTime value="20090101"/>
<l— F.r.1: Test Date #4 —>
Cvalue xsi:type="IVL_PQ™>
Clow value="10" unit="mg/d1l” inclusive="false”/>
<high nullFlavor="PINF"/>



</value>
{l— F.r.3.2: Test Result (value / qualifier) #4 —>
¢l— F.r.3.3: Test Result (unit) #4 —>
<l-- GT 10 mg/dl #4 —>
{/observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystenVersion="F.r. 2. 2a™>
¢l-= F.r.2.2a: MedDRA Version for Test Name #5 ——>
<I-- F.r.2.2b: Test Name (MedDRA code) £5 ——>
. <originalText>F. r. 2. 1<{/original Text>
{!== F.r.2.1: Test Name {(free text) #5 —>
</code>
effectiveTime value="20090101"/>
{l==F.r.1: Test Date #5 —>
<value xsi:type="IVL PQ™>
<low value="10" unit="mg/d1” inclusive="true”/>
<high nullFlavor="PINF"/>
</value> .
<! F.r.3.2: Test Result (value / qualifier) #5 —>
<!— F.r.3.3: Test Result (unit) #5 ——>
l=- GE 10 mg/dl #5 —>
</cbservation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS" moodCade="E¥N">
{code code="F.r.2.2b" codeSysten="2. 16. 840, 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a™>
<l-- F.r.2.2a! MedDRA Version for Test Name #6 —>
{l== F.r.2.2b: Test Name (MedDRA code) #6 —>
<originalText>F. r. 2. 1</original Text>
¢!-- F.r.2.1: Test Name (free text) #6 —>
{/code>
{effectiveTime value="20090101"/>
{!— F.r.1: Test Date #6 —>
<value xsi:type="ED">F.r.3.4¢{/value>
<!— F.r 3.4: Result Unstructured Data (free text) #6 —>
{/observation>
</component>
{/organizer>
</subject0f2>
¢subject0f2 typeCode="SBI">
{organizer classCode="CATEGORY" moodCode="EVN">
<code code="4" codeSystem="2. 16. §40. 1. 113883. 3. 989, 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="drugInformation”/>
<!— G.k Drug(s) Informstion (repeat as necessary) #1 —>
{component typeCode="COMP™>
{substanceAdministration classCode="SBADM™ moodCode="EVN">
<id root="3c91b4d5~e039-4a7a-0cI0-6T671b0ef0ed” />
{consumable typeCode="CSM">
{instance0fKind classCode="INST">
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
{code code="G.k.2.1.1b" codeSystem="TBD-MPID" codeSystemVersion="G.k. 2.1.1a"/>
<l— G.k 2.1, la: MPID Version Date / Number #1 --3
{!— G.k. 2.1, 1b: Medicinal Product Identifier (MPID) #1 —>
<name>G. k. 2. 2¢{/name> .
<I— G.k.2.2: Medicinal Product Name as Reported by the Primary Seurce #I ——>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SB]™>
<approval classCode="CNTRCT” moodCode="E¥N">
<id extension="0. k. 3. 17 root="2.16. 840, 1. 113583. 3. 989.2.1.3. 4" />
<l—— 6.k.3.1: Authorisation / Application Numher #1 -->
<holder typeCode="HLD">
<role classCode="HLD">
{playingOrganization classCede="0RG" determinerCode="INSTANCE™>
<name>G. k. 3. 3</name> .
<}~ G. k. 3.3: Name of Holder / Applicant #1 ——>
</playingOrganization>
{/role>



</holder>
<author typeCode="AUT">
(territorialAuthority classCode="TERR™>
{territory classCode="NAT" determinerCode="INSTANCE">
<code cade="G.k.3.2" codeSystem="1.0. 3166. 1.2.2"/>
¢1-- G.k.3.2: Country of Authorisation / Application #1 —>
{/territory>
{/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT">
<policy classCode="POLICY” moodCode="EVN">
<code code="JZ. 5.k~ codeSystem="2. 16. 540. I. 113883, 3.989.b.1.3.2.1. 4
codeSystemVersion="1.0"/>
<l— eeajz. 5 k: —RAEELMEFOY A EH% 41 —
{/policy>
{/pertinentInformation>
{/approval®

¢/subjectOf>
{subjectOf typeCode="SBI">
{characteristic classCode="0BS" moodCode="EVN">

{code code="1" codeSystem="2, 16.840. 1. 113883, 3.989. 5.1, 3.2. 1, 107
codeSystemVersion="1. 0" displayName="HERDEORRES"/>
<value xsi:type="CE~ code="JZ.4.k" codeSystem="2. 16. 840. 1. 113883. 3.989.5.1.3.2.1. 3"

codeSystenVersion="1, 0"/
(l-- 800]2. 4. k: FIEERFORRES #1 —
{/characteristic> ’
</subjectQf>
</asManufacturedProduct>
CasSpecializedKind classCode="GEN">
{generalizedMaterialXind classCode="MAT" determinerCode="KIND">
{code>
<originalText>J2. 12{/originalText>
1— eajz. 12: WRESRE

¢/code>
- {/generalizedMaterialKind>
{/asSpecializedKind>
<ingredient c¢lassCode="ACTI™>
<quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
¢{1— 6.k 2.3.r. 3a: Strength (number) #1-1 -=>

== G.k.2.3.r.3b: Strength (unit) #I-1 —>
<dencminator value="1%/>

{/quantity>
¢ingredientSubstance classCode="MMAT” determinerCede="KIND">
<code code="G.k. 2. 3.r.2b" codeSystem="TBD-Substance”
codeSystemVersion="6. k. 2.3.r.2a"/>
{1— G.k.2.3.1.2a: Substance / Specified Substance TermID Version Date / Number #1-1
-—
¢l— G.k.2.3.r. 2b: Substance / Specified Substance TermID #1-1 —>
<name>G. k. 2. 3. r. 1{/nane>
¢l— G.k.2.3.1.1: Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
{/ingredient>
{ingredient classCode="ACTI">
{quantity>
{numerator value="10" unit="6.k. 2.3.1.3b"/> _
<l— G.k.2.3.1.3a: Strength (number) #1-2 —>
{l=— G.k.2.3.r.3b: Strength (unit) #1-2 -=>
{denominator value="1"/>
</quantity>
. ¢ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code code="G. k.2.3.1.2b" codeSystem="TBD-Substance”
codeSystemVersion="6. k. 2. 3. r. 2a"/>
¢l== G.k.2.3.1.2a: Substance / Specified Substance TermID Version Date / Number #1-2
-—>

¢l— G.k.2.3.r.2b: Substance / Specified Substance TermID #1-2 —>

{name>G. k. 2. 3. r. 1{/name>

{l=~ G.k.2.3.r.1: Substance / Specified Substance Name #1-2 —>
{/ingredientSubstance>



{/ingredient>
</kind0fProduct>
<subjectOf typeCode="SB]">
<productEvent c¢lassCode="ACT" moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1, 0"
displayName="retailSupply”/>
{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<addr>
{eountry>G. k. 2. 4¢/country>
¢}— G.k. 2.4! Identification of the Country Where the Drug Was Dbtalned #1 —>.
</addr>
{/representedOrganization>
{/assignedEntity>
{/performer>
</productEvent>
{/subject0f>
{subjectOf typeCode="SBJ">
<observationEvent classCode="0BS" moodCode="EVN™>

{code code="2" codeSystem="2, 16, 840. 1, 113883, 3. 989.5.1,8.2. 1. 10"
codeS]rstemVersmn- 1.0" displayName="—fx FAEIMH O AFELE" > ]
<value xsi:type="CE” code="]J2.6.k" codeSystem="2. 16.340. 1. 113883, 3.989.5. 1. 3. 2. 1. 5"

codeSystemVersion="1.0"/>
I— e28)2. 6. k: —EAEEROAFTEE #1 —
{/chservationBvent>
{/subject0f>
{/instance0fKind>
{/consumable>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k 9.i.3.1b"/>
<!=— G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #1 —>
{l-- G.k.9.1,3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit} Drug #1, Reaction #1 -
{actReference classCode="0BS” moodCode="EVN™>
<id root="154eb889-958b—45f2-a02f-42d4d6£4657F" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit= 6.k 9. i. 3. 2b"/>
<l-— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number} Drug #1, Reaction #1 —>
{!— G6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unlt) Drug #1 Reaction #1 =)
<actReference ¢lassCode="0BS" moodCode="EVN">
{id root="154eb889-958b=45{2~a02f~42d4d6F4657F" />
{/actReference>
<{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k. 9.i.3. 16"/
¢l— G.k.9.4. 3. la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number} Drug #1, Reaction #2 -->
{!— G, k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #I, Reaction #2 —>
{actReference classCode="0BS" moodCode="EVN">
¢id root="2baa28d6-c9e8-4e6c—93e9-6bBAOL314220" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>

¢l-- 6. k. 9.1.3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #2 —>
<1-— G, k. 9.i.3, 26! Time Interval between Last Dose of Drug and Start of Reaction / Event

{unit) Drug #1, Reaction #2 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="2baa28d6-cIe8-debc-93e9-5b860b314220" />
{/actReference>
{/outboundRelationshipl>



<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" upit="G.%.9.1i.3.1b"/>
¢l== G.%.9.i.3.la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #3 -—> ' )
{!— G.% 9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #3 —>
¢actReference classCode="0BS" moodCode="EVN">
<id root="3a8626ch-9f1b~4ea8-8a0f-e0ff34430adf" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>

{pausefuantity value-"i0" unit-"G.k. 5.1.3.20"/>

¢l—— G,k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #3 —> : ' .

¢|— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

{unit) Drug #1, Reaction #3 —>
{actReference classCode="0BS" moodCode="EWN">

¢id root="3a8626ch-9f1b—4ea8-8alf-e0ff34430adf" />
</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
(-~ G.k.9.1.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #4 ——>
¢(!— G.k.9.1.3.1b: Time Interval hetween Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #4 ~—>
{actReference classCode="0B5" moodCode="EVN">
<id root="2e99840f~08b4-499c-80rf-dd8415f4fBa5" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1.3.20"/>
4= G.%.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #4 —=>
¢]— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #4 —>
<actReference classCode="0DBS” moodCode="EVN™>
<id root="2e99840f-08b4~499c-B0ff-dd8415f4f8ab" />
{/actReference>
</outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
{I-— G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug f1, Reaction #5 —->
¢l— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administratien and Start of
Reaction / Event (unit) Drug #1, Reaction #5 —>
CactReference classCode="0BS" moodCode="EVN™>
<id root="1071064c-cf10~4a3b-83c1-34f9ddbTeabd” />
{/actReference’
¢/outboundRelationshipl>
¢outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G. k.9 1.3.20"/>

¢}-- G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #5 —>
¢!-— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #1, Reaction #5 —>
CactReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10~-4a3b-83c1-34f0ddbTeatid” />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="S45™>
<pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>

¢1-— 6. k.9.i. 3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #6 ——>
¢!=— G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of

Reaction / Event (unit) Drug #1, Reaction #6 —>
<actReference classCode="0B5” mocdCode="EVN™>
<id root="1f927283-10b6-4334-9d43-2925640fb18£"/>
{/actReference>



<{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" uwnit="G.k.9.1.3.2b"/>
¢l 6.k.9.1.3.%a: Time Interva) between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #6 ~>
¢!— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #6 —>
<actReference classCode="0BS” mocdCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640Fb18E" />
¢/actReference> :
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k 9.i.3.1b"/>
{l=-= 6.k 9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #7 —>
{1— 6.%.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit} Drug #I, Reaction #7 ——>
{actReference classCode="0B5" moodCode="EVN">
<id root="e0342969-38be~423f-b6bb-cel4bc279d8e” />
</actReference>
 {/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<{pauseuantity value="10" unit="G.k.9.i.3.2b"/>
¢l== 6. k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #7 —>
¢l— 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #7 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="e0342969-38be—423f-bbbb~cel4bc279d8e” />
</actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
{l-— G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {number) Drug #1, Reaction #8 —>
<{!— G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #8 —>
<actReference classCode="0BS” moodCode="EVN™>
{id root="al5be092-8070-426d-af04-68632634430° />
</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/> )
<l— G,k 9.i.3 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #8 —>
{l-= 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #8 —>
‘ <actReference classCode="0BS” mocdCode="EVYN">
{id root="al5beD92-8070-426d~-af4-68632634430"/>
(/actReference>
</outboundRelationshipl>
{outboundRelationship2? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="6" codeSystem="2, 16, 840. 1. 113883, 3,989, 2, 1. 1, 19" codeSystemVersion="1.1"
displayName="blinded”/> '
<value xsi:type="BL" value="true"/>
¢l=- G.k.2,5: Investigational Product Blinded #1 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
¢{!-- G.k.4.r: Dosage and Relevant Information (repeat as necessary} #1-1 —>
¢substanceAdministration classCode="SBADM” moodCode="EVN">
{text)G. k. 4. r. 8</text>
¢{I—= G.k.4.r.8: Dosage Text §I-1 —>
{effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS">
{period value="10" unit="G. k. 4.r.3"/>
{I— G.k.4.r.2: Number of Units in the Interval #1-1 -->
¢l== G.k.4.1r.3: Definition of the Time Interval Unit #1-1 —>



{/comp>
<comp xsiitype="IVL_TS™ operator="A">
¢low value="200901017/>

(le—G.k.4.1.4: Date and Time of Start of Drug f#1-1 —>

<high value="20090101"/>

¢I— G.k.4.r.5: Date and Time of Last Administration #1-1 —>
</comp>

<comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k 4 r.6b"/>
¢!— G.k.4.r.6a: Duration of Drug Administration {number} #1-1 —>
<l— G.k.4.r.6b: Duration of Drug Administration {unit) #1-1 -->
{/comp>
{/effectiveTime> ) .
{routeCode code="G. k. 4.r. 10. 2b" codeSystem="2. 16, 840. 1. 113883.3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a™>
<l— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-1 -->
{]— G.k.4.1r.10.2b' Route of Administration TermID H1-1 -->

{originalText>G. k. 4. r. 10. 1{/originalText>
¢]— G.k.4.1,10.1: Route of Administration {(free text} #1-1 —>
{/routeCode’
<doseQuantity value="10" unit="G. k.4 r. 16"/>
<!— G.k.4. 1. la Dose {number} #1-1 -->
¢!— G.k.4.1.1b: Dose (unit) #1-1 —>
{consumable typeCade="CSM™>
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7{/1lotMumberText>
{I— G.k.4.1.7: Batch / Lot Number #1-1 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">

<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm~
codeSystenVersion="G. k. 4. 1.9, 2a">

¢l—— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-1 —>
{l== G.k.4.r. 9. 2b: Pharmaceutical Dose PForm TermiD #1-1 —>
{originalText>G. k. 4.r. 9. 1{/originalText>
<{l— G.k. 4.r.2 1: Pharmaceutical Dose Form (free text} #1-1 -

{/formCode>

</kind0fProduct>
</instance0fKind>
{/consumable>

¢inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="BVN">
{code code="28" codeSystem="2. 16.840, 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE" code="G.k. 4.r.11.2b" codeSystem="2. 16, 840, 1. 113883, 3.989. 2. 1. 1, 14"
codeSystemVersion="G. k. 4. 1. 11. 2a">
{1=- G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #i~1
' d
1= G.k.4.r.11.2b: Parent Route of Administration TexrmID #i-1 —>
{originalText>G. k. 4. r. I11. 1</originalText>
<]— G.k.4.r.11.1: Parent Route of Administration (free text) #1-1 —>
</valued
</observation>
</inboundRelationship>
{/substanceAdministration>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™> )
¢I-— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-2 —>
(substanceAdministration classCode="SBADM" mocdCode="EVN™>
{text>G. k. 4.r. B</text>
{— G.k. 4. 1.8: Dosage Text #1-2 —>
CeffectiveTime xsi:type="SXPR_TS™>
Ccomp xsi:type="PIVL_TS">
{period value="10" unit="G.k.4.r.3"/>

<l— G.k.4.1.2: Number of Units in the Interval #1-2 —>
{l— G, k.4.r.3: Definition of the Time Interval Unit #1-2 —>
</comp>

<comp xsi:type="IVL_TS” operator="A">
{low value="20090101"/>



{!— G.k.4.r.4: Date and Time of Start of Drug #1-2 —>
<high value="20090101"/>
<!— G,k.4.r.5: Date and Time of Last Administration #1*2 -
</eomp>
{/effectiveTime>
{routeCode code="G.k. 4. r.10.2b" codeSysten="2. 16.840. 1. 113883, 3. 989. 2. . 1. 14"
codeSystemVersion="G. k. 4.r. 10. 2a™>
=~ G. k. 4.1.10. 2a* Route of Administration TermID Version Date / Number #1-2 —>
<{!— G.k.4.1.10.2b: Route of Administration TermID #1-2 —>
{originalText>G. k. 4. r, 10. 1<{/originalText>
<I— G. k. 4.1.10. 1 Route of Administration {free text) #1-2 —>
</routeCode>
{doseQuantity value="10" unit="G.k.4.r. 16"/
<l— G.k.4.1. 1a Dose {number) #1-2 —=>
<!== G.k.4.1.1b: Dose (unit) #1-2 —>
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determlnerCode— INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l— G, k.4.r.7: Batch / Lot Number #1-2 —>
</productInstancelnstance>
<kind0OfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”

codeSystemVersion="G. k. 4.r. 9. 2a™>
¢!— G, k. 4.1, 9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 —->
¢}=— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-2 -->
{originalText>G. k. 4.r. 9. 1{/original Text>
¢l— G.k.4.7.9,1: Pharmaceutical Dose Form (free text) #1-2 —>
</formCode>
</kind0fProduct>
{/instanceOfKind>
{/consumahle>

<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN™>
{code code="28" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/> .
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. 1. 11.2a™>
<{I— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-2
—>
<{!— G. k. 4.1.11. 2b: Parent Route of Administration TermID #1-2 —>
{originalText>G. k. 4. r. 11. 1¢/originalText>
{!=— G.k.4.r.11.1: Parent Route of Administration {free text) #1-2 -->
</value>
<{/observation)
{/inboundRelationship>
{/substanceAdministration>
</outhoundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢1— G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-3 -—»
<substanceAdministration classCode="SBADM" moodCode="EVN">
{text)G k. 4. 1. 8{/text>
<{I— G.k.4.1.8: Dosage Text #1-3 —>
CeffectiveTime xsi:type="SXPR_TS™>
Ccomp xsi:type="PIVL_TS™>
{peried value="10" unit="G. k. 4.r. 3"/>
<l=- G.k.4.r.2: Number of Units in the Interval #1-3 —>
<= G.k.4.1.3: Definition of the Time Interval Unit #1-3 —
</comp>
{comp xsi:type="IVL_TS" operator="A">
<low value="20080101"/>
{l=- G.k. 4.1, 4: Date and Time of Start of Drug #1-3 -
 <width value="4" unit="G. k. 4.r.6b"/>
¢!-— G. k.4.r. 6a: Duration of Drug Administration (number) #I-3 —>
<!— G.k.4.r.6b: Duration of Prug Administration {unit) #1-3 —>
{/comp>
{feffectivelime>
{routeCode code="G.k.4.r.10.2b" codeSystem="2, 16.840. 1, 113883, 3. 989, 2, 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a™>



¢{l— G.k.4.r.10,2a: Route of Administration TermID Version Date / Number #1-3 —>
<l— G.k.4.r.10.2b: Route of Administration TermID #1-3 —>
<originalText>G. k. 4. r. 10. 1<{/originalText>
<{l—- G.k.4.1.10. 1: Route of Administration (free text) #1-3 —
{/routeCode> .
<doseQuantity value="10" unit="G.k% 4.1.1b"/>
{1— G.k.4.r. la Dose (number) #1-3 —>
¢l-- G.k. 4. r. 1b: Dose (unit) #1-3 —>
{cansumable typeCode="CSH">
<instanceOfKind classCode="INST™>
¢productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4, r. 7¢/lotNumberText>
{l— G.k.4.r.7: Batch / Lot Number #1-3 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">

- {formCode code="6.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystenVersion="G. k. 4., 9, 2a">
¢{I— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 —>
{I— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID H1-3 -=>
{originalText>G. k. 4. . 9. 1<{/originalText>
¢{!— G.k.4.r.9, 1: Pharmaceutical Dose Form (free text) #1-3 —>
</formCode>
</kindCfProduct>
</instance0fKind>
{/consumable>

<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1, 19" codeSystemVersion="1,1"
* displayName="parentRouteOfAdministration”/>
<value xsi!type="CE" code="G.k.4.r.11. 2b" codeSystem="2. 16, 840, 1, 113883. 3. 98%. 2, 1. 1, 14¥
codeSystemVersion="G. k. 4.1. 11. 2a™>
¢l— 6.k 4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #I-3
-~
<l— G.l. 4. 1. 11. 2b: Parent Route of Administration TermID #1-3 —>
{originalText>G. k. 4. r. 11. 1</originalText>
{l-- G. k. 4 r. 11 1: Parent Route of Administration {free text) #1-3 —>
</value>
{/observation>
{/inboundRelationship>
{/substanceAdninistration’
{/outboundRelationship2>
<outboundRelationship? typeCode="COMP">
¢|— G.k.4.1: Dosage and Relevant Information {repeat as necessary) Rl-4 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text?6G. k. 4. 1. B/text>
¢|— G.k 4.r.8: Dosage Text #1-4 —>
{effectiveTime zsi:type="S¥PR_TS™>
{comp xsi:type="PIVL_T5"> .
¢period value="10" unit="G.k. 4.r.3"/>

- G.k.4.r.2! Number of Units in the Interval #1-4 -->
¢}— G.k.4.r.3: Definition of the Time Interval Unit #1-4 —>
{/comp>

{comp xsi:type="IVL_TS" operator="A">
{width value="4" unit="G.k. 4. r.6b7/>
<{!— G.k. 4, 1.6a: Duration of Drug Administration {number) #1-4 —>
{l-- G.k. 4.1.6b: Duration of Drug Administration {unit) #I-4 -->
<high value="20090101"/>
¢l— G.k.4.r.5: Date and Time of Last Administration #1-4 —>
</comp>
{/effectiveTime>
<routeCode code="G, k. 4. 1. 10, 2b” codeSystem="2. 16. 840. 1. 113683, 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a">
¢l-= G.k.4.r. 10. 2a: Route of Administration TermID Version Date / Number #1-4 -—>
<= G.k.4.r. 10.2b: Route of Administration TermID #1-4 -->
{originalText>G. k. 4. r. 10. 1<{/originalText>
¢{]—— G.k.4.r.10.1: Route of Administration (free text) #i-4 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
¢!— G.k.4.r.1a Dose (number) B1-4 —>



{l— G.k.4.r.1b: Dose (unit} #1-4 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G, k. 4. r. 7</lotNumberText>
<|— G.k. 4.r. 7: Batch / Lot Number #1-4 —>
</productInstanceInstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G. k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1. 9. 2a™>
¢!~ G.k.4.7r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #l1-4 —
<!— G, k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-4 -->
<originalText>G. k. 4.r. 9. 1{/originalText>
{l=- G.k.4.1.9.1: Pharmaceutical Dose Form (free text) Hi—-4 —>
</TormCode>
</kindOfProduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2, 16, 840. 1. 113883. 3.989. 2, 1. 1. 19" codeSystemVersion="1, 1"
displayName="parentRouteOfAdministration”/>
{value xsi!type="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840, 1. 113883. 3. 989, 2, 1. 1. 14"
codeSystemVersion="G. k. 4.r. 11.2a™>
{l== G. k. 4.1. 11. 2a: Parent Route of Administration TermID Version Date / Number #1-4
—>
¢le= G.k.4.r.11.2b: Parent Route of Administration TermID #1-4 —>
<originalText>G, k. 4. r. 11, I{/originalText)>
¢{I— G.k.4.r.11, 1: Parent Route of Administration (free text) #1-4 —>
{/value>
{/observation>
{/inboundRelationship)
{/substanceAdministration?
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
¢l— G. k. 4.r: Dosage and Relevant Information (repeat as necessary} H1-5 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text)G. k. 4. r. 8</text>
¢l=- G.k.4.r.8: Dosage Text #1-5 —>
CeffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="I¥L_TS">
<low value="20090101"/>
{l== G.k.4.1.4: Date and Time of Start of Drug #1-5 —>
<high value="20090101"/>
¢{l— 6.k.4.r.5: Date and Time of Last Administration #1-5 —>
{/comp> '
<comp xsi:type="IVL_TS" operator="A">
{width value="4" unit="G.k. 4.r.6b"/>
¢!-= G.k.4.r.6a: Duration of Drug Aduinistration (number) #1-5 —>
<{l== G.k. 4.r.6b: Duration of Drug Administration (unit) #1-5 —>
</comp>
{/effectiveTime>
{routeCode code="G.k. 4. r. 10, 2b" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1, 1, 14"
codeSystemVersion="G. k. 4, r. 10, 2a™>
<]— G.k 4.1.10.2a: Route of Administration TermID Version Date / Number #1-5 -->
{!— G.k.4.r.10. 2b: Route of Administration TexrmiD #1-5 —>
<originalText>G, k. 4.1, 10, 1</originalText>
€l— G.k.4.r.10.1: Route of Administration (free text) #1-5 ——>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.r.1b"/>
¢l— G.k.4.r. la Dose (number} #1-5 ——>
{le= G.k.4.1.1b: Dose (unit) #1-5 ~->
{consumable typeCode="CSM">
<instanceOfKind classCade="INST™>
<{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
<{lotNumberText>G. k. 4. r. 7{/IotNumberText>
{le- 6. k. 4.r.7: Batch / Lot Number #1-5 —>
{/productInstancelnstance>
<kindOfFroduct classCode="MMAT" determinerCode="KIND">



<formCode code="G.k.4.r.8.2b" codeSysten="TED-DoseForm™
codeSystemVersion="G. k. 4.1. 9. 2a"> . : )
¢l== 6.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-5 —>
<{!|— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-5 —>
<originalText>G. k. 4.1, 9. 1<{/originalText>
{}-- G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-6 —>
</formCode>
</kind0fProduct>
{/instanceOfKind>
{/consumable>
{inboundRelationship typeCodo="REFR™>
<ohservation classCode="UBS" moodUode="EVN">
<code code="28" codeSystem="2.16. 840. 1, 113883. 3.980. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16.840. 1. 113883, 3. 989.2.1. 1, 14"
codeSystemVersion="G. k. 4. 1. 11, 2a™>

¢l== G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number ¥1-5
_> .
¢{l— G.k.4.r. 11. 2b: Parent Route of Administration TermID #1-5 —>
<originalText>G. k. 4. r. 11. 1</originalText>
<|— G.k.4 r.11.1: Parent Route of Administration (free text) #i-5 —>
</value>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
{/outbottndRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢!— G. k. 4.r: Dosage and Relevant Information {repeat as necessary) §1-6 -->
{substanceAdministration classCode="SBADM™ moodCode="EVN™>
CtextG, k. 4. . 8¢/text>
{!— G.k.4.r.8: Dosage Text #1-6 —>
<effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
¢period value="10" unit="G. k. 4.r.3°/>

<l— G.k.4.r.2: Number of Units in the Interval #1-6 —>
{l— G.k.4.r. 37 Definition of the Time Interval Unit #1-6 —>
{/comp>

<comp Xsi:type="1VL_TS" operator="4">
<low value="20090101"/>
¢}=- 6. k. 4.1.4: Date and Time of Start of Drug #1-6 —>
<width value="4" unit="G.k.4.1.6b"/">
¢l— G.k. 4.r.6a’ Buration of Drug Administration (pumber) #1-6 —>
¢l== G. k. 4.r.6b: Puration of Drug Administration (unit) #1-6 —>
{/conp>
<comp xsi:type="IVL_TS" operator="A">
<high value="20090101"/>
¢l— G.k.4.1.5: Date and Time of Last Administration #1-6 —>
<{feomp?
{/effectiveTime>
<routeCode code="G. k. 4. r. 10.2b" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 10. 2a™>
&l— G.k.4.1.10. 22: Route of Administration TermID Version Date / Number #1-6 —>
¢l—— G.k.4.r.10.2b: Route of Administration TermID #1-6 —>
¢originalText>G. k. 4. r. 10. 1{/originalText>
<!— G.k. 4.r.10.1: Route of Administration (free text) #I1-6 -—>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
<4== G.k. 4.1.1a Dose (number) #1-1 ——>
{— G.k. 4. 1. 1b: Dose {unit) #1-1 —>
{constumable typeCode="CSM">
{instance0fKind classCode="INST">
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
¢]— G.k.4.r.7: Batch / Lot Number #1-1 —> °
{/productInstanceInstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-BoseForm”
codeSystemVersion="G. k. 4. 1. 9. 2a™>
¢l~~ G. k. 4.1.9.2a: Pharmaceutical Dose Form TexmID Version Date / Nuwber #1-6 —>



¢!— G,k 4,1.9. 2b: Pharmaceutical Dose Form TermiD #1-6 —>
{originalText>G. k. 4. 1. 9. 1{/originalText>
¢{l— G.k.4.r.9.1: Pharmaceutical Dose Forn (free text) #1~6 -->
{/formCode>
</kindOfProduct>
</instance0fKind>
{/consumable>
{inboundRelatienship typeCode="REFR">
{observation classCode="0BS” moodCode="EVYN">
{code code="28" codeSystem="2, 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteQfAdministration™/> '
<{value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16, 840. 1. 113883. 2. 989, 2. 1. 1. 14"
codeSystemVersion="6. k. 4.1.11. 2a™>
. <!— G.k.4.7.11.2a: Parent Route of Administration TermID Version Date / Number H1-6
-
¢!=- 6.k.4.r.11. 2b: Parent Route of Administration TermID #1-6 —>
Corigina)Text>G. k. 4. r, 11. 1</originalText>
¢{l— G.k.4.1r.11.1: Parent Route of Administration (free text) RI-6 —>
</value>
{/cbservation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outbhoundRelationship? typeCode="COMP™>
<{!-— G. k. 4.x: Dosage and Relevant Information (repeat as necessary} #1-7 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
¢l— G.k.4.r.8: Dosage Text #1-7 —>
<effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="IVL_TS">
<low value="20090101"/>
{!— G.k.4.1.4: Date and Time of Start of Drug #1-7 -=>
{width value="4" unit="G.k. 4.r.6b"/>
<)— G. k. 4.17.6a! Duration of Drug Administration (number) #1-7 —> .
<!— G.k. 4.r.6b: Duration of Drug Administration (unit) #1-7 -->
</comp>
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
¢~ G k.4.r.5: Date and Time of Last Administration #1-7 —
</comp>
{/effectiveTime>
{routeCode code="G.k. 4.r. 10.2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a™>
<l-— G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #1-7 —>
)= G,k 4.1r.10. 2b: Route of Administration TermID #1-7 =->
<originalText>G. k. 4. r. 10, 1</originalText>
{l-— G.k.4.r.10. 1: Route of Administration (free text) #1-7 —>
</routeCode>
{doseQuantity value="10" unit="G.k.4.z1.1b"/>
¢l— G.k.4.r.1a Dose (humber) #i~7 -->
{I== G.k.4.1.1b: Dose (unit) #1-7 =D
{consumable typeCode="CSM™>
{instance0fKind classCode="INST">
<{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{l== G.%k. 4.1.7: Batch / Lot Number #1-7 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k. 4.1.9,2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 8. 2a"> :
¢l== G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-7 —>
<l== 6.k. 4.1r.9.2b: Pharmaceutical Dose Form TermID #1-7 ——>
CoriginalText>C. k. 4.r.9. 1{/originalText>
<!— G.k.4.1.8.1: Pharmaceutical Dose Form (free text) #I-7 —>
</formCode>
{/kind0fProduct>
</instanceQfKind>
{/consumable>
{inboundRelationship typeCede="REFR">



{observation classCode="0BS" moodCode="E¥N"> .
. <code code="28" codeSystem="2. 16. B40. 1. 113883, 3,989, 2, 1. 1. 197 codeSystemVersion="1,1"
displayName="parentRoute0fAdministration”/>
{value xsi:type="CE” code="G.k.4.1.11.2b" codeSystem="2. 15. 840, 1. 113883. 3. 986.2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 11, 2a">
<I— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-7
—>
<I-- G.k.4.r.11. 2b: Parent Route of Administration TermID #1-7 —>
 {originalText>G. k. 4. r. 11, 1{/originalText>
¢l— G.k.4.r.11, 1: Parent Route of Administration (free text} #1-7 —>
<value '
</ohservation> _
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelaticnship2>
{outboundRelationship2 typeCode="SUMM">
{observation classCode="0BS" moodCode="EVN">

<code code="14" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19”7 codeSystemVersion="1.1"
displayName="cumulativeDoseToReaction”/>
<value xsiztype="PQ” value="10" unit="G.k.5b"/>
¢l== G.k.5a: Cumulative Dose to First Reaction (number) #1 —>
¢{!— G.k.5h: Cumulative Dose to First Reaction (unit) #1 —>
{/observation>
</outbotndRelationship2>
<outboundRelationship2 typeCode="PERT")>
<observation classCode="0BS” moodCode="EVN"™>
{code code="16" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.17
displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="G. k. 6b"/>
¢|— G.k.Ba: Gestation Period at Time of Exposure (number) #1 —>
<l==- G.k.6b: Gestation Period at Time of Exposure (unit) #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<ohservation classCode="CBS" moodCode="EVN™>
. {code code="31" codeSysten="2. 16.840. 1. 113383, 3. 989, 2, 1, 1. 197 codeSystemVersion="1.1"
displayName="recurrance0fReaction”/>
{value xsi:type="CE" code="G.k.9.i.4" codeSystem="2. 16. 840. 1. 113883. 3.989. 2.1. 1, 16"
codeSystemVersion="1.07/>
¢!— G.k.9.i.4: Did Reaction Recur on Re—administration? Drug #1, Reaction #1 —>
<outboundRelationshipl typeCode="REFR") .
{actReference classCode="0BS" moodCode="BVN">
{id root="154eb8B9-958b—45F2-a02f-42d4d6f4657F" />
{/actReference>
</outboundRelationshipl>
{/observation> ’
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN"> )
<code code="31" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recttrrance0fReaction”/>
¢value xsi:type="CE” code="0.k.9.i.4" codeSystem="2, 16.840. 1. 113883.3.989.2. 1. 1. 167
codeSystenVersion="1.0"/>
¢!— G.k.9.1.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 —>
<outboundRelationshipl typeCode="REFR">
CactReference classCode="0BS” moodCode="EVN™>
<id root="2taal8d6-¢Ye8-4ebc-93e9-5b860b3142207 />
</actReference>
{/outboundRelationshipl>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="REFR™>
<ohservation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="codedDrugInformation”/> .
<value xsi:type="CE” code="G.k. 10.r" codeSystem="2. 16.840C.1.113883.3.989.2.1.1. 17"
codeSystenVersion="1.0"/>
<{!— G.k.10.r: Additional Information on Drug (ceded) (repeat as necessary) #1-1 ——>
</observation>



</outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="9" codeSystem— 2. 16:840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
{value xsi:type="CE” code="G.k.10.T" codeSystem='2.16.840.1.113883.3.989.2.1.1.17"
codeSystemVersion="1.0"/>
{!— G.k. 10.r: Additional Information on Drug {coded) (repeat as necessary) #1-2 -->
{/observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
<observation classCode="0B5" moodCode="EVN">
{code code="2" codeSystem="2. 16. 840, 1, 113883, 3. 989, 2, 1. 1, 19" codeSystemVersion="1,1"
displayName="additionalInformation”/>
{value xsi:type="ST">G. k. 11</value>
¢!— G.k.11: Additional Information on Drug (free text) #1 —
{/observation> .
{/outboundRelationship2>»
{inboundRelationship typeCode="RSCN™>
Cobservation classCode="0BS" moodCode="EVN">
{code code="19" codeSystem="2. 16, 840, 1. 113883, 3, 989, 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="indication”/>
{value xsi:type="CE" code="G. k. 7.r.2b" codeSystem=”2.16.840.1.113883.6.163’
codeSystemVersion="G. k. 7. r. 2a™>
(k—&minh:h@MVuﬂmwaMMHMnMﬂ-ﬁ
<— G. k. 7.r.2b: Indication {MedDRA code) #1-1 —>
<originalText>G. k. 7. r. 1</originalText>
<l— G.k 7.r.1: Indication as Reported by the Primary Source #1-1 —>
{/value>
{performer typeCode="PRF">
{assighedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2.16.840. 1. 113883.3.989.2, 1. 1. 21" codeSystemVersion="1, "
displayName="sourceReporter”/>
{/assignedEntity>
{/performer>
{/observation>
{/inboundRelationship>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS" moodCode="EVN™>
{code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
{value xsi:type="CE" code="G.k.7.1.2b" codeSystem="2, 16, 840, 1. 113883. 6, 163"
codeSystemVersion="6. k. 7. 1. 2a"> .
¢{!=— G. k. 7.7.2a: MedDRA Version for Indication #1-2 -=>
¢l— G.k. 7.r.2b: Indicaticn (MedDRA code) #1-2 —>
<originalText>G. k. 7. r. 1</original Text>
¢l— G.k. 7.r. 1 Indication as Reported by the Primary Scurce #1-2 -->
¢fvalue>
{performer typeCode="PRF">
{assignedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16, 840. 1. 113883. 3.989.2.1. 1. 21" codeSystemVersion="1.0"
displayName="sourceReporter”/> :
{/assignedEntity>
</performer>
{/observation>
{/inboundRelaticnship>
<inboundRelationship typeCode="CAUS™>
<act classCode="ACT" moodCode="EVN™>
{code code="G. k. 8" codeSystem="2. 16.840. 1. 113883, 3. 985. 2. 1. 1. 16” codeSystem¥Yersion="1.0"/>
<!— G.k 8! Action(s) Taken with Drug #1 —>
{/act>
</inboundRelationship>
¢{/substanceAdministration>
<{/component>
¢!— G.k Drug(s} Information (repeat as necessary) #2 -—>
<component typeCode="COMP™>
{substanceAdministration classCode="SBADM™ moodCode="EVN">
<id root="68d6f5ce~3b3b-45cT-92dd-69e06730c3a0"/>
{consumable typeCode="CSM">



<instance0fKind classCode="INST">
<kind0fProduct classCode="MMAT™ determinerCode="KIND">
<code code="G.k. 2. 1.2b" codeSystem="TBD-PhPID" codeSystemVersion="G.k.Z2. 1. 2a"/>
¢l== G.k. 2.1.2a: PhPID Version Date / Number #2 —>
<I— G.k.2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>G. k. 2. 2{/name>
¢l=~ G.k.2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SB]">
{approval classCode="CNTRCT* moodCode="EVN">
<id extension="G.k 3.1" root="2, 16, B40. 1. 113883.3.989.2. 1. 3.4"/>
{i— G.k.3.1: Authorisation / Applicetiion Number #Z ——>
<holder typeCode="HLD">
<role classCode="HLD">
<{playingOrganization classCode="ORG" determinerCode="INSTANCE">
{name>G. k. 3. 3{/name>
<I— 6.k 3.3: Neme of Holder / Applicant #2 -=>

{/playingOrganization>
{/role>
</holder>
<author typeCode="AUT">
{territorialAuthority classCode="TERR">
{territory classCode="NAT" determinerCode="INSTANCE™>
{code code="G.k.3.2" codeSyster="1.0.3166.1.2.27/>
{l-=- G.k. 3.2: Country of Authorisation / Application #2 —>
{/territory>
{/territorialAuthority>
{/author>
<pertinentInformation typeCode="PERT">
{policy classCode="POLICY" moodCode="EVN™>
{code code="J2.5.k" codeSystem="2. 16.840, 1. 113883, 3.989.5.1.3.2. 1.4
codeSystenVersion="1, 07/>
<— 2@8J2.5.k: —MAEESZEQYRIESYH #2 —
{/policy>
{/pertinentInformation>
{/approval>
{/subject0f>
{subjectOf typeCode="SB]">
{characteristic classCode="0BS" moodCode="EVN">
{eode code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2. 1. 107
codeSystemVersion="1. 0" displayName="FERMF DRRESR"/>
<value xsi:type="CE” code="]2.4. k" codeSystem="2.16.840.1. 113883.3.988.5.1.3.2.1.3"
codeSystemVersion="1.0"/>
<I-- @8eJ2. 4. k: FEFKKFORRES #2 —
{/characteristic>
</subject0f>
{/asManufacturedProduct>
¢ingredient classCode="ACTI">
{quantity>
<{numerator value="10" unit="G.k.2.3.r.3b"/>
¢l—~ 6.k.2.3.r.3a: Strength (number) #2-1 —>
{l— 6.k 2.3.1.3b: Strength (unit) #2-1 —>
<denominator value="1"/>
</quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND™>
<code code="G.k.2.3.r. 2b" codeSystem="TBD-Substance”
codeSystemVersion="G. k. 2. 3. 1. 2a"/>
{l—— G.k.2.3.1r.2a: Substance / Specified Substance TermID Version Date / Number #2-1
-
¢1— G.k.2.3.r.2b Substance / Specified Substance TermID #2-1 ——>
<{name>G, k. 2. 3. r, 1</hame>
¢l— G.k.2.3.r.1: Substance / Specified Substance Name #2-1 —>
{/ingredientSubstance>
{/ingredient>
{ingredient classCode="ACTI")
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
(- G.k.2.3.r.3a: Strength (number) #2-2 —>
{l—— G.k.2.3.r. 3k Strength (unit) #2-2 —>



{denominator value="17/>

</quantity>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G.k.2.3.r.2b" codeSysten="TBD-Substance”

codeSystemVersion="G.k.2.3.r. 2a"/>
<!— G.k.2.3.r. 2a: Substance / Specified Substance TermID Version Date/Number #2-2 —

>
<{l— 6.%k.2.3.r,2b Substance / Specified Substance TernlID #2-2 —>
<{name>G. k. 2. 3. r. 1<{/hane>
¢{l— G.k. 2.3.r. 1 Substance / Specified Substance Name #2-2 —>
(/1ngredlent5ubstance>
</ingredient>
</kind0fProduct>
{subjectOf typeCode="SB]™>
{productEvent classCode="ACT” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1, 0"
displayName="retailSupply”/>
{performer typeCode="PRF">
<assighedEntity classCode="ASSIGNED™>
{representedOrganization classCode— ORG”™ determinerCode="INSTANCE™>
{addr>
{country>G. k. 2. 4¢{/country>
{l== G.k.2.4: Identification of the Country Where the Drug Was Obtained #2 —>
{/addr>
(/representedOrganizatign)
{/assignedEntity>
{/performer>
</productBvent>
{/subjectOf>
<subject0f typeCode="SBI">
{cbservationEvent classCode="0BS" moodCode="EVN">

<code code="2" codeSystem="2. 16. 840, 1. 113883. 3. 989.5.1. 3. 2. 1. 10"
codeSystemVersion="1. " displayName="—RR I ERHOAFRE
<value xsi:type="CE" code="J2,6,k" codeSystem="2. 16, 240, 1, 113883, 3.989.5.1.3.2. 1.5"

codeSystemVersion="1.0"/>
Cl— BgaJz.6.k: —AEEMOAFEE H2 —
{/observationEvent>
</subject0f>
’¢/instance0fKind>
{/consumable>
CoutboundRelationshipl typeCode="SAS">
<pausefuantity value="10" wnit="G.k.9.1.3. 1"/
{l— G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #1-->
{!— G.k.9.1.3.1b: Time Interval between Beg1nn1ng of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #1 -=>
CactReference classCode="0B5S" moodCode="EVN™>
{id root="154eb889-958b-45f2~a02f~42d4d6f4657F" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k. 9.1.3.2b"/>
¢l=- G.k.9.1i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #1 -->
<!— G.k.9.1.3.2b: Tine Interval between Last Bose of Drug and Start of Reaction / Bvent
(unit) Drug #2, Reaction #1 —>
<actReference classCode="0BS” moodCode="EVN™>
<id root="154eb889-958b—4512-a02f—42d4d6f 46577 />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k 9.i.3.1b"/>
. {l-- G.k.9.1.3.1a: Time Interval hetween Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #2 -->
<!— G.%.9.i.3.1b: Tine Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS” moodCode="EVN">
{id root="2baa28d6-ce8-4ebc-93e5-5h860b314220" />
{/actReference>



{/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
<l-— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #2 —>
¢l=-= 6. k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #2 —>
. <actReference classCode="0BS™ moodCode="EVN™
¢id root="2baa28d6-c9e8-debc-93e9-6bB60LA142207 />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode-"SA3">
{pauseQuantity value="10" unit="G.k. 9.i.3.1b"/>

{l=- G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #3 —>
¢l-— G.k. 9.1, 3.1b: Time Interval between Beginning of Drug Administration and Start of

Reaction / Event (unit) Drug #2, Reaction #3 —>

{actReference classCode="0B3" moodCode="EVN™>
<id root="3a8626cb~0f1b~4dea8-8a0f-e0ff34430adf"/>
{/actReference>
(/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>

{pauseQuantity value="10" unit="G.k. 9.1.3. 2b"/>

<l== $.k.9.1. 3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #2, Reaction #3 —>

<l-- G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

{unit) Drug #2, Reaction #3 ~->
<actReference classCode="0BS" moodCode="EVN">
¢id root="3a8626cb-9f1b—4ealB-Ba0f—e0ff34430adf”/>
{/actReference
<{/outhoundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢l-- G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #4 —> -
¢I-— G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #4 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80ff-dd8415f4£8a5"/>
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k. 9.1i.3.2b"/>
(- G.k.9.i.3.%a: Time Interval between Lest Dose of Prug and Start of Reaction / Event
(number) Drug #2, Reaction #4 —>
{4~ G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #4 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-B0fF-dd8415f4f8a5" />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="6.k. 9.1.3.1b"/>
{d— G.k.9.i. 3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #5 —>
¢J-- G.%.9,1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit} Drug #2, Reaction #5 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b-83c1-34f9ddbTeabd” />
{/actReference>
{/outboundRelationshipli>
{outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k 9.1i.3.2b"/>
<J— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #5 —>
<l=- G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #56 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="107T1064c-cf10-4a3b-83c1-34f3ddbTeabd”/>



¢/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.i.3. 1"/
¢l— G.%.9.1.3. la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drig #2, Reaction #6 —>
{I— G.k.9.1. 3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #6 -
{actReference classCode="0BS" moodCode="EVN")>
<id root="1f927283-10b6-4334-9d43-¢925640FbIBE" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l=- 6.k.9.1i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number} Drug B2, Reaction #6 —>
{l-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit} Drug #2, Reaction #6 —=>
{actReference classCode="0BS" moodCode="EVN">
{id root="1f927283-10b6-4334-9d43-e925640fb18F" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k. 9. i. 3 1b"/5
¢l== G, k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {number) Drug #2, Reaction #7 —>
¢l-- G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit} Drug #2, Reaction #7 —=>
" <actReference classCode="0BS" moodCode="EVN">
<id root="e0342969-38be-423f-b6bb-celdbe279d8e />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
¢(lu= G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(humber) Drug #2, Reaction #7 —
{I— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction H#7 ==
<actReference classCode="0BS" moodCode="EVN™>
<id root="e0342969-38be—-423-h6bb—cel4bc279d8e”/>
{/actReference>
</outboundRelaticnshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k. %.1i.3.1b"/>
<1— G.k,9.4.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #8 -—>
¢(I-~ G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #8 —>
<actReference classCode="0BS" moodCode="EVN™>
<id root="al5be092-8070-426d-af04-6863263443e0"/>
</actReference>
{/outboundRelationshipl>
CoutboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l-- 6.k 9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #8 —>
{I— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #2, Reaction #8 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="al5be052-B070-426d~af04~6863263443e0" />
</actReference>
</outhoundRelationshipl}>
<outboundRelationship2 typeCode="PERT">
{observation classCode="CB5S" moodCede="EVN™>
<code code="6" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="blinded”/>
: {value xsi:type="BL" value="true"/>
{l— G.k.2.5: Investigational Product Blinded #2 —>
{/observation>



¢/outhoundRelationship2>
{outboundRelationship2 typeCode="COMP™>
¢!== G.k.4.r : Dosage and Relevant Information {repeat as necessary) #2-1 —>
(substanceAdministration classCode="SBABM” macdCode="EVN™>
{text>G. k. 4.r. 8<{/text>
¢{I=— G.k.4.r.8: Dosage Text #2-1 —>
CeffectiveTime xsi:type="IVL_TS">
<low value="200901017/>

{I== G.k.4.r.4: Date and Time of Start of Drug #2-1 —>
<high value="200001017/>
<l— G.k. 4.r.5: Date and Time of Last Administratien #2-1 —>

</effectivelime>
{routeCode code="G. k. 4.r.10.2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k 4.r.10.2a">
¢l== G.k. 4.1.10. 2a: Route of Administration TermID Version Date / Number #2- 1 -
‘1= G.k.4.1.10. 2b: Route of Administration TermID #2-1 —>
<originalText>G. k. 4. r, 10. 1{/originalText>

¢I-- G.k.4.1.10.1: Route of Administration (free text) #2-1 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.16"/>
¢l=— G.k.4.1.1a Dose (number) #2-1 -->
{l— G.k.4.r. 1b: Dose (unit) #2—1 -
{consumable typeCode="CSH">
{instance0fKind classCode="INST">
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7{/lotNumberText>
¢l G.k.4.xr.7: Batch / Lot Number #2-1 —>
{/productYnstanceInstance>
<kindOfProduct e¢lassCode="MMAT" determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b" codeSystem="TBD~DoseForm™

codeSystemVersion="G. k. 4.r. 9. 2a™>
¢{J— G.k.4.r. 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-i —>
{l— G.k.4.1r.9.2b: Pharmaceutical Dose Form TermID #2-1 —>
<originalText>G. k. 4. 1. 9. 1<{/originalText>
<I— G.k.4.1r.9.1: Pharmaceutical Dose Form {free text) #2-1 -->
</formCode>
</kind0fProduct>
</instanceQfKind>
</consumable>

¢inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<eode code="28" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 197 codeSystemVersion="1.1"
displayName=" parentRouteDfAdmlnlstrat1on "/
<value xsi:type="CE* code="G.k.4.r.11.2b" codeSystem="%. 16, 840. 1, 113883, 3.989.2. 1.1, 14"
codeSystemVersion="G. k. 4. r. 11, 2a™>
¢l— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #2-1
- .
<|=- G.k.4.r.1l. 2b: Parent Route of Adwinistration TermID #2-1 —->
{originalText>G. k. 4. r. 1% 1<{/originalText>
{!— G.k.4.r.11.1: Parent Route of Administration (free text) #2-1 -—>
</value>
</observation>
¢/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outhoundRelaticnship? typeCode="COMP™>
{!—— G.k.4.xr: Dosage and Relevant Information (repeat as necessary) #2-2 —
{substanceAdministration classCode="SBADN" moodCode="EVN">
{text>B. k. 4. r. 8¢/text>
<!=- G.k.4.1.8: Dosage Text #2-2 —>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢{]— G.k.4.r.4: Date and Time of Start of Drug #2-2 —>
¢width value="4" unit="G.k.4.r.6b"/>
¢{}— G.k.4.xr.6a: Duration of Drug Administration (number) #2-2 —>
¢{)— G.k.4.1.6b: Duration of Drug Administration (unit} #2-2 —>
{/effectiveTime>
{routeCode code="G, k. 4.r. 10, 2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10.2a">



<!— 6.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-2 —>
¢l-= G.k.4.1.10. 2h: Route of Administration TermID #2-2 ——>
<originalText>G. k. 4. r. 10. 1{/originalText>
¢l— G.k.4.r.10.1: Route of Administration (free text) #2-2 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.r. 1"/
¢|— G.k.4.1.1a Dose (number) #2-2 -=>
<l-~ G.k.4.r. 1b: Dose {unit) #2-2 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
<productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4, r, 7</lotNumberText>
¢{!— G.k.4.1.7: Batch / Lot Number #2-2 ——>
{/productInstanceIlnstance>
<kindOfProduct classCode="MMAT" determinerCade="KIND">
{formCode code="G.k. 4.r.9.2b" codeSysten="TBD-DoseForm”
codeSystemVersion="G. k. 4.1.9.2a">
{l-— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 —>
<!=— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-2 —>
CoriginalTextG. k. 4. r. 9. 1</originalText>
{!-- G.k.4.1. 3, 1: Pharmaceutical Dose Form (free text) #2-2 —>
</formCode>
{/kind0fProduct>
{/instanceCfKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteQfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11. 2b" codeSystem="2, 16, 840, 1. 113883. 3. 989, 2. 1. 1. 14~
codeSystemVersion="G. k. 4. r. 11. 2a™>
<!— G.k.4.1.11. 2a: Parent Route of Administration TernID Version Date / Number #2-2
—>
{l-- G.k.4.r.11. 2b: Parent Route of Administration TermID #2-2 —>
{originalText>G, k. 4. r. 11, 1{/originalText>
¢]= G.k.4.r.1l 1: Parent Route of Administration (free text) #2-2 —>
</value>
</observation>
{/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship? typeCode="COMP™>
¢l-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) f2-3 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text)G. k. 4. r. 8¢/text>
{I— G.k 4.r.8: Dosage Text #2~3 —>
{effectiveTime xsi:type="IVL_TS™>
<width value="4" unit="G. k. 4.r1.6b"/>
<!— G.k 4.r.6a: Duration of Drug Administration {number) #2-3 —>
<I— G.k. 4.7.6b: Duration of Drug Administration (unit) #2-3 —>
<high value="20090101"/>
{l-- 6.k 4.r.5: Date and Time of Last Administration #2-3 —>
</effectiveTime> .
<routeCode code="G.k. 4.r. 10. 2b" codeSystem="2. 16. B40, 1, 113883, 3. 989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. 1. 10. 2a">
<!-- G.k. 4.r.10. 2a: Route of Administration TermID Version Date / Number #2-3 --»
{I-= G.k.4.r.10. 2b: Route of Administration TermID #2-3 ——> :
<originalText>G. k. 4. r. 10. 1</originalText>
{!-- G.k.4.1.10. 1: Route of Administration (free text) #2-3 —>
{/routeCode>
<dosefQuantity value="10" unit="G. k. 4.r. 16"/>
{l-= G.k.4.r. 1a Dose (nupher) #2-3 -->
<!— G.k 4. 7r.1b: Dose (unit)} #2-3 —>
{constmable typeCode="CSH">
{instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7<{/lotNunberText>
<I-- G.k.4.r.7: Batch / Lot Number #2-3 —> N
{/productInstanceInstance>

'



<kindOfProduct classCode="MMAT" determinerCode="KIND">

(FormCode code="G.k. 4.r.9.2b" codeSysten="TBD-DoseForm”
codeSystemVersion="G. k. 4,r.9.2a">
¢|-- 6.k 4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 —>
¢!— G.k. 4.r.9.2b: Pharmaceutical Dose Form TermiD #2-3 —>
CoriginalText>G. k. 4. r. 9. 1<{/original Text>
¢!— G.k.4.7.9. 1! Pharmaceutical Dose Form (free text) #2-3 —>
</fornCode>
{/kind0fProduct?>
¢/instance0fKind>
{/consumable>

¢inboundRelationship typelode="REFR™>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1, 17
displayName="parentRouteOfAdministration”/>
Cvalue xsiztype="CE” code="G.k.4.r.I1.2b" codeSystem="2, 16.840. 1. 113883. 3. 939. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a”>

¢l== G.k.4.r. 11. Za: Parent Route of Administration TermID Version Pate / Number #2-3
—>
¢!— G.k.4.x.11.2b: Parent Route of Administration TermID #2-3 —>
CoriginalText>G. k. 4. r. 11, I</originalText>
¢!— G.k.4.1.11.1: Parent Route of Administration (free text) #2-3 —>
{/value>
¢/observation>
{/inbhoundRelationship>
{/substanceAdministration>
</outboundRelationship2>
. CouthoundRelationship? typeCode="COMP™>
¢<!— G.k. 4.1: Dosage and Relevant Information {repeat as necessary} H2-4 —>
¢substanceAdninistration classCode="SBADM” moodCoda="EVN™> .
{text>G. k. 4. r. 8</text>
{I— G.k. 4.r.8: Dosage Text #2-4 —>
<effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS">
<peried value="10" unit="G.k.4.1.3"/>

¢<!— G.k.4.1.2: Number of Units in the Interval #2-4 —>
¢l== G.k.4.r.3: Definition of the Time Interval Unit #2-4 —>
</comp>

{comp xsi:type="IVL_TS" operator="A">
<low value="20090101"/>
<!— G.k.4.1.4: Date and Time of Start of Drug #2-4 ~>
</comp>
{/effectiveTime>
¢routeCode code="G. k. 4.r, 10. 2h” codeSystem="2. 16. 84¢. 1, 113883. 3. 989, 2, 1, 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a™>
<!— G.k 4.r. 10. 2a: Route of Administration TermID Version Date / Number #2-4 —>
<!— G.k.4.1.10. 2b: Route of Administration TermID #2-4 —>
<originalText>G. k. 4. r. 10. 1</originalText>
<I— G.k 4.1.10. 1: Route of Administration (free text) #2-4 —
{/routeCode>
{(doseQuantity valuwe="10" unit="G.k.4.1.1b"/>
¢l-- G.k. 4.r. la Dose (number) #2-4 —>
¢l— G.k. 4.r 1b: Dose {unit) #2-4 —>
{consumable typeCode="CSM™>
¢instance0fKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNunberText>
¢l=— G.k.4.1.7: Batch / Lot Number #2-4 —>
{/productInstancelnstance> '
<kindOfProduct classCode="MMAT" determinerCode="KIND">
¢formCode code="G.k. 4.r.9. 2b" codeSysten="TBD-DoseForm”
codeSystemVersion="G. k. 4. 1. 9. 2a">
¢!—- G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 —>
<=~ G.k 4.1.9.2b: Pharmaceutical Dose Form TermID #2-4 —>
SoriginalText>G. k. 4.x. 9. 1<{/originalText>
<1-- 6.k 4.1.9.1: Pharmaceutical Dose Form (free text) #2-4 —>
</foruCode>
</kind0fProduct>
{/instance0fKind>



{/consumable)>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
{code code="2B" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1, 19" codeSystemVersion="1.1"

displayName="parentRouteOfAdministration”/> .
<value xsi:type="CE" code="G.k.4.r.11.2b" codeSysten="2, 16, 840. 1, 113883, 3,980, 2.1, 1. 14"

codeSystemVersion="G.k. 4.x. 11. 2a™>
{!= G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-4
- i
¢{l-- G.k.4.r. 11 2b: Parent Route of Administration TermID #2-4 —>
{originalText>G. k. 4. r. 11, 1</originalText>
¢le~ G.k.4.7.11.1: Parent Route of Administration {free text) #2-4 —>
</valued
</observation>
{/inboundRelationship>
{/substanceAdministration
{/outboundRelaticnship2>
<outboundRelationship2 typeCode="COMP">
¢l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-5 —)
{substanceAdministration classCode="SBADM" moodCode="EVN™>
{text>G. k. 4. . 8</text>
{l— G.k-4.r.8: Dosage Text #2-5 —>
{effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS">
<period value="10" unit="6.k.4.r.3"/>

{l== G.k.4.r.2: Number of Units in the Interval #2-5 —>
<l— G.k.4.r.3: Definition of the Time Interval Unit #2-§ -=>
</comp>

<comp Xxsi:type="IVL_TS” operator="A">
<high value="20000101"/>
{!— G.k.4.r.5: Date and Time of Last Administration #2~§ ~~>
{/comp>
{/effectiveTime>
{routeCode code="G.k. 4. r.10.2b" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 10. 22>
C!=— G.k. 4.1.10. 2a: Route of Administration TermID Version Date / Number #2-5 —>
¢l— G.k.4.r. 10. 2b: Route of Administration TermID #2-5 -=>
{originalText>G. k. 4. r. 10. 1</original}Text>
<I-= G.k 4.1.10. 17 Route of Administration {free text) #2-5 —>
{/routeCode>
{doseQuantity value="10" unit="G.k 4.r. 1b"/>
<— G.k.4. 1. 1a Dose (number) #2-5 —>
¢!— G.k.4.1.1b: Dose {unit) #2-5 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST™>
{praductInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<!— G.k.4.r.7: Batch / Lot Number #2-5 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT® determinerCode="KIND">
] {formCode code="G. k.4.r.9.2b" codeSysten="TBD-DoseForm”
codeSystemVersion="6. k. 4.r.9.2a">
<|— G.k.4.r. 9. 2a; Pharmaceutical Dose Form TermID Version Date / Number #2-5 —>
{1— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-5 —>
{originalText>G. k. 4.r. 9. 1</originalText>
<!— G.k.4.r.9. 1 Pharmaceutical Dose Form (free text) #2-5 —>
</formCode>
</kind0fProduct>
{/instance0fKind>
{/consumable’
{inboundRelationship typeCode="REFR™>
<cbservation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2, 16, 840, 1, 113883, 3,989, 2, 1, 1, 19" codeSystemVersion="1.1"

displayName="parentRouteOfAdministration”/>
<value xsi:type="CE" code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1. 14"

codeSystenVersion="G. k. 4,1.11.2a">
{l-—— G.k.4.r.1l. 2a: Parent Route of Administration TermID Version Date / Number #2-5
{!— G, k.4.r.11.2b: Parent Route of Administration TermID #2-5 —>'



<originalText>G. k. 4. r. 11, 1</originalText>
{l— G.k.4.r.11.1: Parent Route of Administration (free text) #2-5 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="COMP*>
¢!—= G.k.4.1: Dosage and Relevant Information (repeat as necessary) #2-6 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
$text>G. k. 4. 1. 8</text?
¢{=- G.k.4.r.8: Dosage Text f2-6 —>
<effectiveTime xsi:type="SXPR_TS">
{comp Xsi:type="PIVL_TS™>
{period value="10" unit="G.k.4.r.3"/">
<J— G.k.4.r.2: Number of Units in the Interval #2-6 —>

{/comp>
{comp xsi:type="IVL_TS" aperator="A">
{width value="4" unit="G. k. 4.r.88"/">
¢l~— G.k.4.r.6a: Duration of Drug Administration (number) #2-6 —>
¢J— G.k. 4 r.6b: Duration of Drug Administration (unit) #2-6 —>
</comp>
{feffectiveTime> )
. {routeCode code="G. k. 4.r. 10.2b" codeSystem="2. 16. 840, 1,113883.3.989.2. 1.1, 14"
codeSystemVersion="G. k. 4.r. 10, 2a">
<l—— G.k 4.1.10. 2a: Route of Administration TermID Version Date / Number #2-6 —>
¢l== G.k. 4.1.10. 2b: Route of Administration TexmID #2-6 —>
<originalText>G. k. 4. r. 10, 1{/originalText> .
{l— G.k 4.r.10. 1: Route of Administration (free text) #2-6 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
¢!=—= G.k.4,r.1a Dose (number) §2-6 -->
{l== G.k.4.r.1b: Dose (unit) #2-6 —>
{consumable typeCode="CSM">
¢instanceOfKind classCode="INST">
<{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
{l— G.k.4.r.7: Batch / Lot Number #2-6 —>
</preductInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
{formCode code="G.k 4.r.9. 2b" codeSystem="TBD-DoseForm”

codeSystenVersion="G. k. 4. r. 9. 2a">
¢!I-- 6.k 4.r. 9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 —>
(I— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-6 —>
{originalText>G. k. 4. 1. 9, 1{/originalText>
¢!— 6.k 4.r.9.1: Pharmaceutical Dose Form (free text) #2-6 —>
{/formCode>
</kindOfProduct?
{/instanceOfKind>
¢/consumable>

{inboundRelationship typeCode="REFR™>
<abservation classCode="0BS” moodCode="EVN™>
<code code="28" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayiName="parentRoute0fAdministration”/>
{value xsi:type="CE" code="G.k.4.r.11.2b" codeSystem="2, 16. 840. 1. 113883. 3. 989.2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 11. 2a™> '
<I— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-6
-
<l— G.k.4.r.11. 2b: Parent Route of Administration TermID #2-6 —>
<originalText>G. k. 4. r. 11. i{/originalText>
<{!— G.k.4.r.11.1: Parent Route of Administration (free text) #2-6 —>
</value>
{/observation»
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
{l-- G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-7 ——)-



¢substanceAdministration classCode="SBADM” muodCode— EVN">
{text>G. k. 4. r. 8¢/text>
{!— G.k.4.r.8: Dosage Text ¥2-7 —>
<effectivelime xsi:type="PIVL_IS">
{period value="10" unit="G.k.4.1r.3"/>

{l— G.k.4.r.2: Number of Units in the Interval #2-7 —>
)=~ G. k. 4.r.3: Definition of the Time Interval Unit #2-7 -->
{/effectiveTime>

{routeCode code="G. k. 4. r. 10, 2b” codeSystem— 2 16.840. 1. 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="6. k. 4. r. 10, 2a™>
{l— G.k.4.7.10.2a: Route of Administration TermID Version Date / Number #2-7 —->
<|— G.k 4.1.10.2b: Route of Administration TermID #2-7 —>
CoriginalText>G. k. 4. r. 10, 1</originalText>
<l== G.k. 4.r.10.1: Route of Administration (free text) #2-7 —>
</routeCoded>
{daseQuantity value="10" unit="G. k. 4.r. 1b"/>
{l— G.k.4.r.1a Dose (humber) #2-7 ——
<I— G.k 4.1 1b: Dose (unit) #2-7 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. . 7</IotNumberText>
{l== G.k.4.r.7: Batch / Lot Number #2-7 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT™ determinerCode="KIND">

{formCode code="G. % 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1.9.2a™> ‘
{I— 6.k. 4.1, 9 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-7 —>
¢!— G.k.4.r.9. 2b: Pharmaceutical Dose Form TernID #2-7 —>
{originalText>G. k. 4.r. 9. 1{/originalText>
<|— G.k.4.r.9 1: Pharmaceutical Dase Form (free text} H2-7 -->
</formCode>
</kind0fProduct>
¢/instance0fKind>
{/consumable>

{inboundRelationship typeCode="REFR™}>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. L. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE" code="G.k. 4.r.11.2b" codeSystem— 2.16.840. 1, 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11.2a™>
¢l— G.k.4.1r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-7
—>
{!— G. k. 4.r 11.2b: Parent Route of Administration TermID #2-7 —>
<originalText>G. k. 4. r. 11, 1</originalText>
¢{l== G.k.4.1.11.1: Parent Route of Administration (free text) #2-7 ——
</value>
</ebservation>
{/inboundRelationship>
{/substanceddministration>
{/outboundRelationship2>
{outboundRelaticnship? typeCode="COMP™>
{l-- G. k. 4.r: Dosege and Relevant Information (repeat as necessary) #2-8 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
Ctext>G k. 4. r, 8</text>
¢l— G.k.4.r.8: Dosage Text #2-8 —
{effectivelime xsi:type="IVL_TS">
<lew value="20090101"/>
¢l==- G k.4.r.4: Date and Time of Start of Drug 42-8§ -->
{feffectiveTime>
<routeCode code="G.k. 4 r. 10.2b" codeSystem="2. 16, 840. 1, 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a">
<I-- G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #2-8 -
<l~= G.k 4.1.10. 2b: Route of Administration TermID #2-8 ——>
<originalText>G. k. 4. r. 10, 1</originalText>
{!-— 6.k 4.r.10.1: Route of Administration (free text} #2-8 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 16"/>
{!-— G.k.4.r.1a Dose {number) #2-8 -->



¢{l== G.k.4. 1. 1b: Dose (unit) #2-8 -->
{consumable typeCode="CSM">
<instanceOfKind classCode="INST™>
{prodictInstanceInstance c¢lassCode="MMAT" determinerCode="INSTANCE">
¢lotNumberText>G. k. 4. r. 7</lotNumberText>
¢!=— G.k. 4.1 7 Batch / Lot Number #2-8 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
{formCode code="G.k. 4. r.9.2b" codeSystem="TBD-DoseForm”

codeSystemVersion="C, k. 4.r. 8. 2a">
<I— G. k. 4. 1.9 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 —>
{i— G.¥. 4.r.9.2b: Pharmaceutical Dose Form TermID #2-8 —>
{originalText>G. k. 4.r. 9. 1{/originalText>
<l G.k. 4.r.9. 1 Pharmaceutical Dose Form (free text) #2-§ —>
{/formCode>
{/kind0fProduct>
{/instance0fKind> o
{/consumable>

<inboundRelationship typeCode="REFR"}>
{observation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2. 16. 840, 1. 113883. 3.985. 2. 1. 1. 19 codeSystemVersion="1,1"
displayName="parentRouteQfAdministration™/>
{value xsittype="CE" code=" G k.4.1r.11. 2b" codeSystem="2, 16, 840. 1, 113883. 3.989,2. 1.1, 14"
codeSystemVersion="G. k. 4.r. 11, 2a™>
{l=- G.k. 4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #2-8
-
{1~ G.k.4.r.11. 2b: Parent Route of Administration TermID #2-8 —>
CoriginalText)G. k. 4. r. 11, 1</original Text>
<!— G.k.4.1.11.1: Parent Route of Administration (free text) #2-8 —>
</value>
{/observation>
{/inboundRelationship>
</substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP*>
{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-9 —>
<substanceAdministration classCode="SBADM" moodCode="EVN">
Ctext?G. k. 4. . 8¢/texty
<I— G.k 4.1.8: Dosage Text #2-9¢ —>
{effectiveTime xsi:type="IVL_TS">
<high value="20090101"/>
¢!— G. k. 4.r.5: Date and Time of Last Administration #2-9 —>
{/effectiveTime>
{routeCode code="G.k. 4. r.10.2b" codeSystem="2, 16. 840, 1. 113883, 3,989, 2, 1. 1, 14"
‘codeSystenVersion="C. k. 4. r. 10, 2a*>
¢l—— G.k.4.1.10. 2a: Route of Adm1n15trat1on TermID Version Date / Number #2-9 —>
{1— G.k.4.1.10.2b: Route of Administration TermID #2-9 -->
{originalText>G. k. 4, r. 10. 1{/original Text>
{l— G.k.4.1.10.1: Route of Administration (free text) #2-9 —>
</routeCode> '
{doseQuantity value="10" unit="G.k.4.1.1b"/>
{l— G.k.4.r.1a Dose (number) #2-9 —>
{!— G.k.4.r.1b: Dose {unit) #2-§ -->
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{!— G.k.4.x.7: Batch / Lot Number #2-9 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT™ determinerCode="KIND™>

{fornCode code="G. k. 4.r.9.2b" codeSysten="TBD-DoseForm”
codeSystemVersion="G. k 4.1.9, 2a™>

¢I— G.k.4.1r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-9 —>
¢I-= G.k.4.r. 9 2b: Pharmaceutical Dose Form TernID #2-9 -->
{originalText>G. k. 4.r. 9. 1{/originalText>
¢!=— G.k.4.r. 9. 1: Pharmaceutical Dose Form (free text) #2-9 —>

{/fornCode>

</kind0fProduct>

{/instance0fKind>



{/conisumable>
<{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1, 113883, 3,988.2. 1. 1. 19" codeSystemVerslon— 1.17
displayName="parentRoute0fAdministration”/>
<value xsi‘type="CE” code="G.k. 4.r.I1.2b" codeSysten="2.16.840. 1, 113883, 3,989,2, 1, l 14"
codeSystemVersion="C. k. 4. . 11. 2a™>
¢!— G.k.4.r 11. 2a: Parent Route of Administration TermID Version Date / Number #2-9
—>
{!— G.k. 4.r.11. 2b: Parent Route of Administration TermID #2-9 —>
{originalText>G. k. 4. 1. 11. 1{/originalText>
<l=— G.k 4.r.11. 1: Parent Route of Administration (free text) #2-9 —>
</value?
{/observaticn> -
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
¢{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-10 —>
{substanceAdministration classCode="SEADM” moodCode="EVN™>
{text>G. k. 4. r, 8¢/textd>
{l-—= G.k.4.1.8: Dosage Text #2-10 —»
CeffectiveTime xsi:type= "IVL_T8">
<width value="4" unit="G.k. 4.r.6b"/>
<!— G,k 4.r. 6a: Duration of Drug Administration (number) #2 10 —>
¢!-— G.k.4.r, 6b: Duration of Drug Administration (unit) #2-10 ——)
{/effectiveTime>
{routeCode code="G.k.4.r. 10.2b" codeSystem="2. 16, 840, 1, 113883, 3,989, 2.1,1. 14"
codeSystemVerslon— G. k. 4.r. 10. 2a™>
¢{]— G. k.4.1.10. 2a: Route of Administration TermID Yersion Date / Number H2-10 —->
¢l G.k. 4.1, 10, 2b: Route of Administration TermID #2-10 —>
CoriginalText>G. k. 4.r. 10. 1{/originalText>
<I— G.k. 4.r.10.1: Route of Administration (free text) #2-10 —>
{/routeCode>
{doseQuantity value="10" unit="G. k.4.r. 1b"/>
{!— G.k.4.r.1a Dose (number) #2-10 -->
{!-= G.k.4.1.1b: Dose {unit) #2-10 —>
<consumable typeCode="CSM">
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<{lotNumberText>G. k. 4. r. 7¢/1lotNumberText>
{!— G.k.4.r.7: Batch / Lot Number #2-10 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT™ determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G.k. 4. r. 9. 2a"> .
<I— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 —>
¢I-- G.k.4.r. 9 2b: Pharmaceutical Dose Form TermID #2-10 —>
{originalText>G. k. 4.r. 9. 1<{/originalText>
¢!=- G k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-10 —>
</formCode>
</kind0fProduct>
</instanceGfKind>
{/consumable>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2, 16,840, 1. 113883. 3. 989. 2. 1 1. 19" codeSystemVersion="1.1"
displayName="parentReute0fAdministration”™/>
<value xsi:type="CE" code="G.k.4.r.1l.2b" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1.1. 14"
codeSystemVersion="G.k.4.r.11.2a">
{I— G.k.4.r. 11. 2a: Parent Route of Administration TermID Version Date / Number #2-10
—
¢l=— G.k. 4.r.11.2b: Parent Route of Administration TermID #2-10 —>
<originalText>G. k. 4.r. 11. 1<{/originalfext>
<!-- G.k 4.7.11. 1! Parent Route of Administration (free text) §2-10 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>



{/outboundRelationship2>
{outboundRelationship2 typeCode="SUMM™>
<observation classCode="0BS" moodCode="EVN"> -
{code code="14" codeSystem="2. 16, 840. 1, 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="cumulativeDoseToReaction”/>
{value xsi:type="PQ" value="10" unit="G.k.5b"/>
¢{]— G.k.5a: Cumulative Dose to First Reaction (number) #2 -—>
¢{l— G.k.5b: Cumulative Dose to First Reaction (unit) #2 —>
{/observation>
{/outhoundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
<observation classCode="0UBS" moodCode="EVN">
{code code="16" codeSystem="2.16.840. 1. 113883. 3. 089. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="G.k.6b"/>
{l—— G, k.Ba: Gestation Period at Time of Exposure (number) #2 —>
{l— G.k.6b: Gestation Period at Time of Exposure (unit) #2 —>

{/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
{chservation classCode="0BS" mocdCode="EVN">
{code code="31" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recurrance0fReaction”/> .
’ {value xsi:type="CE" code="G.k.9.i.4" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1, 18"
codeSystemVersion="1,0"/>
¢!— G.k.9.1i.4: Did Reaction Recur on Re-adwinistration? Drug #2, Reaction §1 -~
{outhoundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN">
<id root="154ebB89-958b-45f2-a02f-42d4d6F4657F" />
</actReference>
</outboundRelationshipl>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
{code code="31" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1, 1. 197 codeSystemVersion="1. 1"
displayName="recurrance0OfReaction”/>
Cvalue xsi:type="CE" code="G.k. 9.i.4" codeSystem="2.16.840. 1. 113883, 3.989.2. 1.1, 16"
codeSystemVersion="1.0"/> .
¢!— G.k.9.1.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #2 —>
CouthoundRelationshipl typeCode="REFR™>
<actReference classCode="0BS" moodCode="EVN">
{id root="2baa2B8d6-c%e8-4e6c—-93e9-5b860b314220" />
{/actReference>
</outboundRelationshipl)
</observation>
</outboundRelationship2>
<outboundRelationship? typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="codedDrugInformation”/> :
{value xsi:type="CE” code="G.k. 10.r" codeSystem="2.16. 840. 1. 113883.3.989.2. 1. 1. 17"
codeSystemVersion="1, 07/>
{!— G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #2-1 -->
{/observation>
¢/outboundRelationship2>
{outboundRelationship2 typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
' {value xsi:type="CE" code="G.k. 10.1r" codeSystem="2.16. 840, 1. 113883.3.988.2.1.1. 17"
codeSystemVersion="1. 0"/>
¢{!— G.%k.10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2 —
{/observation>
{/outboundRelationship2»
<outboundRelationship2 typeCode="REFR">
<ohservation classCode="0BS™ moodCode="EVN™>
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="additionalInformation”/>



<value xsi:type="ST">G, k. 11</value’
<I=- G.}.11: Additional Information on Drug (free text) #2 —>
¢/observation>
</outboundRelationship2>
{inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN™>
{code code="1%" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="indication"/>
{value xsi:type="CE" code="G.k. 7.r.2b" codeSystem="2. 16.840. 1, 113883. 6. 163"
codeSystenVersion="G. k. 7.1, 2a">
<I— 6.k 7.r, 2a: MedDRA Version for Indication #2-1 =-=>
{l== G.k.7.r.2b: Indication (MedDRA code) #2-1 —>
{originalText>G. k. 7. r. 1</originalText>
¢!— G.%X. 7.1r.1: Indication as Reported by the Primary Source #2-1 —>
{/value>
{performer typeCode="PRF">
{assignedEntity classCode="ASSIGNED"> '
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1, 0"
displayName="sourceReporter”/> .
{/assignedEntity>
{/performer>
{/observation>
{/inboundRelationship>
{inboundRelationship typeCode="RSON">
{observation classCode="0BS" moodCode="EVN™>
{code code="19" codeSysten="2. 16. 840, 1. 113883. 3. 989, 2, 1. 1. 13" codeSystemVersion="1.1"
displayName="indication”/>
{value xsi'type="CE" code="G.k. 7.r.2b" codeSystem="2.16.840. 1. 113883. 6. 163"
codeSystemVersion="G. k. 7.r. 2a™> '
<{l— G.k.7.r. 2a: MedDRA Version for Indicatien #2-2 —>
I~ G.k.7.r.2b: Indication (MedDRA code) #2-2 —>
<originalText>G. k. 7. r. 1<{/original Text>
<l— G.k.7.r.1: Indication as Reported by the Primary Scurce #2-2 —>
{/value>
{performer typeCode="PRF">
CassignedBntity classCode="ASSIGNED™>
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystem¥ersion="1.0"
displayName="sourceReporter”/>
{/assignedEntity>
{/performer> ’
{/observation>
</inboundRelationship>
{inboundRelationship typeCode="CAUS">
<act classCode="ACT" moodCode="EVN">
{code code="G. k. 8" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 15" codeSystemVersion="1.0"/>
1— G.k.8: Action(s) Taken with Drug #2 ——>
{/act>
</inboundRelationshipy
{/substanceAdministration>
{/component>
{/organizer>
{/subject0f2>
¢subject0f2 typeCode="SB]™>
{organizer classCode="CATEGORY” moodCode="EVN™)>
<code code="1" codeSystem="2, 16. 840, 1. 113883. 3,989.5.1.3.2, 1. 11” codeSystemVersion="1.0
displayName="1BROIEE"/>
{component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{code code="7" codeSystem="2. 16. 840. 1. 113883. 3.989.5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"

displayName="fRHHEEL"/>
<value xsi:type="INT" value="1"/>
<l-- 088]J2.13.r. 1: BHEE #H —>
{/obhservation>
{/component?
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16.840. 1. 113883, 3.089.5.1. 3. 2. 1. 10" codeSystemVersion="1.0"

displayName="%}# 8" />
" <value xsiitype="ED">J2.13.r. 2{/vaiue>



<l-- 8@@J2. 13.r. 2: FHEHB #1 —>
{/observation>
{/component>
{camponent typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{code code="0" codeSystem="2. 16. 840, 1. 113883, 3.989. 5, 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="BA%4A"/>
<value xsi:type="CE” code="]2,13.r.3” codeSystem="2. 16, 840.1.113883.3.989.5.1.3.2. 1. 77
codeSystenVersion="1.0"/>
<l e@dJa. 13.r.3: BESSHE #1 -
</observation>
{/componeht>
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10" codeSystemVersion="1.0"
displayName="$3F DEHNDOHFE"/>
{value xsi:type="BL" value="true"/>

I=-gaeJz. 13.r. 4 BEFOEPOHE #1 —
{/observation>
<{/component>
{/organizer>
{/subjectQf2>
{subjectOf2 typeCode="SB]™>
{organizer classCode="CATEGORY" moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 11" codeSystemVersion="1.0"
dlsplayName-”i’“ﬁa)ﬁﬁ />
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<code code="7" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1, 0"
displayName="@ HE#"/> .
<value xsi:type="INT" value="1"/>
<|-- €88J2.13.r. 1: RHER #2 -
{foliservation>
<{/component>
{component typeCode="COMP">
{ebservation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16. 840. 1. 113883. 3.989, 5.1, 3. 2. 1, 10" codeSystemVersion="1.0"
displayName="*f& 3B />
{value xsi:type="ED">J2. 13, r. 2{/value>
<l-— @BRT2.13.x.2: FREMA #2 —
{/observation>
{/component>
{conponent typeCode="COMP">
<observation classCode="0BS" moodCode="EVN"> -
{code code="3" codeSystem="2. 16.840. 1. 113983. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1, 0"
displayName="BBZ&+0"/>
<value xsi:type="CE" code="J2.13.r.3" codeSystem="2.16.840. 1.113883,3.989.5,1.3.2.1.7"
codeSystenmVersion="1.0"/>
<I— 28872.13.r.3: MRH #2 —
</observation>
{/component>
{component typeCode="COMP™>
<pobservation classCode="0BS” moodCode="EVN">
<eode code="10" codeSystem="2, 16, 840. 1. 113883, 3.989.5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayNane="1REF DEF DHHK" />
{value xsi:type="BL" value— false”/>
<1— 88a]2.13.1. 4: WEPOEFOHE §2 —>
{/observation?
{/component>
{/organizer>
¢/subjectQf2>
{/primaryRole>
{/subjectl>
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode="EVN™>
¢code code="20" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="interventionCharacterization”/>
<value xsi:type="CE” code="G.k.1” codeSystem="2. 16. 840, 1. 113883. 3. 989.2. 1. 1. 13"
codeSystemVersion="1.0"/



<!— G.k. 1: Characterisation of Drug Role Drug #1 —->
<{subject2 typeCode="SUBJ™>
{productlseReference classCode="SBADM” moodCode="EVN™>
<id root="3cP1b4d5-e039-4aTa~9c30-67671b0ef9ed"/>
{/productUseReference>
<{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="20" codeSystem="2.16. 840. 1. 113883. 3. 989.2. 1. 1. 19" codeSystemVersion="F 1~
displayName="interventionCharacterization”/>
{value xsi:type="CE" code="G.k.1” codeSystem="2. 16.840. 1. 113883. 3. 980. 2. 1, 1. 13"
codeSystemVersion="1.0"/>
<l-- G.k.1: Characterisaticn of Drug Role Drug #2 —>
{subject2 typeCode="SUBJ">
{productlUseReference classCode="SBADM" moodCode="EVN">
{id root="68d6f5ce—3b3b—45c7-92dd-69e06730c3aq" />
{/productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP">
{causalityAssessment classCode="0BS" moodCode="EVN")> .
{code code="39" codeSystem="2. 16. 840, 1. 113883. 3.980. 2, 1. 1. 19" codeSystenVersion="1.1"
displayName="causality”/>
Cvalue xsi:type="ST™>G.k.9.1i.2.r.3</value>
¢l—- G.k.9.1.2.r.3: Result of Assessment Drug #1, Reaction H1, Assessment #1 —>
{methodCode>
{originalText>G. k. 9. i, 2. r. 2¢/originalText>
{!-- G.k.9.1. 2.r. 2! Method of Assessment Drug #1, Reaction #1, Assessment #1 —
¢/methodCode>
{author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
" <coded
SoriginalText>G. k. 9. i. 2. r. 1</original Text>
<l— 6. k.9.i.2. 1. 1: Source of Assessment Drug #1, Reaction #1, Assessment #I —>
{/code>
{/assignedEntity>
</author>
{subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0BS” moodCode="EVN™>
{id root="154¢h889-058b-45f2-a02f-42d4d6F4657F" />
{fadverseEffectReferenced
</subjectl>
{subject? typeCode="SUBJ">
{preductUseReference classCode="SBADM” moodCode="EVN">
{id root="3c91b4d5-e030-4a7a—9c30-67671b0ef9ed” />
<{/productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP*>
CcausalityAssessment classCode="0BS” moodCode="EVYN">
{code code="39" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1, 1. 19 codeSystemVersion="1.1"
displayName="causality”/>
<value xsiitype="ST">G. k. 9.1i.2 r.3</value>
<~-G.k.9.1.2.r. 3: Result of Assessment Drug #1, Reaction #2, Assessment H#1 —>
<{methodCode>
{originalText>G. k. 9. 1. 2. r. 2¢/original Text>
¢!——G.k.9,i.2.r.2: Method of Assessment Drug #1, Reaction #2, Assessment #1 —>
</methodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">

'

{code>

<originalText>G. k, 9.1, 2, r. 1<{/originalText>

<]-- 6. k. 9.1.2.1. 1 Source of Assessment Drug #1, Reaction #2, Assessment #1 —>
{/code>

{/assignedEntity>



{/author>
{subjectl typeCode="SUBJ">
<adverseEffectReference classCode="0BS" moodCode="EVN™>
¢id root="2baa28d6-cYe8~4e6c-9329-5b860b3 142207 />
{/adverseEffectReference>
{/subject1>
<subject? typeCode="SUBJ]">
{productlseReference classCode="SBADK™ moodCode="E¥N">
{id root="3c91b4d5~e039-4aTa-0c30-67671b0efIed” />
{/productUseReference>
{/subject2>
{/causalityAssessment>
</component>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>

<value xsiitype="ST">G. k. 9.1i.2.r. 3<{/value>
¢<I—G.k.9.i.2.r. 3! Result of Assessment Drug #2, Reaction #2, Assessment #1 ——>
{methodCode>
{originalText>G. k. 9. 1. 2. 1. 2{/original Text> )
<1--G.k.9.i.2.r.2: Method of Assessment Drug #2, Reaction #2, Assessment #1 —>
</methodCode>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<coded .
originalText>G. k. 9. 1. 2. r. 1{/originalText>
)=~ G.k.9.i.2.1.}: Source of Assessment Drug #2, Reaction #2, Assessment #1 —
{/ecode>
{/assignedEntity>
</author>
{subjectl typeCode="SUBJ™>
<adverseEffectReference classCode="0BS" moodCode="EVN™>
<id root="2baa286-cIe8-4e6c-93e9-5b860b3142207 />
{/adverseEffectReference>
<{/subjectl>
<suhject? typeCode="SUBJ™>
{productUseReference classCode="SBADM" moodCode="EVN">
<id root="68d6f5ce~3b3b—45c7-92dd-69e06730c3a8"/>
{/productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
<component typeCode="COMP")>
{causalityAssessment classCode="0BS" moodCode="EVN">
<code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 089, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
Cvalue xsi:type="ST">G. k. 9. i. 2. r. 3<¢/value>
¢<1--G.k. 9.i.2.r 3 Result of Assessment Drug #2, Reaction #2, Assessment #2 ——>
{methodCode>
CoriginalText>G. k. 9. i. 2. r. 2{/originalText>
-Gk 9.1.2. r.2: Method of Assessment Drug #2, Reaction #2, Assessment 2 —>
{/methodCode>
Cauthor typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
* {code>
CoriginalText>G. k. 9. 1. 2. r. 1</original Text>
¢{I-— G.k.9.1.2.r. }: Source of Assessment Drug #2, Reaction #2, Assessment #2 —>
{/code>
{/assignedEntity>
{/author>
<subjectl typeCode="SUB]™>
{adverseEffectReference classCode="0BS" moodCode="EVN">
<id root="2baa28d6-cBe8-4ebc-93¢9-5b860b3142207/>
{/adverseEffectReference>
{/subjectl>
{subject? typeCode="SUB]">
¢productUseReference classCode="SBADM" moodCode="EVN">
<id root="68d6f5ce-3b3b-45c7-92dd~59e06730c3a9” />



{/productUseReference>
</subject?>
¢{/causalityAssessment>
{/component>
{componentl typeCade="COMP">
{observationEvent c¢lassCode="0B5S" moodCode="EVN™>
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
<{value xsi:type="ED">H. 2<{/value
¢l-- H.2: Reporter’s Comments —>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16.840. 1. 113883. 3.989. 2, 1. 1. 21" codeSystemVersion="1. 0"
displayName="sourceReporter”/>
{/assignedEntity>
{/author>
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS" moodCode="EVN">
<code code="15" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 18" codeSystemVersion="1,1"
displayName="diagnosis” /> .
{value xsi:type="CE” code="H.3.r. 1b" codeSystem="2. 16, 840. 1, 113883.6. 163"
codeSystemVersion="H. 3. r. 1a"/>
<1— H.3.r. la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #1 —> ‘
¢!— H.3.r.1b: Sender's Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code) #1 —> )
<author typeCode="AUT">
CassignedEntity classCode="ASSIGNED™> .
. {code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sender”/>
{/assignedEntity>
{/author>
{/observationEvent>
{/component1>
{componentl typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
{code code="15" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="diagnosis"/>
{value xsi:type="CE” code="H. 3. r. 1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemYersion="H. 3. r. 1la”/>
¢!-- H.3.r. la: MedDRA Version for Sender's Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #2 —>
{l== H.3.r. 1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code) #2 —>
<author typeCode="AUTT>
{assignedEntity classCode="ASSIGNED™>
{code code="1" codeSystem="2. 16.840. 1, 113883. 3. 989. 2. 1. 1. 21" codeSystenVersion="1.0"
displayName="sender”/>
{/assignedEntity>
</author>
{/observationEvent>
{/componentl>
{companent]l typeCode="COMP™>
CobservationEvent classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. I. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">H. 4¢/value
¢l— H.4: Sender’s Comments —>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
<code cade="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1, 0"
displayName="sender” />
{/assignedEntity>
{/author>
¢/obhservationEvent>
{/component1>
<component] typeCode="COMP">



{observationEvent classCode="0BS" moodCode="EVN™>
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10"
RFETICHTEIALED
<value xsi:type="ED">]J2.7.2<{/value>
I @8872.7.2: RETICHTDAAL P —>
{/observationEvent>
{/component1>
{compohent] typeCode="COMP">
{observatiohEvent c¢lassCode="0BS" moodCode="EVN">
{code code="4" codeSystem="2, 16.840. 1. 113883. 3. 989.5.1.3.2.1.10
BEOCHEME"
{value xsi:type="ED">JZ 9¢/value>
I— egerz. o: WEHEDOMRBE —
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN">

codeSystemVersion="1. 0"

codeSystemVersion="1. 0"

displayName="

displayName="

{code code="5" codeSystem="2. 16. 840, 1. 113883, 3, 989.5.1,3.2.1. 107
SHORIE",
<value xsi:type="ED">]J2.10</value>
<l-- @eag2. 10: |EDIE —>
{/observationEvent>
{/componentl’
{componentl typeCode="COMP™>
<observationEvent classCode="0B5" moodCode="EVN">
<code code="6" codeSystem="2. 16, 840. 1. 113883. 3. 989, 5. 1. 3.2, 1. 107
ZOihEERHE"/>
<value xsi:type="ED">J2.11<{/value>
<|-— geaJz. 11: ZohMBEEIHE —>
{/observationEvent>
{/componentl>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">

{code code="12" codeSystem="2. 16.840. 1, 113883, 3. 989.5.1.3.2.1. 10"

HERNBEOER"
' Cvalue xsi:type="ED">J2.16</value>
(-~ 86672, 16: WENEFEOESR —
{/observationfvent>
</componentl>
{component! typeCode=" COMP >
{observationEvent classCode="0BS" moodCode="EVN">

<code code="13" codeSystem="2. 16. 840. 1, 113883, 3.989.5,1.3.2. 1. 10"

WwE1L"/>
¢value xsi:type="ED">J2. 19</value}
<l— @8ajz. 19: {#%E 1 —>
{/observationEvent>
{/compenent1>
{componentl typeCode="COMP*>
{observationBvent classCode="0BS” moodCode="EVN™>

{code code="14" codeSystem="2.16.840.1.113883.3.989.5.1:3.2.1.10"

wE2°H
<value xsi:type="ED">J2.20</value>
i—- @eajz. 20: {HE2 -->
{/observationEvent>
{/compcnentl>
<componentl typeCode="COMP">
<observat10nEvent classCode— OBS moodCode="EYN">

wE 3",
{value xsi:type="ED">]2.21</value>
<1~ §88J2.21: {HE3 —
{/cbservationEvent>
{/component1’
{componentl typeCode="COMP*>
{observationEvent classCode="0BS” moodCode="EVN™>

{code code="16" codeSystem="2. 16, 840, 1. 113883, 3-989.5.1.3. 2. 1. 10"

ARE 47 ‘
<value xsi:type="ED">]2.22<{/value>
<1-- @eeJ2. 22: {h%4 —

codeSystemVersion="1. 0"

codeSystemVersion="1. 0"

codeSystemVersion="1. 0"

codeSystemVersion="1. 0"

codeSystemVersion="1. 0"

" codeSystemYersion="1. 0"

codeSystenVersion="1.0"

displayName="

displayName="

displayName="

displayName="

displayName="

displayName="

displayName="



{/cbservationEvent>
{/component1>
{/adverseEventAssessment>
</component>
<component typeCode="COMP™>
<observationEvent classCode="0BS" moodCode="EVN">
{code code="1" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="additionalDocumentsAvailable”/>
<value xsiitype="BL" value="true"/>
{I— €. 1.6.1: Are Additional Doctments Available? —>
{/observationEvent>
</component>
{component typeCode="COMP™>
CobservationBvent classCode="0BS” moodCode="EVN™>
{code code="23" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="1localCriteriaForExpedited™/>
<value xsi:type="BL" value="true”/>
¢!— €.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? ——>
{/ohservationEvent>
<{/component>
<component typeCode="COMP">
(observationEvent classCode="0BS" moodCode="EVN">
{code code="36" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="summaryAndComment” />
{value xsi:type="ED” language="H.5.r.1b">H. 5. r. 1a$/value>
¢l— H.5.r.la: Case Summary and Reporter’s Comments Text #1 ——>
¢}== H.5.r.1b! Case Summary and Reperter’s Comments Language #1 —>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3,989.2, 1, 1. 21" codeSystemVersion="1.0"
displayName="reporter”/>
’ {/assignedEntity>
{/author>
{/observationEvent>
</component>
<component typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
{code code="36" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="summaryAndComment” />
¢value xsi:type="ED” language="H.5.r.1b™>H, 5. r, 1la{/value}
<{l— H.5.r.la: Case Summary and Reporter’s Comments Text #2 >
<!—— H.5.r.1b: Case Summary and Reporter's Comments Language #2 -->
{author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
<code code="2" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 21" codeSystemVersion="1, 0"
displayName="reporter”/>
{/assignedEntity>
{/author>
{/observationEvent>
</component>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG” moodCode="E¥N">
code code="1" codeSystem="2. 16, 840, 1, 113883, 3,989, 2. 1. 1. 22" codeSystenVersion="1.0"
displayName="initialReport”/>
{subject0f2 typeCode="SUBJ">
{controldctEvent classCode="CACT” moodCode="EVN">
Cauthor typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
{code code="C. 1. 8.2" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 3" codeSystemVersion="1.0"/>
<l— C.1.8.2: First Sender of This Case —
{/assignedEntity>
</author>
{/controlActEvent>
{/sub jectOf2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG" moodCode="EVN™>
<code nullFlavor="NA"/>



{subject0f2 typeCode="SUBI">
{controlActEvent ¢lassCode="CACT™ moodCode="EVN™>
<id extension="C.1.10.r" root="2.16.840. 1, 113883.3,989.2.1.3.2"/>
<l— C.1.10.x: Identification Number of the Report Which Is Linked to This Report (vepeat as necessary)
1 —>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
{/outboundRelationship>
¢outboundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
<code nullFliavor="NA"/>
¢subjectOf2 typeCode="SUBJ™>
<econtrolActEvent classCode="CACT" moodCode="EVN">
<id extension="C.1.10.r" root="2. 16. 840. 1. 113883. 3.989.2.1.3.2"/>
¢J— C.1.10.r: Identification Number of the Report Which Is Linked to this Report {repeat as necessary)

B2 —>

{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
¢/outboundRelationship>
<outboundRelationship typeCode="SPRT">
{priorityNumber value="17/>
¢l— C.2.1.5: Primary Source for Regulatory Purposes #1 —>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code code="2" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2, 1. 1. 22° codeSystemVersion="1.0"
displayName="sourceReport”/> :
{subject0f2 typeCode="SUB]">
{controlActEvent classCode="CACI” mocdCade="EVN™>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>

<addr>
{streethddressLine>C. 2. r. 2. 3{/streetAddressLine>
<¢l-- C.2.1.2.3: Reporter’'s Street #1 ——>

{eity>C. 2. 1. 2. 44/ city>
¢1—- C.2.r. 2.4: Reporter’s City #1 —>
<statedC. 2.r. 2, b{/state>
<I— €.2.r.2.5: Reporter’ s State or Province #i —>
<postalCode>C, 2. 1, 2, 6</postalCode>
{l=~ €. 2.1.2.6: Reporter’ s Postcode #1 —>
{/addr>
{telecom value="tel:C.2.1r.2.7°/>
{J— C.2.r.2.7: Reporter' s Telephone #1 —>
¢assignedPerson classCode="PSN" determinerCode="INSTANCE™
<name> '
<prefix>C. 2. r. 1. 1</prefix>
¢l=- €. 2.r.1.1: Reporter’s Title #1 —>
{given>C. 2. 1. 1. 2¢/given>
{l-- €. 2.r. 1.2} Reporter’s Given Name #1 —>
{givendC. 2. 1. 1. 3{/given>
¢1— €.2.r.1.3: Reporter’ s Middle Name #1 -=>
{family>C. 2. r. 1. 4</family>
<l-- €, 2.r.1.4: Reporter's Family Name #I -->
</hame>
<asQualifiedEntity classCode="QUAL"™>
{code code="C.2.1.4" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 6" codeSystemVersion="1.0"/>
¢1--C.2.r.4: Qualification #1 —>
</asQualifiedEntity>
<aslocatedEntity classCode="LOCE™>
{location classCode="COUNTRY” detexminerCode="INSTANCE">
¢code code="C.2.r.3" codeSystem="1.90.3166.1.2.2°/">
<{l— C.2.r.3: Reporter’ s Country Code #1 =->
<{/location>
{/asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<name>C. 2. r. 2. 2{/name>
¢1— C.2.1.2.2: Reporter’ s Department #1 —>
{assignedEntity classCode="ASSIGNED™>



{represented0rganization classCode="0RG” determinerCode="INSTANCE™>»
<name>C, 2. r, 2, 1</nane>
<I-— C.2.r.2. 1. Reporter's Organisation #1 —>
{/representedOrganization>
{/assignedEntity>
{/representeddrganization>
{/assignedEntity>
{/author>
{/controlActEvent>
</subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG" moodCode="E¥N">
<code code="2" codeSystem="2. 16, 840, 1. 113883. 3.989. 2. 1. 1. 22" codeSystenVersion="1. 0"
. displayName="sourceReport”/> :
{subject0f2 typeCode="SUBI">
{controlActEvent classCode="CACT” moodCode="EVN">
{author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
<addr>
{streetAddressLine>C. 2. r. 2. 3</streetAddressLine>
¢l-- (. 2.r.2.3: Reporter's Street #2 —-> -
<city>C. 2.r. 2. 4{/city>
{1--C,2,r. 2, 4: Reporter's City #2 —>
{state>C. 2.r. 2. 6¢{/stated
¢l== C.2.1.2.5: Reporter's State or Province #2 —>
{postalCode>C, 2, r, 2, 6{/postalCode>
<l— C.2.r.2.6: Reporter's Postcode #2 —>
{/addr>
<telecom value="tel:C,2.r.2.7°/>
{l——C.2.1r.2.7: Reporter's Telephone #2 —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>
<prefix>C, 2. 1. 1. 1</prefix>
{!— C.2.r.1.1: Reporter’s Title #2 -->
<given>C. 2.r. 1. 2{/given>
¢!-— C.2.r. 1.2: Reporter's Given Name #2 —>
<given>C. 2. r. 1. 3¢/given>
¢l== C.2.r.1.3: Reporter’'s Middle Name #2 —>
{family>C. 2, 1. 1. 4</Tamily>
¢!-- C.2.r.1.4: Reperter' s Family Name #2 —>
<{/name> .
<asQualifiedEntity classCode="QUAL™> -
{code code="C.2.r.4" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 6" codeSystemVersion="1.0"/>
{l== C.2.r.4: Qualification #2 —>
{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C. 2. 1. 3" codeSystem="1. 0. 3166.1.2.2"/>
<1— €. 2.x.3! Reporter’s Country Code 2 -=>

L

{/location>
</asLocatedEntity>
{/assignedPerson> :
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<name>C. 2. r. 2. 2{/name> .

¢l-- C.2.r.2.2: Reporter's Department #2 ——>
<assignedEntity classCode="ASSIGNED”>
CrepresentedOrganization classCode="0RG” determinerCode="INSTANCE™>
<name>C. 2. r. 2. 1{/name>
¢!—— C.2.r.2.1: Reporter’s Organisation 2 —>
{/representedQrganization>
<{/assignedEntity>
{/represented0rganization>
{/assignedEntity>
</author>
{/controlActEvent>
</subject0f2>
{/relatedInvestigation>



{/outboundRelationship>
<subjectOf1 typeCode="SUBJ™>
{controlActEvent classCode="CACT” moodCode="EVN™>
{author typeCode="AUT™>
{assignedBntity classCode="ASSIGNED">
Ccode code="C.3.1" codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1. 7* codeSystemVersion="1.0"/>
¢!— C.3.1: Sender Type —>
Caddr>
{streetAddressLinedC. 3. 4. 1{/streetAddressLine>
¢l-- €.3.4.1! Sender's Street Address —>
{eity>C. 3. 4, 2</city>
I~ €. 3.4. 2! Sender's City —>
{statedC. 3. 4. 3¢/state>
¢1— €.3.4.3: Sender's State or Province =-=>
<postalCede>C. 3. 4. 4¢/postalCode>
¢(l-- C.3.4.4: Sender's Postcode —>
¢/addr> L -

{telecom value="tel:C.3.4.6 75
¢1— C.3.4.6: Sender’s Telephone —>
{telecom value="fax:C, 3.4.77/>
)=~ C. 3.4, 7! Sender’s Fax ——>
<telecom value="mailto:C.3.4.8"/
¢{l— (.3.4.8: Sender’' s E-mail Address —>
¢assignedPerson c¢lassCode="PSN" determinerCode="INSTANCE™>
{name>
{prefixdC, 3. 3. 2{/prefix>
¢1— €.3.3.2: Sender's Title —»
{given>C. 3. 3. 3{/given>
¢}]— C.3.3.3: Sender's Given Name —>
{givendC. 3. 3. 4{/given>
¢I— €.3.3.4: Sender’s Middle Name —>
(family>C. 3. 3, 5</family>
¢I— (.3.3.5: Sender’s Family Name -->
{/name>
<asLocatedEntity classCode="LOCE">
{location classCode="COUNTRY" determinerCode="INSTANCE™>
<cade code="C.3.4,5" codeSystem="1.0, 3166,1.2,27/>
¢l=- C.3.4.5: Sender's Country Code —>
{/location>
{/asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<nawe>C. 3. 3. 1{/name>
¢l=- £.3.3.1: Sender’ s Department —>
<assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<name>C. 3. 2{/name>
¢I-- €.3.2: Sender’s Organisation ——>
{/representedOrganization>
{/assignedEntity>
¢/representedOrganization>
{/assignedEntity>
{/author>
¢primaryInformationRecipient typeCade="PRCP">
<assignedEntity classCode="ASSIGNED">
<assignedPerson classCede="PSN” determinerCode="INSTANCE">
{name>
{prefix>J2. 18. 2</prefix>
<1— 8@aJ2. 18.2: ZEHF FEEX
{family>J2. 18. 3¢/family>
{1-- P@RJ2.18.2: H{EEX #H —
Cgiven>J2. 18. 4¢/givend
<1— 2808J2,18.4: ZiEL & —
{/name>
<{/assignedPerson>
{representedOrganization classCode="0RG™ determinerCode="INSTANCE™>
{name>J2. 18. 1{/name>
(|-~ @a72. 18. 11 ZEHE HEE —
{/representedOrganization>



{/assignedEntity>
{/primaryInformationRecipient>
{/controlActEvent>
</subject0f1>
{subjectOfl typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>

{id assigningAuthorityName="C. 1.9, 1.r.1" extension="C.1.9.1.r.2" root="2.16.840.1. 113883.3.989.2. 1.3.3"/>
{I— C.1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #1 —>
¢l=-C.1.9.1.1. 2 Case Identlfler(s) #1 ~>
{/controlActEvent>
{/subjectOf1>

¢subject0f1 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>»

{id assigningAuthorityName="C.1.9.1.r.1" extension="C.1.9.1 r. 2" root="2. 16. 840. 1, 113683, 3.989.2.1. 3.3"/>
d— C.1.9.1.xr. 1: Source(s) of the Case Identifier (repeat as necessary) #2 —>
(!— C.1.9.1.r.2 Case Identifier(s) #2 —>
{/controlActEvent>
</subject0f1>

<subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="1" codeSystem="2. 16. B40. 1. 113883. 3. 989. 2. 1. 1. 23" codeSystenVersion="1.0"
displayName="ichReportType”/>
{value xsi:type="CE" code="C.l.3" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 2* codeSystemVersion="1.0"/>
{l— C.1.3 Type of Report —>
{/investigationCharacteristic>
</subjectOf2>
{subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="2" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 23" codeSystemVersion="1.0"
displayName="otherCaselds”/>
{value xsi:type="BL" value— true”/>
{!— €.1.9.1 Other Case Identifiers in Previous Transmissions —>
</investigationCharacteristic>
. </subject0f2>
{subjectOf2 typeCode="SUBJ">
' ¢investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0"
displayName="nullificationAmendmentCode”/>
. <value xsi:type="CE” code="C, 1.1l.1” codeSystem="2. 16,840, 1. 113883. 3. 989, 2. 1. 1. 5" codeSystemVersion="1.0"/>
<I--= C.1.11.1: Report Mullification / Amendment —>
{/investigationCharacteristic>
¢/subject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
{code code="4" codeSystem="2. 16, 840, 1. 113883, 3, 989. 2. 1. 1. 23" codeSystemVersion="1. 0"
dlsplayName— nullificationAmendmentReason”/>
<value xsi:type="CE™>
{originalText>C. 1. 11, 2{/originalText>
{l— €. 1.11.2: Reason for Nullification / Amendment ——>
{/value>
{/investigationCharacteristic>
- {/subject0f2>
<subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
eode code="1" codeSystem="2. 16. 840, 1. 113883, 3, 989. 5. 1. 3. 2. 1. 12" codeSystenVersion="1.0" displayName="2271
%%(§¢ﬁ§)7>
(value xsi:type="CE” code="J2.1a” codeSystem="2. 16,840, 1. 113683, 3.989.5.1.3.2. 1. 1"
codeSystemVersion="1.0"/>
<I-- gedjz. la: HBIES (MESHE —
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN™>
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3.989.5. 1. 3. 2. 1. 12" codeSystemVersion="1. 0" displayName="#}%5
B2eHR/,
<value xsi:type="T5" value="20130107"/>
<l— @esJ2.2.1: HALKKER
{/investigationCharacteristic>
</subject0f2>



(subject0f2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0B5" moodCode="EVN™>
{code code="3" codeSystem="2.16. 840. 1. 113883. 3.980.5.1.3. 2. 1. 12" codeSystemVersion="1.0" displayName="#i{&
BREAZETS=AX ML ) :
<value xsi:type="ED">J2.2.2¢/value>
<1— @@eg2.2.2: $ERABICEATI AV
{/investigationCharacteristic>
¢/subject0f2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN">

{code code="4" codeSystem="2. 16, 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 12" codeSystemVersion="1. 0" displayName="RB%
WEZTI0
<value xsi:type="CE” code="]J2.3" codeSystem="2.16.840.1,113883.3,989.5.1.3.2.1. 2" codeSystemVersion="1,0"/>
(l— @a8eJz, 3: ARG F 2 —
{/investigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUB]"> L o L
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2. 16. 840. 1. 113883.3.989.5.1,3. 2. 1. 12" codeSystemVersion="1,0" displayName="$%
XEIZ TS
<value xsi:type="CE” code="J2.8.1" codeSystem="2.16.840. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 6"

codeSystemVersion="1.07/>
<l-- @8djz.8. 1 |EHBATF S >
{/investigationCharacteristic>
¢/subject0f2>
<subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="6" codeSystem="2. 16. 840, 1, 113883. 3.989.5.1.3. 2.1, 12" codeSystemVersion="1.0" displayName="#+5
AR/
<value xsi:type="ED">J2.8.2<{/value>
<I-- geajz.8.2: |EXMNBAOHEA —
{/investigationCharacteristic>
</subject0f2>,
{/investigationEvent>
{/subject>
{/controldctProcess>
</PORR_INO49016UV>
¢|-— Message #1 -=>
{l—— Message #2 —>
<=~ PORR_INO4G016UV ——>
<!-— /PORR_INO49018UV —>
¢l— Message #2 —>
¢receiver typeCode="RCV™>
¢device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.4" root="2.16.840.1.113883.3.980.2.1.3.14"/>
<1-—— N.1.4: Batch Receiver Identifier -3
{/device>
{/receiver’
<sender typeCode="SND">
<device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N.1.3” root="2.16. 840. 1. 113883. 3. 989.2. 1.3. 13" />
<l— N.1.3: Batch Sender Identifier —>
{/device>
{/sender>
</MCCI_IN200100UV01>
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Itvaluel@xsitype='CE][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.21/@

codeSystem Version
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XPath

/MCCI_IN200100UV01[@ITS Version=XML,_1.0' [@xsi:schemal.ocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV/[t)/controlActProcessi@classCod
e='CACT'l[@mood Code="EVN')/subject[@typeCode="SUBJ'I[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'/component[@typeCode="COMP"[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG'I[@mo
0dCode="EVN'/subject1[@typeCode="SBJ'l[1)/primaryRolel@classCode=TNVSBJ'
l/subjectOf2{@typeCode="SBJ'l [organizer/code[@code='41[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20"1[1)/organizer[@classCode="CATEGORY'l [@mcodCode="E
VN'/componentl@typeCode="COMP'l[substanceAdministration/id] [k]/substanceA
dministration[@classCode="SBADM'[@moodCode="EVN'l/consumable[@typeCode
= CSM'1[1)/instanceOfKind[@classCode="INSTV/kindOfProducti@classCode="MM
AT[@determinerCode="KIND)/asManufacturedProductl@classCode=MANUY/su
bjectOfl@typeCode="SBJ'l[characteristicl[1)/characteristiclcode{@code='11[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10H[1][@classCode="OBS'l{@mood Cod
e='EVN']/valuel@xsi:type="CE'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.
3'l/@code

XPath
(codeSystem
Version)

/MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi'schemaLocation="urn:hl7-
org-v3 ‘
MCCI_IN200100UV01.xsd'/PORR_IN049016UVI[r)/controlActProcess[@classCod
e='CACT'][@moodCode="EVNT/subject@type Code='"SUBJ'I[1)/investigationEvent
[@classCode="TNVSTG1@moodCode="EVNYcomponent[@typeCode='COMP'] [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode='INVSTG'][@mo
odCode="EVN'}/subject1[@typeCode='SBJ'l[1]/primaryRole(@classCode='TNVSBJ'
I/subjectOf2l@type Code='SBJ'l[organizer/codel@code='4"][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.201][1/organizerf@classCode='"CATEGORY'l[@moodCode="E
VN'/component[@typeCode='COMP'| [substanceAdministration/id][kl/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumable[@typeCode
='CSM'1[1)/instanceOfKind[@classCode="TNST1/kindOfProductl@classCode="MM
AT [@determinerCode="KIND'//asManufacturedProduct[@classCode="MANU'l/su
bjectOfl@typeCode="SBJ'l[characteristicl[1]/characteristic[code[@code='11[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1] [@classCode="OBS} [@mood Cod
e="EVN']/valuel@xsi:type='CEl[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'/@codeSystemVersion

J2.5k —RAEEREDOY R EHE

15 B9 ETOPRED > b, BRHEESN—RAEEL X IEHEERAOG S, —RAE
‘ RO AZRESIEHEERLE L BERNEREERL THDZ LETT,
SR IE RS X 0 EE o — FEERIRL TRET 2 L.




CBEREIIBOT—BRAEESOESIE. 01=8—HEXL |, 2=5_"FEH
. [2S=$EETHERL| XX 03=F2HEELR) OFrLBRLERTDHZ
L. -
ARSIV TERNEESOESIT, 04=EEEEREL 2 BRLEETS
Al

RS ST ST RS IR R E RS OBAIL. (0= FRERFTERRL ) 23
#iasz ek, :

2AN

B S R

MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-
org-v3 _ |
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT']{@moodCode="EVN')/subjectl@typeCode="SUBJ'l[1}/investigationEvent
[@classCode="INVSTG1[@moodCode="EVN1/component[@typeCode='"COMP'l[adv |
erseEventAssessment][1)/adverseEventAssessmentl@classCode=TNVSTG'l [@mo
0dCode="EVN'l/subject1[@typeCode='SBJ'[1)/primaryRole[@classCode=INVSBJ'
J/subjectOf2[@typeCode="SBd'l[organizer/code[@code="4'][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.207][1)/organizer[@classCode="CATEGORY') [@mood Code="E
VN )’component[@typeCodef COMP'][substanceAdministration/id][(kl/substanceA
dministration[@classCode='"SBADM'][@mood Code="EVN'l/consumable[@typeCode
='CSM'][1}/instanceOfKind[@classCode="INST/kind OfProduct[@classCode="MM
AT [@determinerCode="KIND'I/asManufactured Product[@classCode=MANUl/su
bjectOfl@typeCode="SBJl[approvall[1}/approvali@classCode="CNTRCT'l[@mood
Code="EVN'l/pertinentInformation[@typeCode=PERT'I[1)/policy[@classCode="PO
LICY'][@moodCode="EVN'l/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4'/@code '

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi‘schemaLocation="urn:hl7-
org-v3d
MCCI_IN200100UV01.xsd'J/PORR_IN049016UVIr)/controlActProcess[@classCod
e='CACT'][@moodCode="EVN/subject[@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG[@mood Code="EVN'//component[@typeCode="COMP'] [adv
erseEventAssessment}[1)/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVN']/subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode="INVSBJ'
I/subjectOf2[@typeCode="SBJ'] [organizer/codel@code="4'l[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'1][1)/organizer[@classCode='CATEGORY'][@mood Code="E
VN'/component[@typeCode="COMP'][substanceAdministration/id][k]/substanceA
dministration{@classCode="SBADM'l[@mood Code="EVN'l/consumable[@typeCode
='CSM'I[1}instanceOfKind[@classCode="TNST')/kindOfProduct[@class Code="MM




AT'][@determinerCode="KIND'VasManufacturedProduct(@classCode="MANU'}/su
bjectOfl@type Code="SBJ'l[approvall[1)/approval[@classCode="CNTRCT'][@mood
Code="EVN)/pertinentInformation[@typeCode="PERT'][1)/policyl@classCode="PO
LICY'l[@moodCode="EVN'l/code[@codeSystem="2.16.840.1,113883.3.989.5.1.3.2.1.
4')/@codeSystemVersion

J2.6.k —BRHAERRSOAFEE

ETOWRED > b, BHEERR—RAEEL T EREERL OSSO AFRERE

HEBA
BT,
Bt R BURES L 0 o — FEZBIRLTREMTHZ L.
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A A S &R
XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.01[@xsi:schemalocation="urn:h}7-
(value) org'v3

MCCI_IN200100UV01.xsd'}/PORR_IN049016UV{rl/controlActProcess[@classCod
e='"CACT'][@moodCode="EVN'l/subjecti@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'1[@mood Code="EVN'l/component(@typeCode='"COMP'][adv
erselventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'[@mo

odCode="EVN'l/subject1[@typeCode="SBJ'|[1]/primaryRolel@classCode=TNVSBJ'
l/subjectOf2[@typeCode='SBJ'l[organizer/codel@code='41[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'T][1)/organizer[@classCode="CATEGORY 1[@mood Code="E
VN'/component[@type Code='"COMP'][substanceAdministration/id}[kl/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumable(@typeCode
='CSM1[1)/instanceOfKind[@classCode="INST'//subjectOfl@type Code="SBJ')/obse
rvationEventlcode[@code=21] [@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10'
{1} [@classCode='OBS'l[@mood Code="EVN/valuel@xsi:type="CE'][@codeSystem

='2.16.840.1.113883.3.989.5.1.3.2.1.5'@code




XPath
(null
flavor)

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'|[@xsi:schemaLocation="arn:hl7-
org-v3
MCCI_IN200100UV01.xsdl/PORR_IN049016UV[r]/controlActProcess[@classCod
e='"CACT'][@moodCode="EVN'/subjectl@typeCode="SUBJ"l[1)/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode='"COMP'{adv
ersefventAssessment][1]/adverseEventAssessment[@classCode=INVSTG'[@mo
0dCode='"EVN'¥subject1[@typeCode="SBJ'][1)/primaryRole[@classCode='INVSBJ'
l/subjectOf2[@type Code='"SBJ'llorganizer/code[@code='4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'][1)/organizer|@classCode='"CATEGORY'l[@mood Code='E
VN')/component[@typeCode='"COMPl[substanceAdministration/id][1)/substanceA
dministration[@classCode="'SBADM'l[@moodCode="EVN'l/consumable[@typeCode
='CSM'1[1}/instanceOfKind[@classCode="INST'l/subjectOf[@type Code="SBJ'l/obse
rvationEventlcode[@code="21[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
Nli@classCode="OBS[@mood Code="EVN'l/valuel@xsi:type="CEl[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5')/@nullFlavor

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'][@xsi:schemaLocation="urn:hl7-
org:v3 .
MCCI_IN200100UV01.xsd'VPORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN')/subject(@typeCode="SUBJ'I[1]/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'l/component[@typeCode='COMP'l{adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'{@mo
0dCode="EVN'/subject1[@typeCode="SBJ'|[1]/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode='SBJ'] [organizer/code[@code="4'][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20T1[1)/organizer[@classCode='"CATEGORY'] [@moodCode='E
VN'/component[@typeCode="COMP'] [substanceAdministration/id][k]/substanceA
dministrationl@classCode="SBADM)i@moodCode="EVN'l/consumablef@typeCode
=CSM'}[1)/instanceOfKind[@classCode=INST)/subjectOfl@type Code='SBJl/obse
rvationEventlcode[@code="2[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
l1}{@classCode="OBS'l[@mood Code="EVN}/valuel@xsi:type='CE1[@codeSystem

J2.7.1 5T

='2.16.840.1.113883.3.989.5.1.3.2.1.5')/@codeSystem Version
. KT ESY |
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XPath

/MCCI_IN200100UV01[@ITSVersion='XML,_1.0[@xsi:schemaLocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess@classCod
e="CACT"][@moodCode="EVN'l/subject[@typeCode="SUBJ")[1)/investigationEvent
[@classCode='INVSTG' [@moodCode="EVN')/statusCode/@code

J2.72 F%

TiBEFsa Ay b

HEHHA

RETHREOEER, KETHEOHEBETRT,

T

L

F— 5 Bl

10000AN

FE

B H AT

XPath

/MCCI_IN200100UV01 [@ITSVei-sionz'XML_l .0N[@xsi:schemaLocation='urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[xr)/controlActProcessl@classCod
e='CACT][@moodCode="EVN'l/subject@type Code="SUBJ'[1}/investigationEvent
[@classCode=TNVSTG'I[@mood Code="EVN']/component[@typeCode='"COMP'][adv
erseBventAssessment]{1}/adverseEventAssessment[@classCode="INVSTG' [@mo
0dCode="EVN'//component1[@typeCode="COMP"}[observationEventlcodel@code="
3'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.101]][1)/observationEvent[@c

lassCode='OBS'][@mood Code="EVN']/valuel@xsi:type=ED'l/textQ

J2.8.1 #E

por-2) v e

HERHA

BIVERE IR A X I IR AR P45 12 33\ T S 184t OB R E DIB-B IC e T
3, '

T

ZUTHHEEDOH [I=FENHRA ZRBTIHT L,
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1N
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XPath

/MCCI_IN200100UV01 [@ITSVersion="XML 1.07 [@xsiischemaLocationfurn:hl'T -
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV(rl/controlActProcess[@classCod
e='CACT} [@moodCode="EVN']/subjectl@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG"] [@mood Code="EVN'l/subjectOf2(@type Code="SUBJ'] [inve
stigationCharacteristic/code(@code='5"1[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.127][1)/investigationCharacteristicl@classCode="OBS'] [@mood Code="EVN'
Ivaluel@xsi:type='CEl@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6'1/@code

XPath
(codeSystem

Version)

/MCCI_IN2001000V01[@ITS Version="XML_1.0'] [@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV[x)/controlActProcess[@classCod
e='CACT'] [@moodCode="EVN'V/subject[@typeCode="SUBJ'[1]/investigationEvent




[@classCode="TNVSTG'][@mood Code="EVN/subjectOf2[@typeCode="SUBJ'l[inve
stigationCharacteristic/code[@code="5'] [@codeSystem='2..16.840.1.113883.3.9_89.5.
1.3.2.1.121)[1)finvestigationCharacteristicl@classCode="OBS'l[@mood Code="EVN'
Ivaluel@xsistype='CE@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6')/@

codeSystemVersion

J2.8.2 ﬁhﬁgﬂwﬂm

THE#EA BI{E EGIRE IR UUEEF SRS IRV T, SRS OBMRE 1T 5 HEICH
EREITHOEBEERT S,

mHEE | RL

F—rA 10000AN

FEE B A EEEL

XPath MCCI_IN200100UV01[@ITS Version="XML_1.0[@xsi:schemal.ocation="urn:hl7-
org-v3

MCCI_IN200 IOOUVO1.xsd']fPORR_IN049016UV[r]/controlActPi'odess[@classCod
e="CACT][@moodCode="EVN'l/subjectl@typeCode="SUBJ'][1}/investigationEvent
[@classCode="INVSTG'H{@moodCode="EVN'/subjectOf2[@typeCode='SUBJ'][inve
stigationCharacéteristic/code[@code="6'] [@codeSysfem='2. 16.840.1.113883.3.989.5.
1.3.2.1.12]1[1)investigationCharacteristicl@classCode='OBS'[@mood Code=EVN'
valuel@xsi:type="EDl/text(

J2.9 RBREOWEAE

EEWE | BEEREEOBAIE. T 24 £ 3 A 6 BT EAR 0306 SELFBEEEAL

RBEE MThKEAIS IR BRBESA FF 42 O—HRIEDWNT] DFIE
[ EHFE BB RFETA F7A V) KXV RENTRAENSL2TRT D,

FoM A R 2L

F—FE 10000AN

FEE =fez i

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemalocation="urn-hl7-
org-v3

MCCI_IN200100UV01.xsd'J/PORR_ IN049016UV[r]/controlActProcess[@classCod ‘
e='CACT'l[@moodCode=EVN'/subject@typeCode="SUBJ']|[1)/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'l/component[@type Code='COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'{@mo
0dCode='EVN"l/component1[@typeCode='COMP'][observationEvent[code[@code="
4'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10')][1)/observationEvent(@c
lassCode="0BS"{@moodCode="EVN'/valuel@xsi:type="ED'/text)

J2.10 S#%oOHIG
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T e L

F—4&% | 10000AN

A Sl 12

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn’h17-
orgiv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV{rl/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'I/subjectl@typeCode='"SUBJ'[1]/investigationEvent
[@classCode="INVSTG[@moodCode="EVN/component[@typeCode='"COMP'lladv
erseEventAssessment](1)/adverseEventAssessment[@classCode=TNVSTG[@mo
0dCode="EVN/component1[@typeCode="COMP'] [observationEventlcode[@code="
51[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1011[1]/observationEventl@c
lassCode="OBS'1[@moodCode='"EVN'l/value[@xsi-type="ED'l/text( |

J2.11 ¥ OB EERE

TH B #5FA FOMBE L I EEETET 5,

s ke L

T— & 10000AN

5 A ) H Bio#E

XPath /MCCI_IN200100UV01{@ITS Version=XML,_1.0'l{@xsi:schemaLocation="urnhl7-
orgvd

MCCI_IN200100UV01.xsd'[/PORR_IN049016UV[x)/controlActProcess[@classCod
e='CACT"[@moodCode="EVN'/subject{@typeCode='"SUBJ'l[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode='"COMP"[adv
erseEventAssessment][1}/adverseEventAssessment[@classCode="INVSTG'l{@mo
0dCode="EVN/component1]{@typeCode="COMP"] [observationEventlcode[@code="
6] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1011{1)/observationEvent[@c
lassCode="OBS'T[@moodCode="EVN/valuel@xsi:type="ED'I/text0

J2.12 BREARE
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'1[@xsi:schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_ IN0490IGUV[r]/controlActProcess[@classCod
e="CACT'][@moodCode="EVN'l/subjectl@type Code="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN"l/component[@typeCode='COMP] [adv
erseEventAssessment][1]//adverseEventAssessment[@classCode=INVSTG'] [@mo
0dCode="EVN'l/subject1[@type Code="SBJ'l[1]/primaryRole[@classCode=TNVSBJ'
lI/subjectOf2[@typeCode="SBJ'l[organizer/code[@code='4"][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'1[1]/organizer[@classCode="CATEGORY']| [@mood Code="E
VN'/component[@typeCode='"COMP'][substanceAdministration/id]/substanceAd
ministration[@classCode="SBADM'l[@mood Code="EVN'][consumable/instanceOf
Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/originalTe
xt}[1}/consumable[@type Code="CSM'I[1]/instance OfKind[@classCode="INST'}/kin
dOfProduct(@classCode="MMAT'}[@determinerCode="KIND')/asSpecialized Kind|[
@classCode='GEN'] [1]/generahzedMatenalK.md[@classCode—'MAT'] [@determiner
Code="KIND")/code/original Text/text(

BRILIC, WREHEEEOBHERLZTHTD.

BRHEREEFEDLTVWRWESIZIE, ERed3o L,

2N

BA=RAP

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn:hi7-
org'v3d

MCCI_IN200 IOOUVO1.xsd']/PORR_IN04901GUV[r]/contI-olActProcess[@classCod
e="CACT'l{@moodCode="EVN'/subjecti@typeCode="SUBJ'I[1]/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN']/component[@type Code='COMP'l{adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG[@mo
0dCode="EVN'l/subject L[@typeCode="SBJ'I[1)/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@type Code='SBJ'l [organizer/code[@code='1T[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1. 11 [x]/organizer(@classCode='"CATEGORY'l[@mood Code
='EVN'/component[@typeCode='COMP"l/observation[@classCode='"OBS' [@mocd
Code="EVN'lcode[@code="T"][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
IIvaluel@xsitype="INT'l/@value

J2.13.r.2 HBEKHE

H B
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11




OT%Eﬁ‘—J«é : ku

F—sE

1000AN

FAE

B BRCHE

XPath

/MCCI_IN2001000V01[@ITS Version=XML_1.0'][@xsi:schemaLocation="urn:hl7-
org:v3 -
MCCI_IN200100UV01.xsd'VVPORR_IN049016UVI[r)/controlActProcess[@classCod
e='CACT"1[@mood Code="EVN)/subjectl@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'][@mo
odCode="EVN/subject1[@typeCode="SBJ'[1)/primaryRole[@classCode="TNVSBJ'
VsubjectOf2[@type Code='SBJ") [organizer/codef@code='1[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.117] [r)/organizer[@classCode='"CATEGORY 'l [@mood Code
='EVNY/component(@typeCode='COMPV/observation[@classCode='0OBS'] [@mood
Code="EVN'] [code[@code="8'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
Nivaluel@xsitype="ED')/text(

J2.13.r.3 PBAsEH

HEHH

BHRHEREICEH SN TWHRABRAZTR T

LA

BRIHEB LB LR LTV AHAICE, BElEEET 5 LR TED, 2B, BR
HEBERRE L TVRWESITE, BIHKS X D iEERo— FMEEZBRR L TRET S
k.

1IN

Bl 5 B

/MCCI_IN200100UV01 [@ITS Version="XML_1.0'][@xsi:schemaLocation="urn:hl7-
org:v3 ’
MCCI_IN200100UV01.xsd/PORR_IN049016UV[r}/controlActProcess[@classCod,
e='CACT1[@mood Code="EVNI/subject[@type Code='"SUBJ'l[1]/investigationEvent
[@clagsCode="INVSTG") [@mood Code="EVN'l/component[@typeCode='"COMP"] [adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode=INVSTG'][@mo
0dCode="EVN'/subject1[@typeCode='SBJ'l[1}/primaryRole[@classCode='INVSBJ'
VsubjectOf2l@typeCode="SBJ'l[organizer/code[@code="11 [@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'[r)/organizerl@class Code='CATEGORY ' [@moodCode |
='"EVN'//component[@type Code="COMP'l/observation[@classCode="OBS'l[@mocod
Code="EVN'][code[@code='9"]{@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
Nivaluel@xsi:type='CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 7/@cod

e
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XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'[@xsi’schemaLocation="urn:h]7-
orgiv3

MCCI_IN200100UV0L.xsd']/PORR,_ IN049016UV[r]/controlActProcess[@classCod
e='CACT[@moodCode="EVN'l/subjectl@type Code='SUBJI[1]/investigationEvent
[@classCode=INVSTG' [@moodCode="EVN'l/component[@type Code="COMP'][adv
erseEventAssessment}[1]/adverseEventAssessmentl@classCode="INVSTG'][@mo
odCode="EVN'l/subject 1[@typeCode="SBJ'][1]/primaryRole[@classCode=TNVSBJ'
I/subjectOf2{@typeCode="SBJ'[organizer/codel@code="1'[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'll[r]/organizer[@classCode='"CATEGORY'l [@mood Code
=EVN')/component[@type Code=!COMP')/observation[@classCode='OBS'l[{@mood
Code="EVN'l[code[@code="9'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
liivalue[@xsitype='CE')[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.71/@cod

eSystemVersion

J2.13.r4 HIKPOEHOF K

RERHA

Ef ﬁﬁidﬂi‘ﬁﬁﬁkﬁ%iﬁ;’éqﬂ@*&ﬁﬁ%‘@’ﬁm%jﬁ‘

Tk

o— FETit72 < Boolean T é%"?ﬁhb‘%%ﬁ'&‘éirtrue 1% WiEWES X false=
) PRIRTHI &,

Boolean 10A

true=%H
false=8&

MCCL_IN200100UV01[@ITS Version="XML_1.0'l[@xsi‘schemaLocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_ IN049016UV[r]/controlActProcess[@classCod
e='"CACT'][@moodCode="EVNl/subject[@typeCode='SUBJ'l{1}/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'l/component[@typeCode='COMP'I[adv
erseEventAssessment][1]/adverseEventAssessment(@classCode="INVSTG'l[@mo

0dCode="EVN"V/subject1[@typeCode="SBJ'{1}/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode="SBJ'l[organizer/codel@code='1'][@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11][r)/organizer[@classCode="CATEGORY'l[@moodCode
='EVN'/component@typeCode='"COMP'}observation[@classCode="OBS'l[@mood

Code='EVN'l[codel@code="10"[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1

0'Tl/valuel@xsistype="BL]/@value

J2.14.1

AF0 - BRAn

=CEL;

BROGHE . YRS OREASABRRERZEN L TFH TERVLOTHIBEIT
R, T OMOBHATEESE T %, E2BHE O Ei.2.1b BIfEA /AEFSR (MedDRA
a2—F) LHEEST L. BHEREIIERE - BEME 5T 5, (FRIMEOHBERET,
ABEBHED 8. TOMOBBEEASRECHELTCOEESFR] @ (1) 221
TAHZLE,)




BT

a— FEPGERLTERTHZ &,

F— 5B

1IN

WA

L=3RAN
2=BEM

XPath

/MCCI_IN200100UV01[@ITS Version=XML,_1.0'][@xsi:schemalocation="urn:hl7-
org'v3

MCCI_IN200100UV01.xsd')/PORR_IN049016UV[r]/control ActProcess[@classCod
e='CACT][@moodCode="EVN'/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'l/component[@typeCode='COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG' [@mo

'| 0dCode="EVN'l/subject1[@typeCode="SBJ'1[1]/primaryRole[@classCode="TNVSBJ'

l/subjectOf2[@typeCode="SBJ"l[observationlidl[code[@code='29'] [@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19']]] [i//observationl@class Code="OBS' [@mood Code=
'EVN'/outboundRelationship2[@typeCode=PERT l[observation/code[@code=" 111
@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'] [1)/observation[@classCode=
'0BS'][@moodCode='EVN'l/valuel@xsi: type—'CE][@codeSystem='2 16.840.1.11388
3.3.989.5.1.3.2.1.8/@code

XPath
(codeSystem

Version)

/MCCI IN200100UV01[@ITSVersmn—'XML 1.07 [@x51 schemaLocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsd'[/PORR,_IN049016UV[r]/controlActProcess[@classCod
e='CACT'][@moodCode="EVN']/subject[@typeCode="SUBJ'][1])/investigationEvent
[@classCode="INVSTG'][@moodCode=EVN")/component[@typeCode='COMP'|[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'[@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'][1)/primaryRole[@classCode=TNVSBJ'
VsubjectOf2[@typeCode="SBd'l[observation[id}[code[@code="29'[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19']1[il/observation[@classCode='OBS1[@mood Code=
"EVN'/outboundRelationship2[@type Code=PERT'] [observation/code[@code="11'1[
@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'][1]/observation[@classCode=
'0BS'| [@moodCode='EVN']/valuel@xsi:type='CE'{@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.8'1/@codeSystem Version ‘

J2.15.r. AFE

HHE R HEBERUVHEHBEREICRBW T, SEICBOTRENERARESN TN SHE
AREETT,
RET & E=o— Kbl a— FEERUTRERHTHZ &,

MEEREDHE. REE/CBEEZEOHRENIL, AREMGFIOEZEHNT DI L,
o, HNEHEREORS, BEELITToLEERREHTDI L,
BEBHECROT, BREORMNLYBICL > TR—OHEEN RS EE, 120K
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L UTHELTELIZIA, FOBCIAREL 1 B0 ICRHL, B0 LEE
FLT, ZHEURICEDMOAREETHT 52 &,

%E. F—OEEMUETRSAEBAITE. YEAREICSWTEISRET 5, 7
DB, BIERRE D% I TYZEMBEORKEL DR T 5= L, YUHHBED
AREPERHDBAITRVELERET R L, _

B, FEOHERNERRZBHEIL. BBELTEIL,

F—a R 2A
el ISO 31661 7/ 7 7-2 DE=— K, EU )
XPath MCCI_IN200100UV01[@ITSVersion="XML_1.07[@xsi:schemaLocation="urn:hl7-

org:v3
MCCI_IN2001OOUV01.xsd']fPORR_IN049016UV[r]/controlActProce‘ss[@classCod
e='CACT][@moodCode="EVN'l/subjectl@typeCode='SUBJ'I[1)/investigationEvent
[@classCode="INVSTG' [@moodCode="EVN'lfreference[@typeCode="REFR'][docu
ment/code[@code="27[@codeSystem="2.16.840.1.113883.3.989.2.1.1.271][x]/docum
entl@classCode="DOC'1[@mood Code="EVN'l/participation[@typeCode="AUT")/assi
gnedEntity[@classCode='ASSIGNED'|/representedOrganization[@classCode='OR
@'][@determinerCode='"INSTANCE/asLocatedEntity[@classCode="LOCE"/locatio
nl@classCode="COUNTRY'l[@determiner Code=INSTANCEJ/code[@codeSystem=
'1.0.8166.1.2.2Y@code

J2.16 HENEDER

IHH A WEHERUSEHEBEREICEN T, [HEREIAEICRT 2HBEOHME (H.1))
WREH LEAEOBRAZAEBICTRT, '

RO s 2L

T—4#%E | 500AN

A E B B EeH

XPath /MCCI_IN200100UV01[@ITS Version=XML_1.0[@xsi:schemalocation="urn:hl7-
org:v3 ‘ .
MCCI_IN200100UV01.xsd')/PORR_IN049016UVI[r)/controlActProcess@classCod
e="CACT'] [@moodCode='EVN'];"subject [@typeCode="SUBJ'][1)/investigationEvent
[@classCode=TNVSTG1[@moodCode="EVN/component[@typeCode='"COMP)[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'] [@mo
odCode="EVN/component1[@typeCode='COMPl{observationEventlcode[@code="

| 12H[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'11[1)/observationEvent[@

classCode="OBS'l[@moodCode="EVN']/value [@xsi!type='ED']ltext0

J2.17r BB/ HROSE

HEA A WS EDRE., THRERE I T IFERRRR R OlERT,

FCE T 7L
1IN

7= 4




FFAE 1=BR RSB BFoT
| 2=FEERRER, B

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0[@xsi‘schemal.ocation="urn:hl7-
org:v3 ' .
MCCI_IN200100UV01.xsdl/PORR_IN049016UVIr]/controlActProcessl@classCod
e="CACT'][@mood Code="EVN'l/subjectf@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="TNVSTG'][@mood Code="EVN'l/reference[@type Code=REFR'l[docu
ment/code[@code='2][@codeSystem='2.16.840.1.113883.3.989.2.1.1.27 ]l [r]/docum
entl@classCode="DOC')[@mood Code="EVN/title/text()

J2.18.1 REFMEA _

H B @A ICSR DZA(5H DOMEAETT,

TR MSTITEE A EREL BRSBTS,

F—&% | 100AN

FrA(E =Pz 3

XPath /MCCI_IN200100UV01[@ITSVersion="XML _1.0'][(@xsi‘schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsdl/PORR_IN049016UV[rl/controlActProcess[@classCod
e="CACT'][@mood Code="EVN'l/subject[@typeCode='SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN')/subjectOf1{@typeCode="SUBJ'] [cont
rolActEvent/primaryInformationRecipient][1)/controlActEventl@classCode='CAC
T1@moodCode="EVN'l/primaryInformationRecipient[@type Code="PRCP")/assign
edEntity[@classCode='ASSIGNED/representedOrganizationl@classCode="ORG']
[@determinerCode="INSTANCE/name/text(

J2.18.2 REEWA

HH A ICSR DZIZEDHEEEZETY,

R TR BHEELLHMT D,

F—&E | 100AN

Pl & i e |

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.07}[@xsi‘schemaLocation=urnhl7-
org:v3

MCCI_IN200100UV01.xs d'1/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'/subject[@type Code="SUBJ[1)/investigationEvent
[@classCode=TNVSTG'[@moodCode="EVN'l/subjectOf1[@typeCode="SUBJ"l[cont
rolActEvent/primaryInformationRecipient][1)/controlActEvent(@classCode='CAC
T][@moodCode="EVN'V/primaryInformationRecipient[@typeCode="PRCP'l/assign
edEntity[@classCode="ASSIGNED/assignedPersonl@classCode=PSN'][@determ
inerCode="INSTANCEV/name/prefix[1}/text(

J2.18.3 Z{gEM

i6




THH A ICSR OEIEH DM ETRT,

EZHHE | BSOBEROBEEHT .

T— & Bl 100AN ‘

FrAE B B Ee#k

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0"[@xsi:schemaLlocation="urn:hi7-
’ org-vd

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[r)/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'l/subjecti@typeCode="SUBJ'|[1)/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/subjectOf1[@type Code="SUBJ'][cont
rolActEvent/primaryInformationRecipient][1)/controlActEvent[@classCode="CAC
T [@mood Code="EVN'l/primaryInformationRecipient[@typeCode=PRCP')/assign
edEntity[@classCode="ASSIGNED'l/assigned Person[@classCode="PSN'l[@determ
inerCode=INSTANCE/name/family[1]/text(

J2.18.4 ZiEEA

IR B #A ICSR DEEEDEEFRT,

THFE | EEOBRBEROLERERT S,

7—#% | 100AN

TAE BHER

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'[@xsi:schemalocation="urnhl7-
orgv3 ‘ _
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT'][@mood Code="EVN'/subject[@typeCode="SUBJ[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'/subjectOf1[@typeCode="SUBJ I[cont
rolActEvent/primaryInforma;tionRecipient][I]IcontrolActEvent[@classCode='CAC
T'][@mood Code="EVN'l/primaryInformationRecipient@type Code="PRCP'l/assign
edEntity[@classCode="ASSIGNED')/assignedPersonl[@classCode="PSN'l[@determ |
inerCode='"INSTANCE/name/given[1]/text(

J2.19 &1

TR B3R FREE

R IE 7L

F—4&% | 10000AN

HAE B B , 7

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'l[@xsi:schemaLlocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='"CACT'[@mood Code=EVN'l/subject[@type Code="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'] [@moodCode='EVN‘]/component[@typeCode='COMP'] [adv
erseEventAssessment]{1)/adverseEventAssessment{@classCode=TNVSTG'][@mo




0dCode="EVN'l/component1[@typeCode='COMP'] [observationEventfcodel@code="
13'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.101]1[1)/observationEvent[@
classCode="0BS"1[@mood Code="EVN')/value[@xsi:type="ED'V/text(

J2.20 %2

HE 3 FEEHE

FRE T A mL

T — s 10000AN

A B Hios

XPath MCCI_IN200100UV01[@ITS Version=XML_1.0"{@xsi:schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR,_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'l/subjectl@typeCode='"SUBJ"][1)/investigationEvent
[@classCode="INVSTG] [@mood Code="EVN'l/component[@typeCode="COMP'| [adv
erseEventAssessment}(1)/adverseEventAssessment[@classCode="TNVSTG'[@mo
0dCode="EVN')/component1{@typeCode="COMP'] [observationEventlcode[@code="
14H@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10Tl [1}/observationEvent[@
classCode="ORS'l[@mood Code=EVN/valuel@xsi:type=ED'/text(

J2.21 %3

HEHHA TFH=EE

FRHY T EE 2L

F—## | 10000AN

FEE Ef:ERS 12

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'}[@xsi:schemalocation="urn‘hl7-
orgv3 '

MCCI_IN200100UV01.xsd'[/PORR_IN049016UV[r)/controlActProcessl@classCod
e="CACT][@moodCode="EVN'l/subject@typeCode="SUBJ"][1}/investigationEvent
[@clagsCode=TNVSTG' [@mood Code="EVN'/component[@typeCode='COMP'] [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode='INVSTG'] [@mo
0dCode="EVN'l/component1[@typeCode='"COMP'][observationEventlcode[@code="
15[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10"]1[1)/observationEvent{@
classCode="0BS'1[@mood Code="EVN'l/valuel@xsi‘type="ED1/text(

J2.22 f##% 4

HEPHA TFHEB

i R 7L

F—4&# | 10000AN

AR ER=EG: 2

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'][@xsi:schemaLocation="urn:hl7-

org.v3
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{ MCCI_IN200100UV01.xsd'VVPORR_IN049016UV[r}/controlActProcess[@classCod
e='CACT][@mood Code='EVN'V/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component(@typeCode='COMP'][adv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode='INVSTG'][@mo
odCode='"EVN'l/component1[@typeCode="COMP'][observationEvent{code[@code="
16'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1]/observationEvent[@
classCode='OBS'[@mood Code=EVN")/value[@xsi:type="EDVtext
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